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¨‰ôb²Ý« v¹U�«uð œU−¹« v{U¹— ‘“u�¬ vK-« ·b¼ ̈ rJ¹ Ë XBOÐ ÊdI tÐ œË—Ë ÈÅt�U²Ý¬ —œ

 ôuI� d¹UÝ UÐ U¼ÅÊ¬ ◊U³ð—« Ë v{U¹— nK²3� ÈU¼Åt	uI� oOHKð ¨sOMÇÅr¼ Ë  UÞU³ð—« ¨t	QB� qŠ

d¼ Ë f� d¼ tJKÐ ̈ U¼ÅÊ«bO{U¹— jIL t� t� XÝ« È«Åt²ÝuOÄ r¼ tÐ Ë Ê«dJOÐ ”u�UOI« v{U¹— ÆXÝ«

Æœ—«œ È«ÅtŽdł tÐ “UO� Ë XÝ« Ê¬ ÈÅtMAð È«Åt�uÖ tÐ vKOB×ð ÈÅtšUý

b‡O‡A‡� Ê«u‡²‡‡� d‡‡Ö« «— U‡‡¹—œ »¬b??O??A??Ç b??¹U?Ð v?~?M?A?ð —b?I t?Ð r?¼

U?¼—u?A?� v?�U?L?ð ¨È˛u?	u?M?J?ð  ôu×ð UÐ Á«dL¼ t� v�uM� ÈÅÁbOâOÄ Ë t²LdAOÄ ÈUO�œ —œ

 UO{U¹— gI� Á“Ëd�« ÆXÝ« ”uB×� d²AOÐ ’uBšÅtÐ v~MAð s¹« b�«ÅÁœ—uš b�uOÄ r¼ tÐ vŽu�ÅtÐ

Ë d?JH²� ¨bF²B� ÊU�«uł È«dÐ ¨rKŽ s¹« UÐ v¹UMý¬ Ë XÝ« Ábý t²Ld¹cÄ Èd�« U¼ÅÊUB�« ‘“u�¬ —œ

 U?O?{U?¹— UÐ ÊUÖb�dOÖ«dL t� v²B¹UÐ ¨‚uL ·«b¼« tÐ ÊbOÝ— È«dÐ ÆXÝ«  —Ëd{ p¹ U� ÈU�«uð

r?E?� œU?−?¹« ¨‰ôb²Ý« ÈÅÁuI X¹uIð Vłu� ¨g¹U¼œdÐ—U� dÐ ÁËöŽ t� v�UB�« ‘öð p¹ Ê«uMŽÅtÐ

Y?ŽU?Ð v{U¹— tÐ výd~� sOMÇ Æb�uý UMý¬ ¨œuýÅv� U¼ÅÊ¬ —œ vÝUMýÅv¹U³¹“ ÕË— ÊbO�œ Ë ÈdJL

v?F?I«Ë v?Öb?�“ —œ  ö?JA� UÐ U¼ÅÊ¬ d²NÐ œ—ušdÐ Ë Ê«“u�¬Åg�«œ —œ t	QB� qŠ v¹U�«uð ÊœdÐ ôUÐ

ÆœuýÅv�

U?Ð ªb?M²B¼ v{U¹— ÈdOÖœU¹ È«dÐ Â“ô v¹U�«uð È«—«œ v�UB�« ÂuKŽ ÈÅt²ý— Ê«“u�¬Åg�«œ

B?Š t?O?ŠË— s?²?Ld?Ö dE� —œ UÐ b¹UÐ ÊU�¬ tÐ Ábý tz«—« v{U¹— Ÿu� ‰UŠ s¹«Òš ¨b?M�dM¼ ¨”Uö
 

Ë  ‚

Ë vÖœUÝ sOŽ —œ t� vðUO{U¹— tÐ v�UB�« ÂuKŽ ÈU¼Åt²ý— ÆbýUÐ U¼ÅÊ¬ vKOB×ð ÈU¼“UO� UÐ VÝUM²�

U?Ð e?¹e?Ž Ê«“u?�¬Åg?�«œ œË—Åv?� —U?E²�« Æb�bM�“UO� XÝ« XL«dþ Ë XIœ Ë ÂUJ×²Ý« È«—«œ ¨v�«Ë—

—ËUÐ «— œuš Ë bM¼œ dOOGð eO� «— tF�Uł vIKð “dÞ bM�«u²Ð ¨bMM�Åv� «bOÄ v{U¹— tÐ X³B� t� výd~�

“«  UO{U¹— t�ÅÊUMÇÅr¼ Ë bMD³ðd� r¼ tÐ —«ËdO−�“ ¨ÂuKŽ ÈÅtL¼ ¨“Ëd�« ÈUO�œ —œ t� bM�«bÐ Ë bMM�

Êœ—Ë¬ÅÈË— “« d¹eÖU� ̈ œuš Èö²Ž« È«dÐ eO� vÐœ« Ë v�UB�« ÂuKŽ ̈ œdOÖÅv� ÁdNÐ  UOÐœ« Ë v�UB�« ÂuKŽ

¨X¹d¹b� Ë œUB²I« ¨tHBKL ¨vÝUMýÅtF�Uł ¨vÝUMA�«Ë— ÈU¼Åt²ý— —œ t�ÅÊUMÇ ¨bM²B¼  UO{U¹— tÐ

ÆœuýÅv� Áb¹œ v{U¹— —uCŠ Uł tL¼ ¨vJýeÄ Ë dM¼ ¨‚uIŠ

ÆXÝ« ÁœuÐ v{U¹— vFI«Ë ÈU¼œdÐ—U� ÈÅtz«—« Ë vM¹dL¬Å‚Ë– dÐ tOJð s¹d²AOÐ ¨»U²� s¹« —œ

Ò



v�U³� rOJ×ð XNł —œ ¨Áb¹œdÖ ÁœUH²Ý« t� vÝuLK� VKD� d¼ “« U¹ Ábý t²LdÖ —U� tÐ t� vKO¦Lð d¼

Ê«“u?�¬Åg?�«œ —œ X?O?Iö?š œU?−¹« YŽUÐ »U²� V	UD� t� XÝ« ÁœuÐ Ê¬ ·b¼ ÆXÝ« ÁœuÐ v{U¹—

sO	Ëœ XO� ‰uI tÐ °bM� Ê«“d	 «— XÝ« d¹cÄU�Å–uH� È˛œ ÊuÇ v{U¹— t� XÝ—œU� —ËUÐ s¹« Ë œœdÖ
±

¨

UCFÐ ÈU¼Å”ö� —Ë¬œU¹ t� b¹œ—ušdÐ vMO�«uI Ë U¼Å‰u�dL tÐ »U²� —œ dÖ«òÎv{U¹— ÕË—ÅvÐ Ë pAš 

Å»U?²?� “« t×H- p¹ t�ÅÊUMÇ °b¹—«c~� v{U¹— »UBŠ tÐ «— Ê¬ ¨XÝ« ULý vKOB×ð ÈÅtÐd−ð —œ

vBOK~�«  UOÐœ« ÈU¼Å”ö� —œ ÁbMM�ÅqB� ÈU¼ÅÊœd� kHŠ bM¹UýušU� ÈÅÁdÞUš XÝ« sJL� XK�U¼

�« Æb?M?� v?Ž«b?ð ULý È«dÐ «—Òp?O?Ýö?� —U?Ł¬ v?~?�«œËU?ł Ë v?¹U?³?¹“ “« t?łËÅêO¼ tÐ ¨U¼Å”ö� Ê¬ U

å°b¼U�ÅvL� dOáBJý

È«dÐ ¨v{U¹— ÈdOÖœU¹ vÝUMýÅÊ«Ë— Ë Èe¹—Åt�U�dÐ ‰u-« tÐ tłuð UÐ ¨»U²� V	UD� tONð —œ

œU−¹« v~�u~Ç tÐ U¼ÅÊ¬ Êœd� ‰U³�œ UÐ t� Ábý ÕdD� g3Ð d¼ —œ v¹U¼ÅXO	UFL ¨YŠU³� d²NÐ „—œ

“« vJ¹ s¹« ÆrOÐU¹Åv�—œ «— U¼ÅÊ¬ s¹uJð qŠ«d� Ë r¹dÐÅv� vÄ v{U¹— ÈbML�u�UI p¹ U¹ ‰u�dL p¹

cł Ë U³¹“ ÈU¼Åt³MłÒv?I?DM� vLE� Ë tDÐU{ X×ð ‰u�dL Ë Êu�UI U¹ tOCI d¼ t� XÝ« v{U¹— »«

Uð b�uý UMý¬ ‰ôb²Ý« ÈÅÁu×� UÐ Ê«“u�¬Åg�«œ t� XÝ« Ábý gýu� »U²� ÂULð —œ Æb¹¬Åv� œułËÅtÐ

bM�«u²Ð Ë b�“«œdáÐ vFI«Ë vÖb�“ —œ v	u-« ÈU¼ÅrOLBð –U3ð« tÐ Èd²AOÐ fH� tÐ œUL²Ž« UÐ ÁbM¹¬ —œ

ÆbMM� »U3²�« È—ËÅÁdNÐ s¹d²AOÐ Ë tM¹e¼ s¹d²L� ·d- UÐ «— Á«— s¹d²NÐ ̈ œËb×�  U�UJ�« tÐ tłuð UÐ

t²LU¹—œ «— Ê¬ oLŽ ¨r¹dOÖÅv� —«dI œuýÅv� d−M� t−O²� p¹ tÐ t� v¹U¼Å‘öð ÊU¹dł —œ t� v�U~M¼

s¹« Ë bý rO¼«uš qJA� —UÇœ ÈdOÖœU¹ —œ d²L� ̈ r¹Ë—Åv� gOÄ V	UD� ‰u×ð dOÝ UÐ Á«dL¼ ÊuÇ Ë

UNMð dÖ« t� v	UŠ —œ ªXÝ« ÁœuÐ dE� œ—u� »U²� s¹Ëbð —œ t� XÝ« vý“u�¬ gMOÐ ÊUL¼ “« výU�

�« b?ýÅv?� d?ðÅr?−?ŠÅr?� »U?²?� ¨r?¹œd�Åv� ÁbMBÐ vK� ÈU¼ÅÈdOÖÅt−O²� tÐÒd?ðÅq?J?A� r¼ «— ÈdOÖœU¹ U

°XšUÝÅv�

”—œ d?¼ ÈU?¼ÅX?O?	U?F?L ÂU?−�« UÐ t� rO²B¼ Ê¬ ÊU¼«uš tÇdÖ«
≤

”ö?� —œ ¨Ê«“u�¬Åg�«œ ¨

�« ¨b?M� «bOÄ “u�¬œuš ÈÅt³Mł »U²� Ë b�uý t	QB� qŠ bM¹¬dL dOÖ—œ Èu×�ÅtÐÒ»U²� U� œUI²Ž« tÐ U

vJ¹ ”—œ ”ö� —œ ÁUÖ¬ Ë bM�ÅtIöŽ ÊULKF� œułË «d¹“ ̈ œœdÖ rKF� sOA�Uł b�«uðÅvL� Ë b¹U³� eÖd¼

n?O?	Q?ð ÁËd?Ö v?¼«d?L?¼ Ë Èd?J?LÅr?¼ “« d?{U?Š »U?²� ÆXÝ« ÈdOÖœU¹ —œ dŁR� q�«uŽ s¹dðÅrN� “«

± ¨U¼u~	«Åg�«œ ∫v{U¹— ‡‡±ππ¥

≤KF� “« ‡‡ÒÊ«“u�¬Åg�«œ ̈ »U²� V	UD� ÊbOLNL d²NÐ Ë U¼ÅXO	UFL ÂU−�« È«dÐ t� œuýÅv� UŽb²Ý« v�«dÖ ÊUL

ÆbM¹UL� tO-uð U¼ÅÊ¬ tÐ «— »UBŠ sOýU� “« ÁœUH²Ý« Ë bMM� UMý¬ »UBŠ sOýU� —U� “dÞ UÐ «—



n?O?	Q?ð ”U?M?ý—U� Ë v{U¹— rKF� ¨v{U¹— hB3²� ¨v{U¹— e¹—Åt�U�dÐ Ë ”UMýÅÊ«Ë— “« qJA²�

bOH� V	UD� s¹Ëbð —œ ¨ÁbŽ s¹« È«ÅtLdŠ ÈU¼Åv¹U�«uð Ë »—U−ð œË—Åv� —UE²�« Ë XÝ« t²Bł œuÝ

ÈU¼Å”ö� —œ ¨»U²� s¹« vý“u�¬ ÈU¼ÅÁb¹« “« È—UOBÐ t� XÝ« È—Ë¬œU¹ tÐ Â“ô ÆbýUÐ Ábý lI«Ë

ÆXÝ« t²ý«œ dÐ—œ ÈbOH� Z¹U²� Ë Ábý t²ý«cÖ tÐd−ð p×� tÐ ”—œ

t?�U?L?O?L?- ‘“u?�¬ d?�« ÊU?~²šuÝÅ‰œ ÈÅtL¼ Ë e¹eŽ Ê«“u�¬Åg�«œ ¨v�«dÖ ÊULKF� ULý “«

œu?š ÈÅÁb?�“UÝ Ë bOH� ÈU¼œUNMAOÄ “« «— U� Ë bOM� bI� «— »U²� È—Ë«œÅgOÄ ÊËbÐ r¹—«œ UŽb²Ý«

Ê«e¹eŽ ULý ÈÅtL¼ “« gOÄUAOÄ °œuý dðÅVOŽÅr� —U� ÈbFÐ ÈU¼ÅÛUÇ Ë U¼Åg¹«d¹Ë —œ Uð b¹“UÝ lKD�

bO¹UL�Åv� ÕdD� «— U¼Åv¹UÝ—U� Ë bOM�Åv� tF	UD� «— Ê¬ ̈ »U²� vHO� œu³NÐ È«dÐ XIœ Ë tK-uŠ UÐ t�

ÆrOM�Åv� È—«e~ÝUáÝ

ÊUH/R�
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åqOÄ qJý Ë v~�u~Ç —œ Êœd� ·ö²š«òåqOÄ qJý Ë v~�u~Ç —œ Êœd� ·ö²š«ò

œu???Ð p???¹—U???ð ÈÅt???�U???š —b???�« q???O??Ä

v?????�?????Ð Âœd?????� g????�b????¹œ È«d????Ð “«

œu?³?� s?J?L?� Êu?Ç ¨r?A?Ç UÐ g�b¹œ

œU??²??'Ë« Âu??Þd?š t?Ð n?+ «— v?J?¹ Ê¬

b?O?Ý— g?ýu?Ö d?Ð X?Ýœ «— v?J¹ Ê¬

œu?�?Ð g?¹U?Ä d?Ð u?Ç n?+ «— vJ¹ Ê¬

X??Ýœ œU??N??M??Ð Ë« X??A??Ä d?Ð v?J?¹ Ê¬

b?O?Ý— t?+ ÈËeł tÐ p¹ d¼ sOMÇÅr¼

n??K??²??7??� b?ý ÊU?A?²?H?Ö ¨t?+d?E?� “«

Ð v??F??L??ý d??Ö« f?+ d?¼ n?+ —œÔÈb??

fÐÅËÅX�²ÝœÅn+ ÊuÇÅr¼ fŠÅrAÇ

œu???M???¼ ‘b???�œu???Ð Áœ—Ë¬ «— t???{d??Ž

v?�?+ d?¼ b?ý v?L?¼ X?L?K?þ Ê¬ —b?�«

ÐÅv??� n??+ g??O??J?¹—U?ð Ê¬ —b?�«œu??�??

œU?N?� s?¹« XÝ« Ê«œËU� ÊuÇÅr¼ XHÖ

b???¹b???Ä b???ý Êe??O??Ð œU??Ð Êu??Ç Ëd??Ð Ê¬

œu?L?Ž Êu?Ç Âb?¹œ q?O?Ä q?J?ý X?H?Ö

XÝœÅtÐ v²7ð ÊuÇ qOÄ s¹« œuš XHÖ

b??O??M??ýÅv??� U??łÅd??¼ œd??+Åv??� Ê¬ r??N?'

n??D« s??¹« œ«œ V??I??D g??D«œ v?J?¹ Ê¬

Èb??ý ÊËd??O??Ð ÊU?A?²?H?Ö “« ·ö?²?š«

”d?²?Ýœ Ë« ÈÅt?L?¼ d?Ð «— n+ X�O�

±‡‡±ÈœuNý „—œ ‡‡

U?ð X?�?�«œ œuš È«dÐ vM�Q�Ë «ËQ� «— —Už Ë œd+ “Už¬ «— vMOA�—Už vÖb�“ ÊU��« t+ v�U�“ “«

—œ t?+ t?ÇÅÊ¬ „—œ È«d?Ð Á—«u?L?¼ Ë« ¨œu?ýÅv?� Ád?ÐU?7� UO�œ dÝ«dÝ tÐ tE×D p¹ —œ Èd³š t+ “Ëd�«

U?Ð ÈœËb?Š U?ð «— œu?š Èd?D?' —uÞÅtÐ ÊU��« ÆXÝ« t²'dÖÅv� pL+ ‘œuNý “« t²ýcÖÅv� g�u�«dOÄ

È«d?Ð Æœu?ý Ád?O?Ç U?¼ÅÊ¬ dÐ Ë bM+ Á“—U³�  öJA� UÐ Uð XÝ« t²ý«œ vFÝ Ë Áœd+Åv� @M¼UL¼ jO×�

ÁœU?H²Ý« œuš XTË rOEMð È«dÐ ÈbOý—uš XŽUÝ U¹ vMý XŽUÝ “« b�«u²Ð ÊU��« t+ÅÊ¬ “« q³T ¨‰U¦�



≤

¡UOý« ÈÅt¹UÝ v¼Uðu+ U¹ ÈbMKÐ “« ÆX'dÖÅv� ÁdNÐ ÁU� Ë “Ë— »U�Š s²ý«œÅt~� È«dÐ gÝ«uŠ “« ¨bM+

p?L?+ œu?š œu?N?ý “« U?¼U?¹—œ Ë U?¼ÅÊU?ÐU?O?Ð —œ X?N?ł h?O?7Að È«dÐ U¹ Ë œdÐÅv� ÊU�“ XOFTu�ÅÅtÐ vÄ

f?L?D X?Ý—œ Ë b?OAÇÅv� »uš U¹ ¨bOMýÅv� ÊUł ‘uÖ UÐ Ë b¹œÅv� ‰œ rAÇ UÐ t+ UłÅÅd¼ ÆX'dÖÅv�

‰ôb²Ý« Ë ◊U³M²Ý« Ë rN' È«dÐ «— Á«— ¨tL¼ s¹« Ë býÅv� ‘U' Ë« dÐ Áb¹œU� Ë t²HÖU� ÈU¼“«— ¨œd+Åv�

ÆbM+ nA+ «— XFO³Þ —«dÝ« Ë œd³Ð gM¹d'¬ “«— tÐ vÄÅ ¨o¹UIŠ „—œ UÐ b�«u²Ð Ë« Uð œd+Åv� “UÐ

—UOýu‡¼ dE‡� —œ e‡³‡Ý ÊU‡²‡š—œ ¯d‡Ð—U?Öœd?+ X?'d?F?� X?�?¹d?²?'œ g?T—Ë d?¼

qŠ Ë U¼ÅÁb¹bÄ nA+ —œ ÊU��« ÈUA~¼«— b�«uðÅv� t+ XÝ« œuNý ÊUL¼ s¹«ËÒÆœuý Z�dGÐ qzU�� 

—«dT vJ¹—Uð —œ Âœd� ÊuÇ rOLN'Åv� åqOÄÅqJý Ë v~�u~Ç —œ Êœd+ ·ö²š«ò dFý —œ XTœ UÐ

�« ¨b�œu³� qO' hO7Að tÐ —œUT ¨bM²ý«œÒt²ý«œ qO' “« dB²7� bMÇd¼ v+—œ bM²��«uð Êœd+ fLD UÐ U

¨q?�U?+ v?¼U?Ö¬ Êœ—Ë¬ X?ÝœÅt?Ð È«d?Ð ¨‰U?Š s?¹« UÐ ÆœuÐ UA~¼«— ÈœËbŠ Uð œu³� v'U+ tÇdÖ t+ bMýUÐ

ÊUL¼ d~MýË— lLý s¹« Ë r¹bM�“UO� XÝœ n+ —œ lLý vMF¹ ÈdðÅÈuT —«eÐ« tÐ t+ b¼œÅv� —«bA¼ ÈuDu�

Ær¹“«œdÄÅv� v{U¹— ‰ôb²Ý« Ÿu� bMÇ v'dF� tÐ ̈ qB' s¹« —œ ÆbýUÐ ÂUNÐ« “« vDUš b¹UÐ t+ XÝ« vDôb²Ý«

±‡‡≤vKO¦Lð ‰ôb²Ý« ‡‡
±

d�“Ë— ÈU¼—U+ d¦+« —œÒÈU?¼—U?+ U¹ vLKŽ ÈÅÁbLŽ ÈU¼ÅXOI'u� Uð v×DÝ ÈU¼ÅÈdOÖÅt−O²� “« Á

 “« ÈdM¼qO¦LðÊu?ÖU?�uÖ rO¼UH� sOÐ XNÐUA� vŽu� s²'U¹ ÊUL¼ lT«Ë —œ t+ qO¦Lð ÆrOM+Åv� ÁœUH²Ý« 

œ—«œ œułË qO¦Lð “« v¹U³¹“ ÈU¼Åt�uL� U�  UOÐœ« —œÆXÝ« ÁœUH²Ý«ÅqÐUT nK²7� ÕuDÝ ÂULð —œ ¨XÝ«

 ÊU?²?Ý«œ t?K?L?ł Ê¬ “« t?+ œœd?ÖÅv?� ÕdD� Ê¬ ÈU¼ÅX¹œËb×� vlUš X'«dþ UÐ t+v?Þu?Þ Ë ‰UIÐ—œ 

∫XÝ« ÈuMF� ÈuM¦�

v???O???Þu???Þ U???¹u???Ö e??³??Ý v??¹«u??� ‘u??š

Ê«d???Ö«œu???Ý t???L???¼ U???Ð v???²???H???Ö t???²???J??�

Èb?????Ð ‚–U?????Š ÊU?????O?????Þu?????Þ È«u????� —œ

X???7???¹d???Ð «— q??Ö s??žË— ÈU??¼Åt??A??O??ý

‘ËÅt??ł«u??š ⁄—U??' X??�??A??M??Ð ÊU?+œd?Ð

+ v?ÞuÞ XAÖ œ“ ‘dÝ dÐÓq
≤

»d{ “ 

v?????O?????Þu?????Þ «— ÈË Ë v?????DU?????I?????Ð œu????Ð

ÊU?????+œ ÊU?????³?????N????~????� Èœu????Ð ÊU????+œ —œ

Èb??????Ð o??????ÞU??????� v??????�œ¬ »U??????D?????š —œ

X??7??¹d??ÖÅv??¹u??ÝÅÊU??+œ Èu??ÝÅ“«ÅX?�?ł

‘«Åt???ł«u???š b???�U???O???Ð t???�U???š Èu??Ý “«

»d???Ç t???�U???ł Ë ÊU???+œ s???žË— d??Ä b??¹œ

±‡‡ Analogy

≤ ‡‡+Óqâ+ Ω q



≥

∫ s¹dLð ÈÅÁbMš XKŽ Ë œdÐ—U+ tÐ vKO¦Lð tÇ vÞuÞ t+ bO¼œ ̀ O{uð ̈ ÊU²Ý«œ tÐ tłuð UÐ

øœuÐ tÇ Âœd� ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

„—œ È«dÐ ÈœuNý ÈÅtMO�“ p¹ œU−¹« —œ bM�«uðÅv� b�—«œ v¹U¼ÅX¹œËb×� t+ÅÊ¬ UÐ qO¦Lð Ÿ«u�«

 ÆX'dÖ Áb¹œU� «— U¼ÅÊ¬ XOL¼« b¹U³� Ë bMýUÐ ÈdŁR� pL+ v{U¹— ÈU¼Å U³Ł« Ë rO¼UH� “« È—UO�Ðö¦�Î

X³¦� ÈœbŽ ¨vHM� œbŽ —œ vHM� œbŽ »d{ÅqlUŠ t+ XIOIŠ s¹« d²NÐ „—œ È«dÐ Ê«uðÅv� qO¦Lð “«

∫bOM+ tłuð d¹“ ÈÅt�uL� tÐ Æœd+ ÁœUH²Ý« XÝ«

® X?³?¦?� v?KLŽ «— Êe7� tÐ »¬ Êbý œ—«Ë+©® v?H?M� vKLŽ «— Ê¬ “« »¬ ÃËdš Ë −©d?E� —œ 

® X³¦� vKLŽ «— rKO' ÊœdÐ uKł ¨eO� rKO' g¹UL� —œ Ær¹dOÖÅv�+©®ÅvHM� vKLŽ «— Ê¬ ÊœdÐ VIŽ Ë −©

XÝ« Êe7� p¹ “« ÃËdš ‰UŠ —œ »¬ ̈ Ê¬ —œ t+ œuý Áœ«œ g¹UL� vLKO' dÖ« ‰UŠ Ær¹—Ë¬Åv� »U�Š tÐ

®−©® r?O?�«œdÖdÐ VIŽ tÐ «— rKO' Ë −©® œœd?ÖÅv� “UÐ Êe7� tÐ Á—UÐËœ »¬ ¨+©q?LŽ Ëœ qlUŠ vMF¹ °

ÆXÝ« Ábý Êe7� tÐ »¬ XAÖ“UÐ X³¦� qLŽ ©rKO' ÊœdÐ VIŽ Ë »¬ ÃËdš® vHM�

œd???+ ÁU???ðu???+ s???7???Ý Èb???M???Ç v??+“Ë—

m??¹—œ È« X??H??ÖÅv??� Ë b??M??+Åv?�d?Ð g?¹—

ÊU???�e???�¬ Èœu??Ð t??²??�??J??A??Ð s??� X??Ýœ

«— g?????¹Ë—œ d?????¼ œ«œÅv?????� U?????¼Åt?????¹b?????¼

—«“ Ë Ê«d??O??Š V??ý t?Ý Ë “Ë— t?Ý b?F?Ð

X??H??~??ý Êu??Öd??¼ «— ⁄d??�ÅÊ¬ œu??L?�Åv?�

X????ýc????ÖÅv???� t???M???¼d???Ð d???Ý v???I???Du???ł

ÊU????�“ —œ b????�¬ X????H????Ö —b???�« v???Þu???Þ

v????²????7???O???�¬ Êö???+ U???Ð q???+ È« t???Ç “«

g????ÝU???O???T “«
±

 
 

«— o????K???š b???�¬ Áb???M???š

d???O???~???� œu???š “« ”U??O??T «d??�U??+U??Ä —U??+

b???ý Á«d??L??Ö V??³??Ý s??¹“ r??DU??Ž t??K??L??ł

œd???????+ Á¬ X??????�«b??????� “« ‰U??????I??????Ð œd??????�

m????O????� d????¹“ b????ý r????²???L???F???� »U???²???'P???+

ÊU??Ð“ ‘u??š Ê¬ d??Ý d??Ð s??� Âœ“ Êu??Ç

«— g????¹u????š ⁄d????� o????D????� b????ÐU???O???Ð U???ð

Ð t???²???�???A???M???Ð ÊU??+œ d??Ð
Ô

—«Ëb???O???�u???� b???

X???H???~???Ð Ë« b???¹¬ —b???�U???+ b???ýU??Ð t??+ U??ð

X?A?Þ Ë ”U?Þ X?A?Ä u?Ç u?� vÐ dÝ UÐ

Êö???' v???¼ t???+ œ“ g???¹Ë—œ d???Ð @???�U??Ð

v???²???7???¹— s???žË— t??A??O??ý “« d??~??� u??ð

«— o?Dœ V?ŠU?l X?ý«b?M?Ä œu?š uÇ u+

d??O??ý Ë d??O??ý s??²??A??³??� —œ b??�U?� t?Çd?Ö

b????ý ÁU????Ö¬ o????Š ‰«b????Ð«Å“ v????�????+ r????+

±® qO¦Lð ÈUMF� ÊUL¼ tÐ å”UOTò ̈ UłÅs¹« —œ ‡‡analogy ÈUMF� tÐ t+ å”UOTò XGD UÐ Ë XÝ« Ábý ÁœdÐ —U+ tÐ ©sylogism

  U×Hl tÐ d²AOÐ  UŽöÞ« È«dÐ ÆXÝ«  ËUH²� œË—Åv� —U+ tÐ v¹uDÝ—« oDM� —œ∂∂ Ë ∂∑»œ« Ë @M¼d' Â—UNÇ ‰UÝ oDM� »U²+ 

Æœuý tFł«d�



¥

±‡‡≥v¹«dI²Ý« ‰ôb²Ý« ‡‡

È—ULF� œ—u� —œ vðUŽöÞ« È—Ë¬ÅlLł bBT tÐ ¨Ê«d¹« ÊbLð Ë @M¼d' oI×� p¹ bOM+ ÷d'

²?MÝÒU?¼Åt?�U?š ÈÅt?L?¼ n?I?Ý t?+ bM+Åv� Áb¼UA� ©U²ÝË—® t¹dT sODË« —œ ¨bM+Åv� dHÝ UłÅÊ¬ tÐ U¼Åt¹dT v

U¼—«u¹œ Ë Èb³MÖ U¼Åt�Uš nIÝ t+ bM+Åv� Áb¼UA� eO� ÈbFÐ ÈÅt¹dT —œ ÆbM²�¼ —uDT U¼—«u¹œ Ë Èb³MÖ

K+ ÈdOÖÅt−O²� È«dÐ t¹dT Ëœ ÈÅÁb¼UA� ULý dE� tÐ ÆbM²�¼ —uDTÒÈU¼U²ÝË— È—ULF� XOF{Ë œ—u� —œ v

t?�«œ« t?−?O?²?� ‰u?BŠ Uð œuš  «b¼UA� tÐ t+ býUÐ s¹« oI×� tÐ ULý tOluð b¹Uý øXÝ« v'U+ Ê«d¹«

œ« p¹ Ê«d¹« ÈU¼U²ÝË— ÈÅtL¼ œ—u� —œ b�«u²Ð b¹Uý ªb¼œÒöLŽ ÆbMJÐ vK+ ÈUŽÎË  U�UJ�« X¹œËb×� 

s?O?L?¼ t?Ð l{Ë r¼ v{U¹— qzU�� —œ ¨b�uý ÂU−�« œ—«u� ÈÅtL¼ —œ U¼u−²�ł bM¼œÅvL� Á“Uł« ÊU�“

ôuLF� «d¹“ XÝ« ‰«uM�Î∫bOM+ tłuð d¹“ ‰U¦� tÐ ÆX�O� v¼UM²� u−²�ł bM¹«d' 

 ‰U¦1±∫ UŽöÞ« È—Ë¬ÅlLł tÐ —U+ s¹« È«dÐ ̈ rOM+ lLł r¼ UÐ «— vD«u²� œd' œ«bŽ« rO¼«ušÅv� 

Ær¹“«œdÄÅv�

±Ω±

  1+ 3 = 4

  1+ 3 + 5 = 9

  1+ 3 + 5 + 7 =16

�« ÆbMýUÐ œd' U¹ ÃË“ bM�«uðÅv� vD«u²� œd' œ«bŽ« lLł qlUŠ t+ b¼œÅv� ÊUA� ôUÐ  «b¼UA�ÒU

 t?+ XÝ« s¹« ”bŠ sODË« fÄ ÆbMýUÐÅv� q�U+ lÐd� v~L¼ ôUÐ œ—u� —UNÇœd2 œ«bŽ« lLł q6UŠ

XÝ« q1U� lÐd1 v9«u²1s¾LD� œuš ”bŠ X×l tÐ X³�� rO�«uðÅv� ‚u' œ—«u� ÈÅÁb¼UA� UÐ U¹¬Æ

ULK�� ørOýUÐÎÆrO¼œÅv� t�«œ« «— u−²�ł ¨tODË« ”bŠ “« ÊUMOLÞ« ‰uBŠ È«dÐ s¹«dÐUMÐ °t� 

  1+ 3 + 5 + 7 +9 = 25

  1+ 3 + 5 + 7 +9+11= 36

 “« t?+ v?D«u?²?� œd' œ«bŽ« “« œ«bFð d¼ ŸuL−� U¹¬ vDË ¨œd+ bO¹Qð «— ”bŠ eO� t�uL� Ëœ s¹«±

øœuýÅv� q�U+ lÐd� ¨œuý ŸËdý

F2Ò XO9U±‡‡±

UÐ ̈ v¹UODU²¹« ̄ —eÐ bMLA�«œ tKODUÖÈÅÁb¼UA1 v¹U¼ÅnA+ tÐ o'u� ̈ Ê«e¹Ë¬ ÈU¼Åt�“Ë v�UÝu� —U²'— 

—œ «— t?K?O?DU?Ö t?+ v?¹U?¼Ån?A?+ “« v?J?¹ Æœd+ —«œÅ@�Ë¬ XŽUÝ Ÿ«d²š« tÐ —œUT «— Ë« X¹UN�Å—œ t+ bý



µ

 Êb¹œ ¨œ«œ È—U¹ —«œÅ@�Ë¬  XŽUÝ Ÿ«d²š«ÈÅtDÐ«— sOÐ ‰uÞ Ë Å@�Ë¬  ÊU1“ÆœuÐ ÊUÝu� 

∫b¼œÅv� ÊUA� «—  ËUH²� ÈU¼Å‰uÞ UÐÅÅÅ@�Ë¬ bMÇ ÊUÝu� ÊU�“ ¨d¹“ ‰Ëbł

‰Ëb�UÄ ‰uÞÊUÝu� ÊU1“

±bŠ«Ë ±tO�UŁ 

¥bŠ«Ë ≤tO�UŁ 

πbŠ«Ë ≥tO�UŁ 

±∂bŠ«Ë ¥tO�UŁ 

® ‰Ëbł±©

±uð UÐ ‡‡Ò@�Ë¬ ‰uÞ sOÐ È«ÅtDÐ«— Ÿu� tÇ ULý dE�ÅtÐ ¨bOMOÐÅv� ‚u' ‰Ëbł —œ t+ v¹u~D« tÐ tł

øœ—«œ œułË ÊUÝu� ÊU�“ Ë

≤ÊUÝu� ÊU�“ UÐ v~�Ë¬ ‰uÞ È«dÐ ULý ”bŠ ‡‡ ∑øX�OÇ tO�UŁ 

≥ÊUÝu� ÊU�“ UÐ v~�Ë¬  ‰uÞ È«dÐ ULý ”bŠ ‡‡ ±∞øX�OÇ tO�UŁ 

F2Ò XO9U±‡‡≤

 ‰UÝ Uð±∑∑≤OÝ gý UNMð ̈ ÈœöO� ÒÈU¼ÅtKlU' Ë œuÐ Ábý t²šUMý Á—U
±

bOý—uš “« U¼ÅÊ¬ vFT«Ë 

« ÊU¼u¹ v�ULD¬ ”UMýÅÁ—U²Ý ÆœuÐ Áb�¬ XÝœÅtÐDdÚœËUÐ  
≤

 UÐ ̈ÈÅÁb¼UA1OÝ Ê¬ ÈÅtKlU' Ò¨bOý—uš “«  «—U

łu²�Ò t? rE�Ëv?¹u~9« O?Ý ÈÅt?K?lU?' t+ œ«œ«—Åv¹U�«uðÅs¹« œËUÐ ÊU¼u¹ tÐ u~D« s¹« Æbý U¼ÅÊ¬ —œ Ò «—U

 «— b?Oý—uš “« ©t²šUMýU� “uM¼®v?MOÐÅgOÄO?Ý nA+ UÐ t+ bO�«bÐ XÝ« VDUł ÆbM+ Ò¨Èd?~¹œ ÈU¼ÅÁ—U

OÝbŠÒt
≥

 U¹O{d2 ÒÈ«Åt tÐ XšUÝ Ë« t+ g¹U1“¬°XAÖ bO¹Qð Ê¬ v²Ý—œ Ë bý t²ý«cÖ 

® ‰Ëbł≤U?²?³�� ÈÅtKlU' ¨©ÎO?Ý vFT«Ë ÒÈu?~?D« U?Ð Áb?ý vMOÐÅgOÄ ÈÅtKlU' Ë bOý—uš “« U¼ÅÁ—U

∫b¼œÅv� ÊUA� «— œËUÐ ÊU¼u¹

± bOý—uš Uð sO�“ ÈÅtKlU' ‡‡±∞ÆXÝ« Ábý t³ÝU×� Ê¬ ÈUM³� dÐ U¼ÅtKlU' vTUÐ Ë XÝ« Ábý ÷d' bŠ«Ë 

≤‡‡ Johan Elert Bode ≥‡‡ Conjectures



∂

Tœ vL+ UÐÒłu²� ¨XÒO?Ý vFT«Ë ÈU¼ÅtKlU' vJ¹œe� tÒÈu?~D« jÝuð t+ v¹U¼ÅtKlU' UÐ bOý—uš “«  «—U

Ær¹uýÅv� œuÐ Ábý vMOÐÅgOÄ œËUÐ ÊU¼u¹

±t?DœU?F?� p?¹ ÈÅtKOÝË tÐ «— Èd²A� Ë Â«dNÐ ÈÅtKlU' sOÐ ÈÅtDÐ«— Ê«uðÅv� U¹¬ ¨ULý dE� tÐ ‡‡

øœ«œ ÊUA�

≤O?Ý ÈÅt?K?lU' Ê«uðÅv� t�u~Ç ¨ULý dE� tÐ ‡‡Òøœd?+ «b?OÄ «— bOý—uš “« Ê«uO+ “« bFÐ ÈU¼ÅÁ—U

øbM+Åv� U¼ÅtKlU' s²'U¹ È«dÐ È«ÅtDœUF� Êœd+ «bOÄ —œ vJL+ tÇ œËUÐ Èu~D«

 ‰UÝ —œ±∑∏±OÝ ¨Òq?ýd¼ ÂUOK¹Ë ÈÅtKOÝË tÐ ¨”u�«—Ë« vMF¹ Ê«uO+ “« bFÐ ÈÅÁ—U
±

Æbý nA+ 

 ÈÅtKlU'±π≤uðÅqÐUT —uÞÅtÐ ̈ bOý—uš Uð ”u�«—Ë« ÈbŠ«Ë ÒÈÅtKOÝË tÐ Ábý vMOÐÅgOÄ ÈÅtKlU' UÐ vNł

ÈÅtDœUF� sOÐ ÈÅtDÐ«— t+ b�bOÝ— t−O²� s¹« tÐ ÊUÝUMýÅÁ—U²Ý ¨qODœ sOL¼ tÐ ÆœuÐ p¹œe� ‚u' ÈÅtDœUF�

lUš ÈUMF� Èd²A� Ë Â«dNÐ È«dÐ œËUÐÒÆœ—«œ v

≥Uš ÈUMF� s¹« ULý dE� tÐ ‡‡’ÒøX�OÇ 

v³¹dIð ÈU¼ÅtKlU' Êœd+ «bOÄ È«dÐ œËUÐ ÈÅtDœUF� ¨bO²'U¹—œ tÐd−ð tÐ Ë b¹œ“ ”bŠ t+Å—uÞÅÊUL¼

 —ulÅtÐ bOý—uš “«  «—UOÝ

  d = 4+ (3×2
n−2)n ≥2

ÆœuÐ

OÝÒÁ—UvFJ«Ë ÈÅtK6U2œËUÐ ÊU¼u¹ Èu~9«

dOð® ©œ—UDŽ  4  0+ 4 = 4

©bO¼U�® Ád¼“  7  3 + 4 = 7

©÷—«® sO�“  10  6+ 4 =10

©a¹d�® Â«dNÐ  15  12+ 4 =16

ø   + =

©fOłdÐ® Èd²A�  52
  

+ 4 = 52

©qŠ“® Ê«uO+  96  96+ 4 =100

ø  + =

® ‰Ëbł≤©

±‡‡ William Herschel



∑

 ‰UÝ —œ±∏∞± bOý—uš Uð Ê¬ ÈÅtKlU' t+ bý nA+ vJÇu+ ÈÅÁ—UOÝ ¨≤∏°œuÐ bŠ«Ë 

¥’Uš ÈUMF� rO�«uðÅv� U¹¬ ‡‡Ò p¹ Ê«uMŽ tÐ «— œËUÐ ÈÅtDœUF� K� ÈdOÖÅt−O²�Òvør¹d¹cáÐ 

Þ« È—Ë¬Ål?L?ł UÐ ¨œËUÐ Ë tKODUÖÒłu?²� ¨U¼ÅÊ¬ ÈÅÁb¼UA� Ë  UŽöÒ «b?¼U?A� —œ v¹u~D« Ë rE� t

 «b¼UA� Z¹U²� vMOÐÅgOÄ tÐ —œUT «— ÊUA¹« t+ bM²šUÝ v¹U¼ÅtOÝbŠ ¨rE� s¹« Êb¹œ UÐ U¼ÅÊ¬ Æb�bý œuš

ÊU?L?¼ Ë b?�œd?+ g?¹U?�“¬ «— œu?š v?M?OÐÅgOÄ ¨Èd~¹œ  «b¼UA� ÂU−�« UÐ ¨œËUÐ Ë tKODUÖ Æœd+Åv� ÈbFÐ

O?Ýb?Š t?+ œd?+ s?¾LD� «— œËUÐ Ë tKODUÖ ¨bM¹«d' s¹« Æb�œ—Ë¬ XÝœÅtÐ b�œ“Åv� ”bŠ t+ «— v−¹U²�ÒÈÅt

 p?¹ Ê«u?M?Ž t?Ð ¨b�œuÐ Áœ—Ë¬ XÝœÅtÐ t+ «— vDÐ«Ë— U¼ÅÊ¬ ÆXÝ« ÁœuÐ XÝ—œ U¼ÅÊ¬K?� ÈdOÖÅt−O²�Òv?

v?K?+ Èd?O?ÖÅt?−?O?²?� t?Ð «— v?Ðd?−?ð Âu?KŽ ÊULDUŽ vK+ —uÞ tÐ Ë œËUÐ Ë tKODUÖ t+ výË— tÐ Æb�œd+ ÂöŽ«

 b�UÝ—Åv�v¹«dI²Ý« ‰ôb²Ý«
±

ÆbM¹uÖÅv� 

v¹«dI²Ý« ‰ôb²Ý«K� ÈdOÖÅt−O²� ‘Ë— ̈Ò «b¼UA� “« ÈœËb×� ÈÅtŽuL−� ÈUM³�dÐ v

ÆXÝ«

F2Ò XO9U±‡‡≥

∫n9«

±ªbOM+ »U7²�« vLT— tÝ œbŽ p¹ ‡‡

≤ —œ «— œbŽ Ê¬ ‡‡∑ªbOM+ »d{ 

≥ —œ«— Áb�¬ XÝœÅtÐ »d{ÅqlUŠ ‡‡±±ªbOM+ »d{ 

¥® XL�T —œ Áb�¬ XÝœÅtÐ »d{ÅqlUŠ ‡‡≥ —œ «— ©±≥ÆbOM+ »d{ 

∫»

 qŠ«d�± Uð ¥ÆbO¼œ ÂU−�« d~¹œ vLT— tÝ œbŽ p¹ È«dÐ «— 

∫Û

± X?L�T —œ Áb�¬ XÝœÅtÐ ÈU¼Å»d{ÅqlUŠ sOÐ È«ÅtDÐ«— tÇ ‡‡¥ —œ œu?š vÐU7²�« œbŽ Ë ±

øbOMOÐÅv�

±‡‡ Inductive reasoning



∏

 q?Š«d�≤ ¨Å≥ Ë ¥t?Ç Æb?O?M?+ —«d?J?ð b¹«ÅÁœd+ »U7²�« t+ d~¹œ vLT— tÝ œbŽ s¹bMÇ È«dÐ «— 

œ« bO�«uðÅv� U¹¬ øb¹dOÖÅv� È«Åt−O²�ÒøXÝ« XÝ—œ vLT— tÝ œ«bŽ« ÂULð È«dÐ ULý ÈÅt−O²� t+bOM+ UŽ

∫ 

± »d{ÅqlUŠ ‡‡  7×11×13ªb¹—Ë¬ XÝœÅtÐ «— 

≤XÝœÅtÐ »d{ÅqlUŠ —œ «— œuš vÐU7²�« vLT— tÝ œ«bŽ« ̈ »U�Š sOýU� “« ÁœUH²Ý« ÊËbÐ ‡‡

ªbO¼œ ÊUA� «— œuš —U+ qŠ«d� ÆbOM+ »d{ Áb�¬

≥œ« bO�«uðÅv� U¹¬ øbO²'dÖ È«Åt−O²� tÇ ‡‡ Ò —œ «— vLT— tÝ œbŽ d¼ dÖ« t+ bOM+ UŽ∑ Ë ±± Ë ±≥

øbOÝ—Åv� tÐUA� ÈÅt−O²� tÐ ¨bOM+ »d{

±‡‡¥b×1 ‡‡Ëœv¹«dI²Ý« ‰ôb²Ý« ÈU¼ÅX¹ÅÅÅÅ

t?�ÅÊ¬ U?ð b?ýułÅv1 —bJÅÊ¬ ·dÐ ÆÆÆ b�UL� vJUÐ Ê¬ “« ÈeOÇ t�ÅÊ¬ Uð býułÅv1 —bJÅÊ¬ »¬

d?¼ ÆÆÆ b?�U?L?� v?JU?Ð Ê¬ “« Èe?O?Ç t?�ÅÊ¬ U?ð býułÅv1 —bJÅÊ¬ a¹ ÆÆÆb�UL� vJUÐ Ê¬ “« ÈeOÇ

°b�UL� vJUÐ Ê¬ “« ÈeOÇ t�ÅÊ¬ Uð býułÅv1 —bJÅÊ¬ ÈeOÇ

t+ÅÊ¬ Uð bMýułÅv� —bTÅÊ¬ a¹ Ë ·dÐ Ë »¬ t+ œd+ nA+ sOA�—Už œd� t+ÅÊ¬ “« bFÐ ¨UłÅs¹«Å—œ

œ« Ë œ«œ r?O?LFð «—  «b¼UA� s¹« ¨b�UL� vTUÐ U¼ÅÊ¬ “« ÈeOÇÒò t+ œd+ UŽÈeOÇ d¼U?ð býułÅv� —bI�¬ 

K?+ Èd?O?ÖÅt−O²� s¹« å°b�UL� vTUÐ Ê¬ “« ÈeOÇ t+ÅÊ¬Ò «b?¼U?A� “« ÈœËb×� ÈÅtŽuL−� ”UÝ«dÐ t+ v

U?Ð t?+ œ—«œ œułË ‰UL²Š« s¹« tAOL¼ «d¹“ ¨b¼œÅv� ÊUA� «— v¹«dI²Ý« ‰ôb²Ý« vÝUÝ« nF{ ¨XÝ«

Æœuý iI� Áb�¬ XÝœÅtÐ ÈÅt−O²� v²Ý—œ ¨d²AOÐ b¼«uý nA+



π

F2Ò XO9U±‡‡¥

∫bO¼œ ÂU−�« »U�Š sOýU� “« ÁœUH²Ý« ÊËbÐ Ë v�u²Ý  —ul tÐ «— d¹“  U³ÝU×�

∫n9«

± »d{ÅqlUŠ ‡‡  112×124ªb¹—Ë¬ XÝœÅtÐ «— 

≤ »d{ÅqlUŠ ‡‡  211×421ªb¹—Ë¬ XÝœÅtÐ «— 

≥ ÈU¼ÅXL�T sOÐ È«ÅtDÐ«— tÇ ‡‡± Ë ≤øœ—«œ œułË Áb�¬ XÝœÅtÐ ÈU¼Å»«uł Ë 

∫»

± »d{ÅqlUŠ ‡‡  312×221ªb¹—Ë¬ XÝœÅtÐ «— 

≤ »d{ÅqlUŠ ¨È«Åt³ÝU×� êO¼ ÊËbÐ ‡‡  213×122ªbO�eÐ ”bŠ «— 

≥ »d{ÅqlUŠ ‰UŠ ‡‡  213×122øœuÐ XÝ—œ ULý ”bŠ U¹¬ ÆbOM+ t³ÝU×� «— 

∫Û

± »d{ÅqlUŠ ôUŠ ‡‡  113×223ªbOM+ t³ÝU×� «— 

≤ »d{ÅqlUŠ ¨È«Åt³ÝU×� êO¼ ÊËbÐ ‡‡  311× 322ªbO�eÐ ”bŠ «— 

≥ »d{ÅqlUŠ ôUŠ ‡‡  311× 322øœuÐ XÝ—œ ÊU²ÝbŠ U¹¬ ÆbOM+ t³ÝU×� «— 

v¹U¼ÅX¹œËb×� UÐ Ë œ—«b� XO�uLŽ v¹«dI²Ý« ‰ôb²Ý« t+ r¹uýÅv� tłu²� XODUF' s¹« ÂU−�« UÐ

ÈU¼ÅÈdOÖÅt−O²� «d¹“ r¹—«b� Z¹U²� v²Ý—œÅtÐ vFDT ÊUMOLÞ« ̈ v¹«dI²Ý« ‰ôb²Ý« —œ ̈ lT«Ë —œ ÆXÝ« tł«u�

ÆXÝ«  «b¼UA� “« ÈœËb×� ÈÅtŽuL−� ÈUM³�dÐ U�

±ÅÅ‡‡µv{U¹— È«dI²Ý« ‡‡ÅÅÅ

 sODË« ŸuL−� U¹¬nÅ¨vD«u²� œd' œbŽ   n2
øXÝ« 

 ‰U?¦� —œ±v?Ðd?−?ð —u?ÞÅt?Ð «— ‚u?' ‰«RÝ »«uł ¨ «b¼UA� È—Ë¬ÅlLł Ë v¹«dI²Ý« bM¹«d' UÐ ¨

�« Ær¹œ«œ ÊUA�Ò¨s¹«dÐUMÐ ÆrOM+ oOI×ð «— œ—«u� ÈÅtL¼ rO²��«u²� XÝ« v¼UM²�U� ̈ œd' œ«bŽ« œ«bFð ÊuÇ U

Ær¹dOÖÅv� pL+ v{U¹— È«dI²Ý« ql« vMF¹ v{U¹— ÈuT Ë oOTœ —«eÐ« p¹ “« œuš ÈUŽœ«  U³Ł« È«dÐ

∫v?{U¹— È«dI²Ý« q�« v?F?O³Þ œbŽ ÈÅÁ—UÐ—œ vLJŠ bOM� ÷d- nd?Ö« ÆrOýUÐ t²ý«œ 

 È«d?Ð r?J?Š s¹«  n =1 d?¼ È«d?Ð Ë b?ýUÐ XÝ—œ   k ≥ 1È«d?Ð r?J?Š v?²?Ý—œ ÷d- UÐ ¨

n = k È«d?Ð rJŠ v²Ý—œ Ê«u²Ð   n = k +1œb?Ž d¼ È«dÐ rJŠ ÁUÖÅÊ¬ X-dÖ t−O²� «— 

 vFO³ÞnÆXÝ« XÝ—œ 



±∞

 sODË« ŸuL−� t+ rO¼œ ÊUA� rO¼«ušÅv�n ¨vD«u²� œd' œbŽ   n2
ÆXÝ« 

∫r¹“«œdÄÅv�  «b¼UA� È—Ë¬ÅlLł tÐ t²ýcÖ bM�UL¼

  1=1=1
2

  1+ 3 = 4 = 2
2

  1+ 3 + 5 = 9 = 3
2

1+ 3 + 5 + 7 =16 = 4
2

  1+ 3 + 5 + 7 +9 = 25 = 5
2

1+ 3 + 5 + 7 +9+11= 36 = 6
2

∫t+ rOMOÐÅv� r¹d~MÐ ôUÐ ÈU¼ÅÈËU�ð tÐ XTœ UÐ dÖ«

 ŸuL−1n Ω U¼ÅÊ¬ œ«bFð lÐd1 Ω tO9Ë« v9«u²1 œd2 œbŽ   n2

U¹

                                                      Å                                     ÅÅÅÅÅÅÅUð

®±©
    1+ 3+5+.......+2n −1

n
  

= n2

∫ U³Ł« œ—u� —œ «— ‚u' rJŠ v²Ý—œ b¹UÐ «b²Ð« ̈ v{U¹— È«dI²Ý« ql« o³Þ   n =1ÆrO¹U�“UOÐ 

® ÈÅtDÐ«— dÖ«± È«dÐ «— ©  n =1r¹—«œ r¹dO~Ð dE� —œ 

  1=1
2

 È«dÐ fÄ  n =1ÆXÝ« XÝ—œ rJŠ 

 È«“« tÐ rJŠ rOM+Åv� ÷d' ¨ÈbFÐ ÂUÖ —œn = kvMF¹ býUÐ XÝ—œ 

1+ 3 + 5+.......+2k −1= k2

 È«dÐ rJŠ rOM+ XÐUŁ b¹UÐ ôUŠ  n = k +1vMF¹ XÝ« XÝ—œ eO� 

®≤©
  1+ 3 + 5+.......+2k −1+2(k +1) −1= (k +1)2

® ÈÅtDÐ«— sO'dÞ tÐ ©«dI²Ý« rJŠÅ® dOš« ÈËU�ð  U³Ł« È«dÐ± ÈÅtKLł ̈ ©«dI²Ý« ÷d'Å® ©
  (k +1)Â«Å

 vMF¹
  2(k +1) −1rOM+Åv� t'U{« «— 

  1+ 3 + 5+.......+2k −1+2(k +1) −1= k2 +2(k +1) −1

                            
  = k2 +2k +2−1

                                
  = k2 +2k +1

                                  , 
  = (k +1)2

® vMF¹ ¡«dI²Ý« rJŠ s¹«dÐUMÐ≤ vFO³Þ œbŽ d¼ È«dÐ t−O²�Å—œ Ær¹œd+  U³Ł« «— ©nÆr¹—«œ 

                                                                      
Æ  1+ 3+.......+2n −1= n2



±±

±‡‡Å∂vłU²M²Ý« ‰ôb²Ý« ‡‡ÅÅ

bI1 —œÒ ‡‡ bM¹«— ”ËdOÄUÄ ÈÅt1±∂µ∞v{U¹— œułu1 a¹—Uð s¹dðÅvL¹bJ b¹Uý t� ‡‡ œöO1 “« q³J ‰UÝ 

_A1 s¹dð“—UÐ t� XHÖ Ê«uðÅv1  √dł tÐò ∫XÝ« Áb1¬ sOMÇ ̈ býUÐÒÈÅtł—œ ÈÅÁbM¼œÅÊUA� t� ÊUc�« —uFý ÈÅtB

bLðÒK1 d¼ ÊÒK� —uÞÅtÐ Ë XÝ« Êœd� ‰ôb²Ý«  —bJ ÊUL¼ ¨XÝ« XÒ—œ b�«uðÅv1 vNłË s¹d²NÐ tÐ  —bJ s¹« v

K1 Ê¬ œ«d2« v{U¹— ÈU¼Å —UN1ÒåÆœuý t²ý«cÖ g¹UL� tÐ X



±≤

o?³?Þ t?+ X?Ý« œu?łu?� ©b?M?¹«— ”Ëd?O?ÄU?Ä®d?B?� v?{U?¹— a?¹—Uð —œ œ«bŽ« UÐ È“UÐ ÈÅtDQ�� Ëœ

ÂU?−?�« Ê¬ ÈË— d?~?¹œ —U?+ s?¹b?M?Ç f?á?Ý Ë œuýÅv� »U7²�« ÈœbŽ ¨tDQ�� Ëœ s¹« ÈU¼ÅqLFD«—u²Ýœ

Ëœ s?¹« “« v?J?¹ U?Ð °X?Ý« ÊU?�J¹ tAOL¼ t−O²� ¨vÐU7²�« œbŽ s²'dÖ dE� —œ ÊËbÐ ÊU¹UÄ —œ Ë œdOÖÅv�

Ær¹uýÅv� UMý¬ tDQ��

F2Ò XO9U±ÅÅ‡‡µ

ÆXÝ« œ«bŽ« UÐ v�dÖdÝ Ÿ«u�« “« vJ¹ d¹“ ÈU¼Å‰U¦�

 ‰U?¦1≤∫ È«d?Ð t?K?Šd?� d?¼ Z?¹U?²?� Ë XÝ«— XLÝ —œ È“UÐ s¹« “« tKŠd� d¼ ¥—u?ÞÅt?Ð t+œbŽ 

ÆXÝ« Ábý Áœ«œ ÊUA� d¹“ ‰Ëbł éÇ XLÝ —œ ¨b�«ÅÁbý »U7²�« v'œUBð

bOM� »U_²�« œbŽ p¹µ∏±∑¥∂

 —œ «— Ê¬≥bOM� »d{ ±µ≤¥µ±±≥∏

 Ê¬ tÐ∂bOM� t2U{« ≤±≥∞µ∑±¥¥

 dÐ «— Ê¬≥bOM� rOcIð ∑±∞±π¥∏

Áœd� »U_²�« «b²Ð« “« t� «— ÈœbŽ

≤≤≤≤

bOM� r� rOcIð ÈÅt−O²� s¹« “« b¹œuÐ

® ‰Ëbł≥©

 UÐ dÐ«dÐ tAOL¼ t−O²� t+ œ“UÝÅv� s¾LD� «— U� ôUÐ vÝ—dÐ≤ÆXÝ« 

 t?−?O?²?� s¹« t+ X'U¹—œ Ê«uðÅv� v¹«dI²Ý« ‰ôb²Ý« UÐ tÇ dÖ«b¹UýX?Ý—œ œ«bŽ« ÈÅtL¼ È«dÐ 

�« ¨býUÐÒ vMF¹ ¨VKD� s¹« vK+  U³Ł« È«dÐ Ub¹UÐ tÐ b¹Uý q¹b³ðÆr¹bM�“UO� vłU²M²Ý« ‰ôb²Ý« tÐ ¨

 ‰U?¦1≥∫b?M?Ç U?¹ p?¹ »U?7?²?�« ÈU?ł t?Ð Ë r?O?M?+Åv� vÝ—dÐ dOOGð v+b�« UÐ «— vK³T ‰U¦� ÊUL¼ 

vÞ —œÆrOM+Åv� ÁœUH²Ý« È—«cÖÅX�öŽ “« ŸËdý lTu�—œ¨œbŽ
Ò 

Ðd� ̈ È“UÐÒdF� pÇu+ lÒvÐU7²�« œbŽ ·

Ë«ÒODÒÆrOM+Åv� ÁœUH²Ý« pÇu+ ÈÅÁd¹«œ p¹ “« ¨b¹błœ«bŽ« s²ÝU+U¹ ÊœËe'«—UÐd¼ È«dÐ Ë XÝ« t



±≥

 ‰U¦� —œ± œbŽ tAOL¼ t−O²� t+ r¹b¹œ ≤Ë« vÐU7²�« œbŽ t+ rOMOÐÅv� Õu{Ë tÐ ‰UŠ ÆXÝ« Òd¼ tOD

 œbŽ t−O²� r¼ “UÐ býUÐ t+ tÇ≤ÆXÝ« 

O{U¹— —œ ÆbMýU³� v~AOL¼ ÈÅÁœUH²Ý« È«dÐ v³DUł ÈU¼œUL� U¼ÅÁd¹«œ Ë U¼ÅlÐd� b¹UýÒôuLF�  UÎ

 “«·ËdŠÆrOM+Åv� ÁœUH²Ý« Á«u7Dœ œ«bŽ« Êœ«œ ÊUA� È«dÐ 

 ‰U¦1¥∫v?ÐU?7?²�« œbŽ ÈUłÅtÐ ·dŠ p¹“« ÁœUH²Ý« UÐ vMF¹ ¨Èd³ł œUL� UÐ «— vK³T ‰U¦� ‰UŠ 

Ë«ÒODÒ∫rOM+Åv� vÝ—dÐ Á—UÐËœ ¨t

vÐU_²�« œbŽ

 —œ »d{ vÐU7²�« œbŽ≥

 ÈÅt'U{« tÐ vK³T ÈÅt−O²�∂ 

 dÐ rO�Ið qlUŠ≥  

Ë« œbŽ Êœd+ r+Ò                                                      tOD 

® ‰Ëbł¥©

vÐU_²�« œbŽn

 —œ »d{ vÐU7²�« œbŽ≥  3n

 ÈÅt'U{« tÐ vK³T ÈÅt−O²�∂  3n + 6

 dÐ rO�Ið qlUŠ≥  n +2

Ë« œbŽ Êœd+ r+ÒtOD  2

® ‰Ëbłµ©

v²Ý—œ t+ vð«—U³Ž ÈUM³� dÐ «— v−¹U²� t+ XÝ« s¹« œ—ušÅv� rAÇ tÐ ‰U¦� tÝ d¼ —œ t+ È«Åt²J�

Ær¹œd+ ÁœUH²Ý« vłU²M²Ý« ‰ôb²Ý« “« vMF¹ r¹œ—Ë¬ XÝœ tÐ r¹«ÅÁœd+ ‰u³T «— U¼ÅÊ¬

vłU²M²Ý« ‰ôb²Ý«U¼ÅÊ¬ v²Ý—œ t� XÝ« vI¹UIŠ “« ÁœUH²Ý« UÐ vK� ÈdOÖÅt−O²� ‘Ë— 

Ær¹«Åt²-d¹cÄ «—

  

  



±¥

F2Ò XO9U±‡‡∂

ODUF' —œÒ X±‡‡≥ —œ «— U¼ÅÊ¬ Ë rOM+ »U7²�« «— vHK²7� vLT— tÝ œ«bŽ« dÖ« t+ r¹b¹œ ¨∑ ¨ ±±

 Ë±≥O?DË« v?ÐU?7?²?�« v?LT— tÝ œbŽ —«dJð t+ œuÐ b¼«uš vLT— gý œbŽ p¹ qlUŠ ¨rOM+ »d{ Òt

ODUF' Ê¬ tÐ d~¹œ È«Åt¹Ë«“ “« ‰UŠÆXÝ«Ò t+ rOM+Åv� ÷d' vMF¹ ̈ rOM+Åv� ÁU~� XabcabcÈÅÁbM¼œÅÊUA�  

 v?L?T— tÝ œbŽ —«dJð “« t+ XÝ« È«ÅvLT— gý œbŽ d¼abcX?ÐUŁ rO¼«ušÅv� ÆXÝ« Áb�¬ XÝœÅtÐ 

 t+ rOM+abcabcdÐ ∑ ¨Å±±Ë ±≥ÆXÝ«Åd¹cÄÅg7Ð 

 œbŽabcabcrO�¹u�Åv� Ábý t¹e−ð  —ulÅtÐ «— 

abcabc =100,000 a +10,000 b +1000 c +100 a +10 b + c

Tœ UÐÒ ÈÅÁbý t¹e−ð  —ul —œ Xabcabc œbŽ ¨„d²A� q�«uŽ “« ÈdOÖ—u²+U' Ë ±∞∞±vÐU¹œ— «— 

 XODUF' —œ t+ XÝ« ÈœbŽ ÊUL¼ s¹« ÆrOM+Åv�±‡‡≥ »d{ “« ¨  7 ×11×13r¹œ—Ë¬ XÝœ tÐ 

  
abcabc =100,000 a +10,000 b +1000 c +100 a +10 b + c

  =100a(1000+1) +10b(1000+1) + c(1000+1)

  =100a(1001) +10b(1001) + c(1001)

«œb−�Î „d²A� q�UŽ “« ±∞∞±r¹dOÖÅv� —u²+U' 

®±©
  1001(100a +10b + c)

 vLT— tÝ œbŽ ÈÅÁbý t¹e−ð  —ul ¨e²�«dÄ qš«œabcXÝ« 

®≤© 
  1001 abc

® “«≤ t+ r¹dOÖÅv� t−O²� ©abcabc dÐ ∑ Ë ±± Ë ±≥rOLFð qÐUT ÈdOÖÅt−O²� s¹« XÝ« d¹cÄÅg7Ð 

¹œËb×� êO¼ ÊËbÐ U� «d¹“ XÝ«Ò ¨v²abcabc ÈÅÁbM¹UL� Ê«uMŽ tÐ «— d¼—«dJð “« t+ vLT— gý œbŽ 

 dÐ œbŽ s¹« t+ rO¼œ ÊUA� rO²��«uð r¼ “UÐ Ë r¹œd+ »U7²�« ̈ XÝ« Ábý qOJAð vLT— tÝ œbŽ p¹∑¨ ±±

 Ë±≥ V¹d{ È«—«œ «d¹“ XÝ« d¹cÄÅg7Ð ±∞∞±ÆXÝ« 

 X?O?DUF' vÝUÝ« ‚d'±‡‡≥O?DUF' s¹« Ë ÒÈÅt?Žu?L?−� ”UÝ«dÐ ¨vK³T œ—u� —œ t+ XÝ« Ê¬ —œ X

K+ ÈdOÖÅt−O²� p¹ tÐ ¨b¼«uý “« ÈœËb×�Ò�« r¹bOÝ— vÒODUF' s¹« —œ UÒ«— U?¼ÅÊ¬ v²Ý—œ t+ vI¹UIŠ ¨X

K+ ÈU¼ÅÈdOÖÅt−O²� Ë U¼ÅvÝ—dÐ È«dÐ v¹UM³� r¹«Åt²'d¹cÄÒÆbý U� v



±µ

±‡‡∑iI� ‰U¦1 ‡‡

U?L?²?Š Áb?�¬ X?ÝœÅt?Ð ÈÅt?−O²� t+ b¼œÅv� ÊUMOLÞ« U� tÐ vłU²M²Ý« ‰ôb²Ý«Îs?¹« ÆXÝ« XÝ—œ 

OF�UłÒ¨vDU¦� UÐ t+ b²'«Åv� ‚UHð« v¼UÖ ÆXÝ« ‰ôb²Ý« Ÿu� s¹« v¹U³¹“ Ë —«b²T« ÈU¼Åt�UA� “« vJ¹ ¨X

ÆœuýÅv� iI� ¨rO�“Åv� ”bŠ t+ È«Åt−O²� XO�uLŽ

Å‰U¦1µ∫qlË r¼ tÐ jš Á—UÄ p¹ ÈÅtKOÝË tÐ «— Ád¹«œ Êu�«dOÄ ÈË— dÐ È—UO²š« ÈÅtDI� Ëœ dÖ« 

ð« UÐ ÆœuýÅv� rO�Ið tOŠU� Ëœ tÐ Ád¹«œ ¨rOM+Ò tÐ Ád¹«œ ¨Ád¹«œ ÈË— dÐ È—UO²š« ÈÅtDI� tÝ ‰UB¥tOŠU� 

 È«d?Ð «— Ÿu?{u� s¹« d¹“ qJý ÆœuýÅv� rO�Ið≤ ¨Å≥ ¨Å¥ Ë µÊU?A?� Ád¹«œ ÈË— dÐ È—UO²š« ÈÅtDI� 

∫b¼œÅv�

©n9«®©»®©Û®© ®

©À®

 ◊UI� œ«bFð dÖ« U¹¬∂ U¼ÅtOŠU� œ«bFð ¨býUÐ ≥≤ øœuýÅv� ∂Ë rOM+Åv� —UO²š« Ád¹«œ ÈË— dÐ tDI� 

U?¼Åt?O?ŠU?� œ«b?F?ð t?+ r?O?MOÐÅv� qJý tÐ tłuð UÐ ÆrOM+Åv� qlË r¼ tÐ v¹U¼ÅjšÅÁ—UÄ ÈÅtKOÝË tÐ «— U¼ÅÊ¬

  —ulÅtÐ≤ ¨Å¥ ¨Å∏ ¨Å±∂ÆbÐU¹Åv� g¹«e'« ¨ì¨

b??Ý—Åv??� d??E??� t??Ð v??¹«d??I??²??Ý« ‰ôb??²?Ý« U?Ð

 t?+ v¹U¼ÅjšÅÁ—UÄ∂²?� r¼ÅtÐ «— tDI� Ò¨b?�“UÝÅv� qB

 tÐ «— Ád¹«œ≥≤ÆbMM+Åv� rO�Ið tOŠU� 

® ‰Ëbł∂©

U¼ÅtDI� œ«bFð≤≥¥µ

U¼ÅtOŠU� œ«bFð≤¥∏±∂

�«Ò U¼ÅÊ¬ œ«bFð t+ rOMOÐÅv� ̈ U¼ÅtOŠU� ÊœdLý UÐ U≥∞ÊUA� «— ‚u' ÈÅt−O²� ÊœuÐ XÝ—œU� t+ ̈ XÝ« 



±∂

²Š dÖ« Æb¼œÅv�Ò”bŠ v²Ý—œU� ¨iI� ‰U¦� UÐ t+ rO¹uÖ ¨bM+ œ— «— U� ”bŠ t+œuý «bOÄ t�uL� p¹ v

ÆXÝ« Ábý XÐUŁ

 ¨bM� iI� «— vLJŠ XOK� t� v9U¦� tÐiI½ ‰U¦� ÆbM¹uÖÅv�

‰U¦1∂∫ @MÖ œbŽ Ëœ d¼ È«dÐ x Ë y U¹¬ rOMO³Ð rO¼«ušÅv� x + yødOš U¹ XÝ« @MÖ eO� 

∫qŠ t+ rO¼œ ÊUA� XÝ« v'U+ x Ë y�« bM²�¼ @MÖ t+ b�uýÅv� «bOÄ È«ÅÒvMF¹ ¨U¼ÅÊ¬ ŸuL−� U

x + y @MÖ œbŽ Ëœ dÖ« —U+ s¹« È«dÐ ÆX�O� @MÖ   x = 2+ 2 Ë   
y = 2− 2¨rOM+ »U7²�« «— 

 t?+ r?O?MOÐÅv�
  
x + y = (2+ 2) + (2− 2) = 2+2 = 4¨‰U?¦?� s?¹« f?Ä ÆXÝ« U¹uÖ œbŽ p¹ t+ 

OK+ÒÆbM+Åv� iI� XÝ« @MÖ œbŽ p¹ tAOL¼ @MÖ œbŽ Ëœ ŸuL−� t+ «— rJŠ s¹« X

qzUc1
±

±ÆbOM+ q�U+ «— d¹“ Z¹U²� ¨vłU²M²Ý« ‰ôb²Ý« “« ÁœUH²Ý« UÐ ‡‡

Æœ—UÐÅv� Ê«—UÐ Êü« ÆœuýÅv� »uÞd� sO�“ ¨œ—U³Ð Ê«—UÐ dÖ« ©nD«

∫t−O²�ÆXÝ«           sO�“ 

 ◊uDš ÆbMM+ÅvL� lDT «— d~¹bJ¹ ÁU~âO¼ È“«u� ◊uDš ©»
  
L1

 Ë 
  
L2

ÆbM²�¼ È“«u� 

 ∫t−O²�
  
L1

  Ë 
  
L2

ÆÅÅÅÅÅÅÅÅÅÅ                ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ           

≤ÆbO¼œ `O{uð «— œuš »«uł øb�uýÅv� qlUŠ Ábý Áœ«œ  «—U³Ž “« d¹“ Z¹U²� U¹¬ ‡‡

ÆbMM+ ‰ôb²Ý« bM�«uðÅv� b�dOÖÅv� œU¹ v{U¹— t+ v�«“u�¬Åg�«œ ÂULð ©nD«

ÆœdOÖÅv� œU¹ v{U¹— t+ XÝ« È“u�¬Åg�«œ bOLŠ

∫t−O²�ÆbM+ ‰ôb²Ý« b�«uðÅv� bOLŠ 

ÆbM²�¼ UMý¬ dðuOá�U+ —U+ “dÞ UÐ Ê«“u�¬Åg�«œ “« vCFÐ ©»

ÆXÝ« “u�¬Åg�«œ fÖd�

∫t−O²�ÆXÝ« UMý¬ dðuOá�U+ —U+ “dÞ UÐ fÖd� 

ÆXÝ« ÈËU�� lK{ Ëœ qT«bŠ È«—«œ sOTU�D«ÅÈËU�²� YK¦� ©Û

ÆXÝ« ÈËU�� lK{ tÝ È«—«œ Ÿö{ô«ÅÈËU�²� YK¦�

∫t−O²�ÆXÝ« sOTU�D«ÅÈËU�²� YK¦� p¹ ¨Ÿö{ô«ÅÈËU�²� YK¦� d¼ 

± ÈU¼Ås¹dLð ‡‡± Uð µ »U²+ “« ‰UL²Š« Ë d³łÆXÝ« Ábý t²'dÖ b¹bł ÂUE� v{U¹— ÂuÝ ‰UÝ 



±∑

≥ÆXÝ« ÃË“ tAOL¼ ÃË“ œbŽ Ëœ ŸuL−� t+ bO¼œ ÊUA� ‡‡

¥łuð UÐ ÆbM²�¼ œuš ÈÅtÝ—b� ‰U³²J�Ð rOð uCŽ rO¼«dÐ« Ë œËË«œ ¨Ê«d�U+¨bLŠ« ¨vKŽ ‡‡ÒtÐ t

ðd� bT g¹«e'« V�ŠdÐ «— U¼ÅÊ¬ ¨d¹“  UŽöÞ«Ò∫bOM+ V

ªbM²�¼ dðÅÁUðu+ vKŽ “« U¼ÅÊ¬ “« dH� Ëœ qT«bŠ ©nD«

ªXÝ« dðÅÁUðu+ Ê«d�U+ “« œËË«œ ©»

ªX�O� d�Ä s¹dðÅÁUðu+ bLŠ« ©Û

ÆXÝ« dðbMKÐ vKŽ “« œËË«œ © 

µÊœu?Ð X?Ý—œU?�  —u?l —œ ÆX?Ý« ÅXÝ—œU�Å p¹ÅÂ«b+ Ë XÝ—œ d¹“  «—U³Ž “« p¹ÅÂ«b+ ‡‡ 

ÆbOM+ «bOÄ iI� ‰U¦� p¹

 dÖ« ©nD«±ªXÝ« ÃË“ œbŽ p¹ tAOL¼ t−O²� ¨œuý lLł Èœd' œbŽ d¼ UÐ 

ªXÝ« dðÅ¯—eÐ Ê¬ “« tAOL¼ œbŽ p¹ ÂËœ Ê«uð ©»

œUŠ ÈÅt¹Ë«“ Ëœ ŸuL−� ©ÛÒ “« d²L+ Á
    180



ªXÝ« 

ªœdOÖÅv� —«dT Ê¬ qš«œ YK¦� p¹ ŸUHð—« tAOL¼ © 

ªXÝ« lÐd� p¹ vKOD²�� d¼ ©À

ÆXÝ« qOD²�� p¹ vFÐd� d¼ ©Ã

∂∫b¹dO~Ð dE�—œ «— d¹“ ÈU¼Åt�uL� ‡‡ÅÅ

  6 =1
2 +1

2 +2
2,

  14 =1
2 +2

2 + 3
2,

  24 = 2
2 +2

2 + 4
2,

  59 =1
2 + 3

2 + 7
2,

  61= 3
2 + 4

2 +6
2,

  89 = 2
2 +2

2 +9
2,

q?�U?+ l?Ðd?� tÝ ŸuL−�  —ulÅtÐ Ê«uðÅv� «— vFO³Þ œbŽ d¼ò ∫t+ XÝ« Ê¬ vDUL²Š« ÈÅt−O²�

ÆXÝ« XÝ—œU� ‚u' ÈdOÖÅt−O²� t+ bO¼œ ÊUA� iI� ‰U¦� p¹ ÈÅtz«—« UÐ ÆåXýu�

∑øXÝ« XÝ—œ d¹“ ÂUJŠ« “« p¹ Â«b+ ‡‡ 

 dÖ« ©nD«x Ë @MÖ yÅ ÁUÖÅÊ¬ ¨býUÐ U¹uÖ x + yÆXÝ« U¹uÖ 

 dÖ« ©»x Ë y ÁUÖÅÊ¬ ¨bMýUÐ U¹uÖ Ëœd¼ x + yÆXÝ« U¹uÖ 

Æb¹—ËUOÐ iI� ÈU¼Å‰U¦� XÝ—œU� ÂUJŠ« œ— È«dÐ Ë bOM+  U³Ł« «— XÝ—œ ÂUJŠ«
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åÅXÝ« ÂuKŽ ÈÅtJK� v{U¹— ò  � ‰—U�d”uÖ p¹—œ

±

≤‡‡±U¼Åt�U³
œ ‡‡

F� sO�Ë«Ò¨b?M?�Åv?� UMý¬ œ«bŽ« XO¼U� UÐ «— „œu� t� v²O�U‘—ULý œ«b?Ž« ÈÅtŽuL−� ÆXÝ« 

 v?FO³ÞN “« t� ± p?¹ “« v?�U?¦� ¨œœdÖÅv� ÁœËe�« vJ¹ vJ¹ Ë œuýÅv� “Už¬ Èœb?Ž ÈÅt�U³
œË X?Ý« 

 p¹ œ«bŽ« s¹« “« p¹d¼tKLłs?²šUÝ È«dÐ ¨d~¹œ v4UOÐ tÐ Æb4uýÅv� ÁbO�U4 vFO³Þ œ«bŽ«ÅÈÅt�U³4œ “« 

v¹U¼Åt�U³4œ sOMÇ Æb¹¬ XÝœÅtÐ ÈbFÐ ÈÅtKLł Uð rOM�Åv� t�U{« vJ¹ tKLł d¼ tÐ ̈ vFO³Þ œ«bŽ« “« È«Åt�U³4œ

ÆbMÐU¹ t�«œ« X¹UN4ÅvÐ UðË b4uý ŸËdý vFO³Þ œbŽ d¼ “« bM4«uðÅv�

 p¹ UÐ Ê¬ ÈÅtKLł U¹ œbŽ d¼ t� XÝ« œ«bŽ« “« vA¹«—¬ ÈœbŽ ÈÅt�U³�œÊU�J¹ Êu½U!tÐ 

Æb¹¬Åv  vK³! ÈÅtKLł ‰U³�œ
≤

٢فصل 

œ«bŽ« ÈU¼Åt�U³
œ

±‡‡ Karl Friedrich Gauss

≤ÆœdOÖÅv� dÐ —œ «— œ«bŽ« ÈU¼Åt�U³4œ “« v?Uš ÈÅt²Ýœ n¹dFð s¹« ‡‡



±π

∫r¹“«œdÄÅv� vFO³Þ œ«bŽ« ŸuL−� Êœd� «bOÄ nK²E� ÈU¼ÅÁ«— vÝ—dÐ tÐ ¨d¹“ ÈU¼Å‰U¦� —œ

 XO�UF�≤‡‡±

øXÝ« Â“ô d¹“ qJý s²šUÝ È«dÐ qÖ bMÇ

7

6

5

4

3

2

1

XLÝ—œ t� XÝ« n¹œ— d¼ —œ œułu� ÈU¼ÅqÖ œ«bFð s²�U¹ ̈ ‚u� ‰«RÝ tÐ aÝUÄ ÈU¼ÅÁ«— “« vJ¹

          ∫vMF¹ ¨XÝ« Ábý t²ýu4 éÇ  1+2+ 3 + 4+ 5 +6 + 7

∫œuýÅv� Áœ“ ”bŠ d¹“ d¹uBð “« d~¹œ Á«—

8

8

8

8

8

8

8

 qJý±

 qJý≤

 qJý —œ≤ U¼Ån¹œ— œ«bFð ª∑ n¹œ— d¼ —œ U¼ÅqÖ œ«bFð Ë ∏ÆXÝ« 

 s?¹dLð±∫ q?J?ý vÖó¹Ë ≤U?¼Åq?Ö œ«b?F?ð s?O?O?Fð È«dÐ ÈdÐÅÊUO� Á«— fáÝ Ë bOM� hEA� «— 

 qJý —œ≤ÆbOM� «bOÄ 



≤∞

 s¹dLð ≤∫łuð UÐ Ò qJý tÐ t≤ qJý —œ U¼ÅqÖ œ«bFð sOOFð È«dÐ ÈdÐÅÊUO� Á«— ̈±tÇ ÆbOM" «bOÄ 

 qJý ÈU¼ÅqÖ ŸuL−� sOÐ È«ÅtDÐ«—≤ qJý ÈU¼ÅqÖ ŸuL−� Ë ±øœ—«œ œułË 

*œ UÐÒ ÈU?¼Ås¹dLð —œ X± Ë ≤łu²� ¨ÒË« ÈU?¼Ån¹œ— —œ U¼ÅqÖ œ«bFð ŸuL−� t" r¹bý tÒdš¬ Ë ‰

Ëœ ÈU¼Ån¹œ— —œ U¼ÅqÖ œ«bFð UÐ XÝ« ÈËU5�Ò qJý —œ vMF¹ ̈ dš¬ Uð VOðdð sOL¼ÅtÐ Ë dš¬ q³*U� Ë Â≤¨

UÐ XÝ« dÐ«dÐ n¹œ— d¼ —œ U¼ÅqÖ œ«bFð

1 2 3 4 5 6 7

+7

8
 

+6

8
 

+5

8
  

+4

8
  

+3

8
  

+2

8
  

+1

8
 

 qJý tÐ dÖ«≤ Ê¬ ÈÅÁbŽU* t" bOMOÐÅv� «— vŽö{ô«ÅÈ“«u²� ̈ bOM" ÁU~@ dðÅoO*œ ∏ŸuL−� vMF¹ ̈

Ë« ÈU¼Ån¹œ—Ò Ê¬ ŸUHð—« Ë dš¬ Ë ‰∑ s¹dLð »«uł ‰UŠ ÆXÝ« U¼Ån¹œ— œ«bFð vMF¹ ¨±XŠU5� UÐ «— 

øb¹dOÖÅv� È«Åt−O²@ tÇ ÆbOM" t5¹UI� Ÿö{ô« È“«u²�

 s?¹dLð≥∫ q?Jý tÐ Á—UÐËœ ±v?¹ôU?Ð ÈÅÁb?ŽU?* ‰u?Þ t?" XÝ« È«ÅtI@“Ë– qJý s¹« °bOM" ÁU~@ 

 Ê¬± Ê¬ vMO¹UÄ ÈÅÁbŽU* ‰uÞ Ë ©bŠ«Ë p¹ qÖ d¼® ∑«œb−� ÆXÝ« Î s¹dLð »«uł ≤

ÆbOM" Xý«œœU¹ «— t−O²@ Ë bOM" t5¹UI� tI@“Ë– XŠU5� UÐ «—

≤‡‡≤pÇu� nA� p¹ ÈÅtâ�¹—Uð ‡‡
±

°Å¯—eÐ ⁄u³  p¹ U¹ 

® UO@œ ·ËdF�ÅÅÅÈU¼ÅÊ«bO{U¹—ÅËÅÅÅmÐ«u@Ås¹d²Ö—eÐÅ“«ÅÅt"Å”uÖÅÅÈÅÁ—UÐ—œÅv@ÅU²Ý«œ±∏µµ‡‡Å±∑∑∑XÝ« ©Å

b?MM"Åv� qI@
≤

”—œ ÊU?²?5?Ðœ —œ ”uÖ v²*Ë t" XÝ« ÁœuÐ —«d* s¹« “« «dłU� ÆXÝ« VUUł —UO5Ð t" 

KF� È“Ë— b@«ušÅv�Ò œ«bŽ« t" XÝ«uš U¼ÅÊ¬ “« r± Uð ±∞∞q³* ÆbMM" lLł Ë bM5¹uMÐ r¼ dÝ XAÄ «— 

 “« œ«bŽ« ŸuL−� Ë« ¨b@d³Ð ÊU¹UÄÅtÐ «— v5¹u@œbŽ ”uÖ ÈU¼ÅvÝöJL¼ t"Ås¹« “«± Uð ±∞∞XÝœÅtÐ «— 

KF� tÐ Ë œ—Ë¬ÒK?F� °œ«œ ÊUA@ gLÒ¹–« bB* ”uÖ t" œd" dJ[ Ë XHý¬dÐ rÒs?¹« UÐ Æœ—«œ «— Ë« Êœd" X

 “« vU«u²� œ«bŽ« lLł tÐ Ë« rKF� ¨”uÖ È—UA[UÄ dŁ«dÐ ¨‰UŠ± Uð ±∞∞b� ·d] “« fÄ Ë Xš«œdÄ Ò 

”u?Ö t?" b?O?Ý— È«Åt?−O²@ tÐ v@ôuÞ v@U�“Èœb?F?²?� ÈU?¼Å”b?Š ÆœuÐ ÁbOÝ— tIO*œ bMÇ —œ „œu" 

ÆœuýÅv� Áœ“ ”uÖ qŠ Á«— ÈÅÁ—UÐ—œUF"«Ë ÎøœuÐ Áœd� qŠ t u~Ç «— t,Q./ ”uÖ 

±O*öš ‡‡ÒÆUOUuÄ Ã—uł dŁ« v{U¹— X

≤Æœ—«œ œułË v{U¹— a¹—Uð lÐUM� —œ ”uÖ ÊU²Ý«œ “« vHK²d� ÈU¼ÅÊ«œdÖdÐ ‡‡
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d¹“ —«œuL4
±

 “« v�«u²� œ«bŽ« ŸuL−� Êœ—Ë¬ XÝœÅtÐ nK²E� ÈÅÁuOý bMÇ ± Uð ±∞∞ÊUA4 «— 
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 Êu?²Ý —œAU?¼ÅÊ¬ l?L?ł Ë “U?ž¬ “« V?O?ðd?ð t?Ð U?¼œbŽ s²ýu4 ¨ŸuL−� Êœ—Ë¬ XÝœÅtÐ o¹dÞ ¨

 qJý ÈU¼ÅqÖ œ«bFð Êœd� lLł È«dÐ «b²Ð« —œ t� È«ÅÁuOý ÊUL¼ vMF¹ ¨XÝ«±Ær¹œdÐ —U�ÅtÐ 

 Êu²Ý —œB vMF¹ UN²4« “« ŸËdý UÐ œ«bŽ« lLł ¨±∞∞v�Ëe4 VOðdðÅtÐ 

 Êu?²Ý —œ ŸuL−� Êœ—Ë¬ XÝœÅtÐ ÈÅÁuOýCv??Uš VOðdð êO¼ ÊËbÐ œ«bŽ« s¹« Êœd�ÅlLł ¨

ÆXÝ«

 Êu²ÝDOL¼« “« Òv¹UN²4« Ë v¹«b²Ð« œ«bŽ« sOÐ v³�Uł ÈÅtDÐ«— «d¹“ ÆXÝ« —«œ—ušdÐ È«ÅÁó¹Ë X

ÐÅÊUO� Á«— ÊUL¼ s¹« ÆœuýÅv� Áb¹œ
Ô

 s¹dLð —œ t� XÝ« Èd≤p¹ tÐ t� ÈœbŽ Ëœd¼ ŸuL−� Æb¹œd� «bOÄ 

OF� ŸuL−� ¨bMýUÐ UN²4« Ëœ “« tK?U�ÒvMF¹ ¨bM¼œÅv� vM

  = 50+ 51=101 
ì

   1+100= 2+99 = 3 +98 =

UŽuL−� ÊuÇ ËÎ µ∞ “« œ«bŽ« ŸuL−� t−O²4—œ ¨r¹—«œ œ«bŽ« s¹« “« XHł ± Uð ±∞∞UÐ XÝ« dÐ«dÐ 

  50×101= 5050

 s¹dLð tÐ Á—UÐËœ≤[œ Ò qJý ÈU¼ÅqÖ œ«bFð ̈ s¹dLð Ê¬ —œ °bOM� X±łuð UÐ «— Ò qJý tÐ t≤XÝœÅtÐ 

 qJý ÈU¼ÅqÖ œ«bFð ̈ l[«ËÅ—œ Æb¹œ—Ë¬≤Ë« ÈU¼Ån¹œ— ÈU¼ÅqÖ ŸuL−� dÐ«dÐ n¹œ— d¼ —œ ÒœuÐ dš¬ Ë ‰

± ¨UO�uÄ Ãdł “« qI4 tÐ ‡‡±π∂≤



≤≤

UŽuL−� ÊuÇ ËÎ ∑ qJý ÈU¼ÅqÖ ŸuL−� t−O²4—œ ¨rO²ý«œ qÖ n¹œ— ± qJý ÈU¼ÅqÖ nB4 ≤vMF¹ 

  

7

2
× 8                                       d~¹œ v4UOÐ tÐÆœuÐ  

U¼Ån¹œ— œ«bFð

 dš¬ n¹œ— ÈU¼ÅqÖ œ«bFð ®+Ë« n¹œ— ÈU¼ÅqÖ œ«bFð Ò ©Å‰

  

=
                    

2

 qJý ÈU¼ÅqÖ ŸuL−�±

 Ê¬ pÇu� ÈÅÁbŽU[ t� XÝ« È«ÅtI4“Ë– XŠU\� Êœd� «bOÄ ‘Ë— ÊUL¼ s¹« t�± Ê¬ ̄ —eÐ ÈÅÁbŽU[ ̈∑

 Ê¬ ŸUHð—« U¹ ÈbMKÐ Ë∑∫XÝ« U¼Ån¹œ— œ«bFð vMF¹ 

ŸUHð—«                                                          

 ¯—eÐ ÈÅÁbŽU[®+Å pÇu� ÈÅÁbŽU[ ©Å
  

=
                

2

 qJý ÈU¼ÅqÖ ŸuL−�  ±

 ¨eO4 ”uÖ ÈÅt�Q\� —œ±∞± Ë UN²4« Ë «b²Ð« ÈU¼œbŽ ŸuL−� µ∞fÄ œuÐ U¼ÅÊ¬ œ«bFð nB4 

U¼œbŽ œ«bFð                                                     

 ©«b²Ð« œbŽ ´ UN²4« œbŽ®=
                   

2
 “« œ«bŽ« ŸuL−� ± Uð   

1S =100

=
100

2
(1+100)

 t?�—u?ÞÅÊU?L?¼ øbO²�«Åv� tÇ œU¹ tÐö?³[Î Åt?� X?Ý« È«Åt?I?4“Ë– X?ŠU?\� —Ë¬œU¹ ‚u� ŸuL−� ¨b¹b¹œ r¼

 Ê¬ ŸUHð—«±∞∞ Ë  ÈU¼ÅÁbŽU[ Ê¬± Ë ±∞∞ÆXÝ« 

Ÿ
U
H
ð
—

«
±

∞
∞

’U?š œb?Ž ÈU?ł t?ÐÆ r?¹“«œdÄÅv� Ê¬ rOLFð tÐ Ë rO¼œÅv� —«d[ —U� ”UÝ« «— t�Q\� sOL¼ ‰UŠ

±∞∞ v?F?O?³Þ œbŽ ¨nr?O?¼«u?šÅv?� ¨”u?Ö ÈÅt?Ðd?−?ð “« s?²?�d?ÖÅpL� UÐ l[«Ë —œ Ær¹dOÖÅv� dE4—œ «— 

± ‡‡S ‰Ë« ·dŠ SumÆXÝ« ŸuL−� vMF� tÐ 



≤≥

sO�Ë« ŸuL−:n vFO³Þ œbŽ ÆrOM� «bOÄ «— 

 Êu²Ý —œ t� È«ÅÁuOý ÊUL¼ “« ̈ —U� s¹« È«dÐD«bOÄ vMF¹ ªrOM�Åv� ÁœUH²Ý« Á—UÐËœ r¹œdÐ —U�ÅtÐ  

—«d[ UN²4« Ë «b²Ð« “« vMOF� ÈÅtK?U� tÐ t� Èœ«bŽ«® v¹UN²4« Ë v¹«b²Ð« œ«bŽ« “« v¹U¼ÅVðd� XHł Êœd�

Æb4—«œ vMOF� ŸuL−� t� ©b4«Åt²�dÖ

 qJý —œ t� È«ÅÁuOý ÊUL¼ tÐ≤ ŸuL−� ¨rO²ý«œ S—œ t� s¹« dÐ ◊ËdA� rO\¹u4Åv� Á—UÐËœ «— 

Ëœ dDÝÒUL²ŠÅ® Æb4uý t²ýu4 pÇu� tÐ ̄ —eÐ “« vMF¹ ̈ fJŽdÐ U¼ÅtKLł VOðdð ̈ ÂÎ—œ t� b¹—Ë¬Åv� œU¹ tÐ 

 qJý≤©ÅÆr¹bOÇ fJŽdÐ «— U¼ÅqÖ n¹œ— 

    S =1+2+ 3++(n −2) + (n −1) + n

S = n + (n −1) + (n −2) + +3 +2+1

t� r¹dOÖÅv� t−O²4 ôUÐ dDÝ Ëœ lLł “«

2S = (1+ n) + (1+ n) + (1+ n)++(1+ n) + (1+ n) + (1+ n)
  

                                                                

  n—UÐ 

U¼ÅtKLł œ«bFð ÊuÇn fÄ œuÐ Uð 

  2S = n(1+ n)

 XO�UF�≤‡‡≤

 ŸuL−� Êœ«œ ÊUA4 È«dÐ1+2+ 3 + +n =
n(n +1)

2
p¹ t� r¹dOÖÅv� dE4—œ «— vKOD²\� 

Ê¬ lK{n  ‘d~¹œ lK{ Ë  n +1rO\Ið ÈËU\� XL\[ Ëœ tÐ «— qOD²\� ¨v4UJKÄ vDš UÐ ‰UŠ ÆbýUÐ 

 ®  ¿©

  

S =
n(1+ n)

2

∫vMF¹

dš¬ ÈÅtKLłÅ®Å                                                     + ÈÅtKLł«Ë
Ò 

U¼ÅtKLł œ«bFð ©Å‰

  

S =
                                                            

2

U¹



≤¥

 U?Ð X?Ý« dÐ«dÐ XL\[ d¼ XŠU\� ∫ÅrOM�Åv�
    1+2+ 3++nÂU?Lð XŠU\� °bOM� dJ� Ê¬ tÐ ø«dÇ Æ

łuð UÐ °b¹œ“ ”bŠ XÝ—œ øXÝ« —bIÇ qOD²\�Ò Ê¬ XŠU\� ¨qOD²\� ÷dŽ Ë ‰uÞ tÐ t  n(n +1)

 Ê¬ nB4 XŠU\� Ë

  

n(n +1)
2

s¹«dÐUMÐ ÆÅXÝ« 

    

1+2+ 3 ++n =
n(n +1)

2

 ÷d� UÐ d¹“ qJý  n = 4ÆXÝ« Ábý rÝ— 

n + 1= 5

n + 1= 5

n = 4



≤µ

≤‡‡≥vÐU9Š ÈÅÅt�U³
œ ‡‡

s¹d²JÇu� tÐ t� VOðdð s¹« tÐ ÆÅb¼bÐ ÈbOŽ œuš ÈU¼ÅÁu4 ÂULð tÐ X�dÖ rOLBð Á—öÖ ̄ —eÐ —œU�

 U¼ÅÊ¬≥ tJÝ ≤µ sÝ VOðdð tÐ d~¹œ ÈU¼ÅtâÐ tÐ Ë v4U�uð ≤êO¼ sL{—œ Æb¼bÐ vK³[ dH4 “« d²AOÐ tJÝ 

Áœ«œ œuš ÈU¼ÅÁu4 tÐ Á—öÖ ̄ —eÐ —œU� t� v¹U¼Å‰uÄ ŸuL−� rO¼«uš v� ÆÅb4œu³4 sÝÅr¼ U¼ÅtâÐ “« Â«b�

“« v?²�U¹—œ ÈU¼ÅÈbOŽ ÈÅÁbM¼œÅÊUA4 d¹“ ÈÅt�U³4œ ÆÅr¹—Ë¬ XÝœÅtÐ «— r¼œe4UÄ dH4 ÈbOŽ —«bI� Ë XÝ«

∫XÝ« ¯—eÐ —œU�

    75  ,  125  ,  175  ,  225  ,  275  ,   ,  425  ,

 p¹ “« È«Åt4uL4 t�U³4œ s¹«vÐU9Š ÈÅt�U³
œÆÅXÝ« 

 ÊœËe?'« “« vÐU(Š ÈÅt�U³�œ p¹ “« tKLł d¼XÐUŁ —«bI� p¹XÝœÅtÐ vK³! ÈÅtKLł tÐ 

 XÐUŁ —«bI  s¹« tÐ Æb¹¬Åv X³�½ —b!ÆrO¹uÖ v  

ÊœËe?�« U?Ð Ê¬ ÈÅtKLł d¼ t�  ËUHð s¹« UÐ ¨XÝ« vFO³Þ œ«bŽ« ÈÅt�U³4œ tO³ý U¼ÅÈbOŽ ÈÅt�U³4œ

œbŽµ∞ÈU¼Ån¹œ— ‰U¦� “« È«Åt²�U¹ rOLFð X�UŠ t�U³4œ s¹« ¨‰UŠ s¹« UÐÆb¹¬Åv� XÝœÅtÐ vK³[ ÈÅtKLł tÐ 

 “« œ«bŽ« Ë qÖ± Uð ±∞∞sO�Ë«Å® U¼Åt�U³4œ ÈÅtKLł sO�Ë« ¨vK³[ ‰U¦� Ëœ —œ Ær¹bý UMý¬ U¼ÅÊ¬ UÐ t� XÝ« 

 œbŽ ©ÅU¼ÅqÖ n¹œ—±Ö p¹ ÈbFÐ ©ÈU¼Ån¹œ—® U¼dDÝ —œ VOðdðÅtÐ Ë œuÐ Ô·ö²š« vMF¹ ¨bý ÁœËe�« q

UIO[œ U¼ÅÊ¬ —œ tKLł Ëœ d¼Î ±�« ̈ œuÐÒË« ÈÅtKLł ̈ t�U³4œ s¹« —œ UÒ ‰∑µ VOðdð tÐ U¼ÅtKLł Ë XÝ« µ∞ Uð µ∞

UIO[œ t�U³4œ s¹« —œ tKLł Ëœ d¼ ·ö²š« vMF¹ ¨b4«ÅÁbý œU¹“ UðÎ µ∞ÆXÝ« 

25

25

25

25

25

25

25

25

25

25

25

25

25

25

25

25

2525

25

25

25

25

25

25

75

50

125

50

175

50

225

50

0

++++

0 0



≤∂

 s¹dLð¥∫ tÐ ̄ —eÐ —œU� t" v¹U¼Å‰uÄ ŸuL−� ±µøÅXÝ« —b*ÅÅtÇ XÝ« Áœ«œ œuš ÈU¼ÅÁu@ “« dH@ 

F[ —œÒ XOUU≤‡‡±vJ¹ vJ¹ n¹œ— d¼ ÈU¼ÅqÖ «d¹“ ̈ œuÐ ÁœUÝ n¹œ— d¼ —œ U¼ÅqÖ œ«bFð Êœd" «bOÄ ̈

 “« vFO³ÞÅ œ«bŽ« ÈÅtUU³@œ —œ tKLł sO�b] Ë b@býÅv� t[U{«± Uð ±∞∞rOM" ÷d[ dÖ« ÆXÝ« b] ÊUL¼ 

 ¯—eÐ —œU�±∞∞Õu?{Ë s?¹« tÐ Áu@ b] s¹« tÐ ¯—eÐ —œU� v²š«œdÄ —«bI� Êœd" «bOÄ býUÐ t²ý«œ Áu@ 

ÈdOÖÅX*Ë —U" œ«bŽ« s¹« Êœd" lLł —UÐ b] ̈ rOýUÐ t²ý«b@ U¼ÅÊ¬ Êœ—Ë¬ XÝœÅtÐ È«dÐ výË— dÖ« Ë X5O@

∫rOM" «bOÄ «— VÝUM� ‘Ë— Uð rO5¹u@Åv� d~¹œ vI¹dÞÅtÐ «— tUU³@œ s¹« ÈU¼ÅtKLł Á—UÐËœ fÄ °XÝ«

 s?¹dLðµ∫«— œu?š ”b?Š —«œu?L?@ ÈÅt?�«œ« UÐ fáÝ Ë bO@eÐ ”bŠ «— r¼œ Uð r−MÄ ÈU¼ÅtKLł 

ÆbOM" g¹U�“¬

∫rO5¹uMÐ d¹“  —u]ÅtÐ «— U¼ÅtKLł s¹« rO@«uðÅv�

  = 75 +0× 50,Ë« tKLł     Ò‰

  = 75 +1× 50,Ëœ tKLł     ÒÂ

  = 75 +2× 50,uÝ tKLł    ÒÂ

  = 75 + 3 × 50,Â—UNÇ tKLł 

©V?O?ðd?ð® Á—U?Lý sOÐ «d¹“ rOM"Åv� «bOÄ «— VÝUM� ‘Ë— r" r" ¨rO¼œ t�«œ« VOðdð sOL¼ tÐ dÖ«

 œ«b?F?ð Ë U?¼ÅtKLłµ∞ œ«b?F?ð ¨t?K?L?ł d?¼ —œ v?M?F?¹ œu?ýÅv� Áb¹œ È«ÅtDÐ«— Ábý ÁœËe[« ÈU¼Åv@U�uð µ∞

v?²?š«œd?Ä r?O?@«u?ðÅv?� ¨ U?ŽöÞ« s¹« UÐ ÆXÝ« tKLł ÈÅÁ—ULý “« d²L" vJ¹ Ábý t‡[U{« ÈU‡¼Åv@U�u‡ð

 tÐ ¯—eÐÅ—œU� n«Ô∫rO@eÐ ”bŠ «— œuš ÈÅÁu@ sO�

  = 75 + (n −1) × 50 tKLł n«ÔÂ

Ë« ÈÅtKLł ÈUłÅ tÐ dÖ«Ò t" ‰∑µ ·dŠ XÝ« a ÈUłÅ tÐ Ë µ∞ ·dŠ dÅ±Å

«— ©tKLłËœ d¼ ·ö²š«® 

K" XUUŠ —œ «— vÐU5Š ÈÅtUU³@œ X*Ë ÅÊ¬ ̈ rO¼œ —«d*ÒÈÅtUU³@œ p¹ g¹UL@ d~¹œ ÊUOÐ tÐ U¹  °r¹«ÅÁœ«œ ÊUA@ v

± ‡‡d ÈÅtLK" ·dŠ sOUË« differenceÆXÝ« vU«u²� ÈÅtKLł Ëœ d¼ XÐUŁ ·ö²š« U¹ tK]U[ ÈUMF�ÅtÐ 

75

5075

75

75 50 50 50

50 50



≤∑

Ë« ÈÅtKLł UÐ vÐU�ŠÒ ‰a X³��—b� Ë d∫XÝ« sOMÇ 

a, a + d, a +2d, a + 3d, ..., a + (n −1)d, ...

 vMF¹n«ÔÈÅtDÐ«— “« vÐU�Š ÈÅt$U³�œ s¹« ÈÅtKLł sO&

  a + (n −1)d

ÆbM(Åv& “UO�ÅvÐ ÅÁbMM(Åq�(  U³ÝU×& “« «— U& t( XÝ« ÈdÐÅÊUO& Á«— s¹« Ë b¹¬Åv& XÝœÅtÐ

øœd( Ê«uðÅv& tÇ U¼ÅtKLł s¹« ŸuL−& ÈÅt³ÝU×& È«dÐ

łu?ð ôUÐ —«œuL� tÐÒ U?ð «—ÅÊ¬ ÆbOM( tn«Ô Ÿu?L?−?& ‰U³�œ tÐ bFÐ Ë rO¼œÅv& t&«œ« tKLł sO&ntKLł

Ë« ÈÅtKLł t( rOMOÐÅv& Ær¹œdÖÅv&Ò q&Uý ŸuL−& s¹« vMF¹ ¨XÝ« Ábý —«dJð U¼ÅtKLł œ«bFð tÐ ‰n Uð a

 öLł d~¹œ ·dÞ “« ÆXÝ«d ¨  2d ¨  3d ¨  (n −1)d...«— U& ŸuL−& “« vABÐ t( b�—«œ œułË eO�

t−O²�—œ ¨bM¼œÅv& qOJAð

    = S = na +1d +2d + 3d++(n −1)dU¼ÅtKLł ŸuL−& 

 “« bFÐ ÈU¼ÅtKLł tÐ dÖ«nałuð Ò —œ v~L¼ bOM( td “« —U( X$uNÝ È«dÐ rO�«uðÅv& Ë bM²�¼ „d²A& d

r¹dO~Ð —u²(UG

®±©S = na + 1+2+ 3+...+(n −1)[ ]d
 V¹d{d “« vFO³Þ œ«bŽ« ŸuL−& ± Uð   n −1 ÈÅtDÐ«— “« ÁœUH²Ý« UÐ Ë XÝ« ®¿ bMÐ—œ ©≤ ‡‡ ≤Ê«uðÅv& 

Xýu�  —uQ s¹« tÐ «— Ê¬

                                                    
dš¬ ÈÅtKLłÅ®+ ÈÅtKLł «Ë

ÒÅ 
U¼ÅtKLł œ«bFð ©Å‰

®≤©
,
 

  

S1 =
                                                            

2

U¹

                                                                      ,
  

S1 =
(n −1) 1+ (n −1)[ ]

2

U¹

  

S1 = (n −1)n
2

a

da

a

a

a

d

d

d

d

d

d dd

d



≤∏

® ÈÅtDÐ«— —œ «— ŸuL−& s¹«± V¹d{ ÈUł tÐ ©dr¹—Ë¬Åv& XÝœÅtÐ Ë rO¼œÅv& —«d� 

  

S = na +
(n −1)n

2





 d

® ÈÅtDÐ«—  —uQÅtÐ «— tDÐ«— s¹« rO�«uðÅv& U¹¬≤ ŸuL−& U¹¬ vMF¹ ør¹—ËUOÐ—œ ©nË« ÈÅtKLł Òp¹ ‰

Ë« ÈÅtKLł UÐ vÐU�Š ÈÅt$U³�œÒ ‰a X³�� —b� Ë d ÊUL¼ eO�   öLł œ«bFð nB
×ÈU¼ÅtKLł ŸuL−� 

dš¬ Ë ‰Ë«øœuýÅv& 

ôuLF&Ît?K?L?ł “« s?¹dG¬ qJA& q&«uŽ “« ¨„d²A& q&«uŽ dÐÅÁËöŽ ¨U¼Å —U³Ž Êœd( ÁœUÝ —œ 

—œ Æb?¹¬—œ s?JL& qJý s¹dðÅÁœUÝÅtÐ Áb&¬ XÝœÅtÐ ÈÅtDÐ«— Uð r¹dOÖÅv& —u²(UG ÊUJ&« bŠ Uð eO� U¼d�(

rOM(Åv& sOMÇ r¼ œ—u& s¹«

®≥©Å

  

S =
n
2

2a + (n −1)d[ ]

® ÈÅt?D?Ð«— t?Ð t?D?Ð«— s?¹«≤ö?³?� ÆX?Ý« p?¹œe?� —U?O?�?Ð ©Î ÈÅt?K?L?ł t?( r?¹œu?Ð Áb¹œ n«ÔÈÅt?$U?³?�œ p?¹ Â

v?ÐU?�Š  a + (n −1)d�œ v?L?( U?Ð ÆXÝ« Ò® —œ X≥łu?²?& ©Òd?Ö« t?( r?¹u?ýÅv& t  2a —u?QÅtÐ «— a + a

® l�«Ë—œ ¨rO�¹uMÐ≤r¹«ÅÁœ—Ë¬ XÝœÅtÐ «— ©

                                                         
U¼ÅtKLł œ«bFð                                        

    

S =
n
2



a[


+ a + (n −1)d]
  

 ,

Ë«ÅÅÈÅtKLł   dš¬ ÈÅtKLł                                                                                               Ò‰

vMF¹

                                           
dš¬ ÈÅtKLłÅ® +ÅÅÅ« ÈÅtKLł Ë

Ò
U¼ÅtKLł œ«bFð ©Å‰ÅÅÅ

  

S =
                                                            

2

  

S =
n
2

(a + l
1

)

QUš ÈU¼ÅX$UŠ U¼ÅÊ¬ t( rOMOÐÅv& ¨r¹œdÖ“UÐ U¼ÅqÖ œ«bFð lLł Ë ”uÖ ÈÅt$Q�& tÐ Á—UÐËœ dÖ«Òv

 U¼ÅÊ¬ —œ t( b�œuÐ vÐU�Š ÈU¼Åt$U³�œ“«d œbŽ ̈ X³�� —b� vMF¹ ̈  ±Ë« ÈÅtKLł Ë Ò eO� ‰±‰UŠ s¹« UÐ ÆœuÐ 

ÆbM¹¬Åv& XÝœÅtÐ v�U�J¹ ÈÅtDÐ«— UÐ v¹U¼ t$U³�œ sOMÇ ŸuL−& Ë b�—«œ ÊU�J¹ XO¼U& v~L¼

± ‡‡l ÈÅtLK( ‰Ë« lastÆXÝ« 



≤π

 s¹dLð∂∫łuð UÐ Ò ŸuL−� ̈ ”uÖ t� výË— tÐ tnË« ÈÅtKLł Ò¨œ—Ë¬ XÝœÅtÐ «— vFO³Þ ÈÅt�U³4œ ‰

 ŸuL−�nË« ÈÅtKLł Ò X³\4 —b[ UÐ vÐU\Š ÈÅt�U³4œ ‰dË« ÈÅtKLł Ë Ò ‰aXÝœÅtÐ «— 

® ÈÅtDÐ«— UÐ «— t−O²4 fáÝ Æb¹—Ë¬≤ÆbOM� t\¹UI� ©

Ë œuÐ X³¦� U¼ÅÊ¬ X³\4 —b[ t� v¹U¼Åt�U³4œ vMF¹ ¨r¹bý UMý¬ vA¹«e�« vÐU\Š ÈU¼Åt�U³4œ UÐ U−M¹«

�« Æb?ýÅv?� d²AOÐ vK³[ ÈÅtKLł “« tKLł d¼Òv?ÐU?\?Š ÈÅt�U³4œ ÈU¼ÅtKLł v¼UÖ Ë X\O4 sOMÇ tAOL¼ U

łuð d¹“ ‰U¦� tÐ ÆbMÐU¹Åv� g¼U� v²ÐUŁ Ê«eO�ÅtÐÒ∫bOM� t

∫‰U¦: Á—öÖ d¼«uš ±µJÝ Ò ÈÅt≤µâÐ “« p¹d¼ tÐ b¼«ušÅv� Ë œ—«œ v4U�uð Ò“« dðÅpÇu� ÈU¼Åt

J?Ý Ëœ q?O�U� —œ œušÒO?F?{Ë Æœ—«œ t?~?4 ‘œu?š È«dÐ eO4 «— tJÝ tÝ Ë b¼bÐ ÈbOŽ tÒÈœu?łu� X

b4“UÝÅv� «— d¹“ vÐU\Š ÈÅt�U³4œ ¨ÈbOŽ Êœ«œ “« bFÐ Ë q³[ Á—öÖ d¼«uš

∑µ ±≤µ , ±∑µ , ≤≤µ , ≤∑µ , ,≥≤µ , ≥∑µ

 œb?Ž ¨t?�U?³?4œ s?¹« X?³?\?4 —b[ ¨bOM�Åv� Áb¼UA� t�—uÞÅÊUL¼
  
−50d?¹“  —u??ÅtÐ Ê¬ —«œuL4 Ë XÝ« 

∫XÝ«

{
{
{
{
{
{

 ¨X?ÐU?Ł —«b?I?  dÖ« ¨vÐU(Š ÈÅt�U³�œ —œX?³¦�v?²?ÐU?Ł ÈÅÁ“«b?�«ÅtÐ t�U³�œ ÈU¼ÅtKLł ¨býUÐ 

 ¨XÐUŁ —«bI  dÖ« Ë bMÐU¹Åv  g¹«e'«vHM�g¼U� v²ÐUŁ ÈÅÁ“«b�« tÐ t�U³�œ ÈU¼ÅtKLł ¨býUÐ 

ÆbMÐU¹Åv 



≥∞

s¹dLð

±∫bOM� dÄ d¹“ vÐUPŠ ÈU¼Åt�U³4œ —œ «— v�Uš ÈU¼Uł ‡‡

 
  
10 50n�«Å®

  
  
10 50ÅÅ»®

  
  
10 50ÛÅ®

   
  
10 50 Å®

   
  
10 50ÀÅ®

≤«b?OÄ «— U¼ÅÊ¬ X³P4 —bG Ë Áœd� ÂuKF� «— U¼ÅÊ¬ øbM²P¼ vÐUPŠ d¹“ ÈU¼Åt�U³4œ “« pO�«b� ‡‡

ÆbOM�ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

 ÆÆÆ∏¥ , ∂¥ , ¥¥ , ≤¥ , ,Å¥n�«®

 ì¥∏ , ≤¥ , ±≤ , ∂ , ≥ ,»®

ìµ , µ ,  µ , µ , µ ,Û®

 ì±∞∞ ,∞∞∞ , ±∞∞∞∞ , ±∞∞∞ , ±∞∞ , ±∞ , ®

ì,ì≥∞ , ≤∂ , ≤≥ , ≤± , ,Å≤∞À®

 ì±± , ±≤ , ±≥ , ±¥ , ±µ ,Ã®

≥ ŸuL−� ‡‡±µ« ÈÅtKLł Ë
Ò

 s¹dLð vÐUPŠ ÈU¼Åt�U³4œ Å‰≤Æ bOM� »UPŠ «— 

¥∫b¹dO~Ð dE4—œ «— ËdÐË— vÐUPŠ t�U³4œ ‡‡ ì±∑ , ±≥ , π ,Å ,
ÅµÅ,

Å ±

 —œ «— Ê¬ tKLł d¼ Ë     ≤ÈÅt�U³4œ ÆbOM� »d{  ì≥¥ , ≤∂ , ±∏ , ≤ ,±∞ ,

Æb¹¬Åv� XÝœÅtÐ     

øXÝ« vÐUPŠ ÈÅt�U³4œ p¹ eO4 q?UŠ ÈÅt�U³4œ U¹¬ ©n�«

t?A?O?L?¼ q??U?Š ÈÅt?�U?³?4œ U¹¬ ¨rOM� »d{ œbŽ p¹ —œ «— vÐUPŠ ÈÅt�U³4œ ÈU¼ÅtKLł dÖ« ©»

ø«dÇ øbý b¼«uš vÐUPŠ ÈÅt�U³4œÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

µ Ÿu?L?−� ‡‡ µ∞« ÈÅt?KLł Ë
Ò

 v?ÐU?P?Š ÈÅt?�U³4œ p¹ Å‰≤∞∞ Ÿu?L−� Ë µ∞Ê¬ Èb?F?Ð ÈÅtKLł 

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ≤∑∞∞« ÈÅtKLł ¨XÝ« Ë
Ò

ÆbOM� «bOÄ «— t�U³4œ s¹« Å‰

∂F� —œ ‡‡Ò XO�U±Ë býU³4 vKÖ êO¼ dH? n¹œ— —œ vMF¹ ∫bOM� t�U{« U¼ÅqÖ tÐ «— dH? n¹œ— ¨

 n¹œ— —œ± n?¹œ— —œ U?ð V?Oðdð sOL¼ tÐ Ë qÖ p¹ ∑—U?ÐÅs?¹« ÆœdOÖÅv� —«dG qÖ XH¼ t� 

q?J?ý s?¹« X?ŠU?P?� t?Ð t?łu?ð U?Ð «— U?¼Åq?Ö œ«bFð øœ“UÝÅv� vKJý tÇ U¼ÅqÖ ÊbOÇ VOðdð



≥±

Æb¹—Ë¬ XÝœÅtÐ

∑ŸuL−� ‡‡ 
±

 µ« ÈÅtKLł Ë
Ò

 vÐU\Š ÈÅt�U³4œ p¹ Å‰±∞∞XH¼ dðÅ¯—eÐ ÈÅtKLł tÝ ŸuL−� Ë 

X³\4 —b[®ÆbOM� «bOÄ «— t�U³4œ s¹« ÈU¼ÅtKLł ÆXÝ« dðÅpÇu� ÈÅtKLł Ëœ ŸuL−� dÐ«dÐ

©œuý ÷d� X³¦�

≤‡‡¥vÝbM¼ ÈÅt�U³
œ ‡‡

F�Ò XO�U≤‡‡≥

r?¼ Ë b?M?� s?O?�Q?ð «— œu?š q?O?B?×?ð ÈÅt?M¹e¼ r¼ b4«u²Ð Uð XAÖÅv� v³ÝUM� qGý ‰U³4œ tÐ ULO4

—œ Ë« ¨b?ýU?Ð t?²ý«œ Êb4«uš ”—œ È«dÐ v�U� X?d� sL{ —œ ¨œd³Ð ôUÐ «— œuš vKGý ÈU¼Å —UN�

∫œuÐ t²ýu4 t� œU²�« ‘«Åt[öŽ œ—u� qGý ÈÅÁ—UÐ—œ vNÖ¬ p¹ tÐ gLAÇ ̈ t�U4“Ë— ÈU¼ÅÈbM�“UO4 ÈÅt×H?

»u?š œe?L?²Ýœ »uš —U� È«dÐ Ær¹bM�“UO4 dE4 œ—u� ÈÅtMO�“ —œ d¼U� Ë ”UMýÅÅÅÅtHOþË Ê«uł p¹ tÐò

Ë« “Ë— Ær?O¼œÅv�ÒÆr?O?M?�Åv?� d?Ð«d?ÐËœ «— ULý œeL²Ýœ “Ë— d¼ ¨ÁU� ÊU¹UÄ Uð fáÝ Ë ‰U¹— p¹ ULý tÐ ‰

åÆbM¹UL4 tFł«d� ì ”—œ¬ tÐ d³²F� ÈÅt�U4Åv�dF� p¹ Ë „—«b� s²ý«œ XÝœ —œ UÐ ÊUO{UI²�

« ULO4Ë
Ò

œeL²Ýœ “« Å‰


�« °X�dÖ ‘«ÅÁbMš Ábý Áœ«œ ÁbŽË ÒÈËUJ−M� ÈË— “« tE×� bMÇ “« fÄ U

v?Ý—d?Ð t?Ð ¨U?LO4 Á«dL¼ tÐ r¼ U� Æb¹UL4 t³ÝU×� «— ÁU� p¹ b�¬—œ X�dÖ rOLBð ¨v�dÖdÝ Ê«uMŽ tÐ Ë

bO�Qð UÐ Uð r¹“«œdÄÅv� Ábý Áœ«œ ÁbŽË ÈÅt4U¼U� b�¬—œ Ë t4«“Ë— ÈU¼œeL²Ýœ ÈÅt³ÝU×� nK²E� ÈU¼ÅÁ«—

œ— œUNMAOÄÒ°rO¼bÐ Ë« tÐ «— qGý s¹« ‰u³[ U¹ 

Êœ—Ë¬ X?Ýœ tÐ È«dÐ q³[ “Ë— œeL²Ýœ Êœd� dÐ«dÐËœ ¨bÝdÐ s¼– tÐ t� v¼«— s¹dðÅvFO³Þ b¹Uý

 U?ð Ê¬ t�«œ« Ë bFÐ “Ë— œeL²Ýœ≤π ¨ ≥∞ U¹ ≥±b?ýUÐ ©‰UÝ nK²E� ÈU¼ÅÁU� ÈU¼“Ë— œ«bFð® “Ë— 
≤

U¹¬ ¨

Á«— Ë r?O?A?¹b?MOÐ È«ÅÁ—UÇ rO4«u²Ð b¹Uý øbÝ—Åv� dE4 tÐ ‰uIF� v²š«uMJ¹ —U� sOMÇ È«dÐ X[Ë ·d?

ÐÅÊUO� Á«— s¹« s²�U¹ È«dÐ ‘öð —œ ÆrOM� «bOÄ  U³ÝU×� s¹« ÂU−4« È«dÐ ÈdÐÅÊUO�
Ô

X�«dþ Ë  —b[ UÐ ¨d

œ— U¹ ‰u³[®  —u? Ëœ d¼ —œ «d¹“ ¨r¹uýÅv� UMý¬ d²AOÐ v{U¹—Òr¹«ÅÁœd� ·d? t� v²[Ë “« ©œUNMAOÄ 

U� È«dÐ È«Åt4UNÐ vNÖ¬ s¹« l[«Ë —œ Ær¹«ÅÁbý UMý¬ d²AOÐ t�Q\� —U²šUÝ UÐ t� «dÇ ¨bý rO¼«uE4 ÊULOAÄ

± ¨UO�uÄ “« t²�dÖdÐ ‡‡±π∂≤ÆXÝ« Ábý t²�dÖ ÊU²ÝUÐ dB� —œ bM¹«— ”ËdOÄUÄ “« t�Q\� q?« t� 

≤ÆbOM� ÁœUH²Ý« »U\ŠÅsOýU� “« bO4«uðÅv� ‡‡



≥≤

Ær¹dO~Ð œU¹ Èdðb¹bł ÈU¼eOÇ Uð bý b¼«uš

ÁU� ÊU¹UÄ Uð fáÝ Ë býUÐ ‰U¹— p¹ Ê¬ ‰Ë« “Ë— œeL²Ýœ t� bM� œUNMAOÄ ULý tÐ vKGý v\� dÖ«

øbOM�Åv� œ— U¹ b¹d¹cÄÅv� «— qGý U¹¬ ¨œuý dÐ«dÐËœ “Ë— d¼  œeL²Ýœ s¹«

Xý«œœU¹ Ê¬ —œ «— t4«“Ë— ÈU¼œeL²Ýœ Ë rOM� tONð v�Ëbł rO4«uðÅv� ‰«RÝ s¹« aÝUÄ s²�U¹ È«dÐ

ÆrOM� Ê¬ ·d? «— ÈœU¹“ X[Ë t� rOýU³4 —u³−� Ë rO¹UL4 «bOÄ —U� ÈÅt�«œ« È«dÐ v¹u~�« ÆrOM�

UÐ Ë rOM� «bOÄ v³ÝUM� Èu~�« b¹Uý ¨r¹“«œdÄÅv� Ê¬ vÝ—dÐ tÐ rO¼œ t�«œ« «— ‰Ëbł t�ÅÊ¬ “« q³[

Ær¹uý “UO4ÅvÐ —U� s¹« ÈÅt�«œ« “« ¨Ê¬ Êœd� ‰U³4œ

[œ UÐÒ® ‰Ëbł —œ X±łu²� ̈ ©ÒËœ Êu²Ý —œ t4«“Ë— ÈU¼œeL²Ýœ t� r¹uýÅv� tÒ ÈU¼ÅÊ«uð Â≤bM²\¼ 

 ÈU¼ÅÊ«uð Ë ÁU� ÈU¼“Ë— sOÐ eO4 È«ÅtDÐ«— Ë≤s¹«dÐUMÐ Æœ—«œ œułË Êu²Ý Ê¬ —œ U¼ÅÊ¬ dOE4 n¹œ— —œ 

® ‰Ëbł≤ÆÅrO¼œÅv� qOJAð «— ©

ÁU: ÈU¼“Ë—t
«“Ë— œeL²Ýœ

±±

≤  1×2=2

≥  2×2=4

¥  4×2= 8

µ  8×2=16

∂  16×2= 32

 ‰Ëbł®±©

ÁU: ÈU¼“Ë—t
«“Ë— œeL²Ýœ

±
  1=2

0

≤
  2=2

1

≥
  4=2

2

¥
  8 =2

3

µ
  16=2

4

∂
  32=2

5

 ‰Ëbł®≤©
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 s¹dLð∑∫”b?Š ¨‰Ëbł ÈÅt�«œ« UÐ fáÝ ÆbO4eÐ ”bŠ ‰Ëbł ÈË— “« «— r¼œ “Ë— œeL²Ýœ 

ÈU¼“Ë— œeL²Ýœ ̈ œuš ”bŠ v²Ý—œ “« ÊUMOLÞ« “« bFÐ Æb¹—«c~Ð g¹U�“¬ tÐ«— œuš

«ÅvÝ ¨rN4 Ë X\OÐÔÆbOM� «bOÄ «— rJ¹ ËÅvÝ Ë Â

«ÅvÝ ¨rN4 Ë X\OÐ ÈU¼“Ë— ÈU¼œeL²Ýœ t� ôUŠÔrO4«uðÅv� ¨r¹œ—Ë¬ XÝœÅtÐ r¼ «— rJ¹ÅvÝ Ë Â

 Á«uE�œ œbŽn ÈËU\� U¹ dðÅpÇu� ≥±Áb�¬ XÝœÅtÐ ÈÅtDÐ«— Ë rOM� »UE²4« “Ë— ÈÅÁbM¹UL4 Ê«uMŽ tÐ «— 

® ‰Ëbł “«≤® ‰Ëbł t� ¨rO\¹uMÐ Á—UÐËœ «— ©≥ÆÅb¹¬Åv� XÝœÅtÐ ©

[œ UÐÒ® ‰Ëbł —œ X≥ÈÅtDÐ«— “« “Ë— d¼ œeL²Ýœ t� r¹bý s¾LD� Ë bý q¹b³ð sOI¹ tÐ U� ”bŠ ©

ò≤ å“Ë— Ê¬ “«d?²L' vJ¹ Ê«uð tÐ “Ë— œe?L²Ýœ ¨‰Ëbł ÈÅt�«œ« UÐ Æb¹¬Åv� XÝœÅtÐ n«Ô® ÂnÈœbŽ 

® ‰Ëbł —œ t� ¨rOM�Åv� vMOÐÅgOÄ «— ©vFO³Þ¥ÆÅXÝ« Áb�¬ ©

 “Ë—n =t
«“Ë— œeL²Ýœ

      ‰Ë«±
  2

0 = 2
1−1 = 2

n−1

      ÂËœ≤
  2

1 = 2
2−1 = 2

n−1

     ÂuÝ≥
  2

2 = 2
3−1 = 2

n−1

   Â—UNÇ¥
  2

3 = 2
4−1 = 2

n−1

     r−MÄµ
  2

4 = 2
5−1 = 2

n−1

    rAý∂
  2

5 = 2
6−1 = 2

n−1

 ‰Ëbł®≥©

 ‰Ëbł®¥©

“Ë—       nt
«“Ë— œeL²Ýœ

‰Ë« “Ë—±
  2

0

ÂËœ “Ë—≤
  2

1

ÂuÝ “Ë—≥
  2

2

Â—UNÇ “Ë—¥
  2

3

  



  



r¼œ“U¹ “Ë—±±
  2

11−1 = 2
10

  



  



rN4 Ë X\OÐ “Ë—≤π
  2

29−1 = 2
28

«ÅvÝ “Ë—ÔÂ≥∞
  2

30−1 = 2
29

rJ¹ ËÅvÝ “Ë—≥±
  2

31−1 = 2
30

e??O?4 È—«œu?L?4  —u?? t?Ð «— t?�Q?\?� s?¹«

Æœ«œ ÊUA4 Ê«uðÅv�

‰Ëbł ÈÅtDÐ«— s¹dš¬ s²\4«œ UÐ t� œuýÅv� Áb¹œ

®¥ œeL²Ýœ vMF¹ ̈ ©n«ÔœeL²Ýœ rO4«uðÅv� ̈ “Ë— sO�

r¹—Ë¬ XÝœÅtÐ ¨rO¼«uEÐ t� «— È“Ë— d¼



≥¥

ÈU?¼œe?L?²?Ýœ ÈÅÁb¼UA� UÐ t� XÝU−M¹« V�Uł ÈÅt²J4

® ÈÅtDÐ«— ¨nK²E� ÈU¼“Ë—±ôUŠ Ë rO²�dÖ t−O²4 «— ©

ÂU?−?4« ÊËb?Ð r?O4«uðÅv� ¨vK� ÈÅt−O²4 s¹« “« ÁœUH²Ý« UÐ

ÊUL¼ s¹« ÆrOM� «bOÄ «— t4«“Ë— œeL²Ýœ ̈ vK³[  U³ÝU×�

°rO²AÖÅv� g�U³4œ tÐ t� œuÐ v{U¹— X�«dþ Ë  u[

®±                ©  = 2
n−1

 œeL²Ýœ n«Ô“Ë— sO�

 s?¹dLð∏∫O?�U?F?� n?K?²E� qŠ«d� sOÐ ÈÅtDÐ«— Ò® X≤‡‡≥È«d?I?²?Ý« U?Ð «— v?¹UN4 ÈdOÖÅt−O²4 Ë ©

ÆbOM� vÝ—dÐ vłU²M²Ý« ‰ôb²Ý« Ë vÐd−ð

 s?¹d?Lðπ ∫ÊU?�u?ð Ë ‰U?¹— V?\?Šd?Ð «— r?J?¹ Ë v?Ý Ë Â«Åv?Ý ÈU?¼“Ë— œe?L²Ýœ v³¹dIð —«bI� 

q?¹ôœ tÐ “uM¼ U¹ bOM� pL� ULO4 tÐ ÈdOÖÅrOLBð —œ bO4«uðÅv� U¹¬ Æb¹—Ë¬ XÝœÅtÐ

øb¹bM�“UO4 Èd²AOÐ

 XO�UF�≤‡‡¥

XO�UF�—œ≤‡‡≥s?¹« U?Ð Ær¹œd� vÝ—dÐ «— t�U4“Ë— vNÖ¬ —œ ÈœUNMAOÄ qGý ÈÅt4«“Ë— œeL²Ýœ ¨

Þ« t4U¼U� b�¬—œ “« “uM¼ ̈ ‰UŠÒ® ‰Ëbł qOLJð UÐ fÄ Ær¹—«b4 XÝœ —œ v²Ý—œ Ÿö± ÈÅt×H? ©≥≤tÐ ̈

 —œ b�¬—œ sOOFð È«dÐ v³ÝUM� Èu~�« b¹Uý Uð r¹“«œdÄÅv� U¼b�¬—œ ÈÅtF�UD�n«ÔÆrOÐUOÐ “Ë— sO�

® ‰Ëb?ł —œ X?[œ U?Ðµ s?O?Ð È«Åt?D?Ð«— œu?łË ÊU?J?�« ¨©n “Ë— ÊU?¹U?ÄU?ð b?�¬—œ Ë n«Ôv?Ý—dÐ «— Â

∫rOM�Åv�

“Ë—n “Ë— œeL²Ýœn«ÔÂ “Ë— ÊU¹UÄUð b:¬—œn«Ô©U¼œeL²Ýœ ŸuL−:®Â

‰Ë« “Ë—±
  2

0 =1±

ÂËœ “Ë—≤
  2

1 = 2  1+2 = 3

ÂuÝ “Ë—≥
  2

2 = 4  1+2+ 4 = 7

Â—UNÇ “Ë—¥
  2

3 = 8  1+2+ 4+ 8 =15

r−MÄ “Ë—µ
  2

4 =16  1+2+ 4+ 8 +16 = 31

rAý “Ë—∂
  2

5 = 32  1+2+ 4+ 8 +16+ 32 = 63

  



  



  



  



 ‰Ëbł®µ©
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® ‰Ëbł tÐ tłuð UÐ∂«— ©Åt4U¼U� b�¬—œÅ® U¼œeL²Ýœ ŸuL−� Êœd� «bOÄ v�uLŽ ÈÅtDÐ«— rO4«uðÅv� ©

∫rOM� vMOÐÅgOÄ

®≤©           = 2n −1t4U¼U� b�¬—œ 

“Ë—n “Ë— œeL²Ýœn«ÔÂ “Ë— ÊU¹UÄUð b:¬—œ   n«Ô©U¼œeL²Ýœ ŸuL−:®Â

‰Ë« “Ë—±
  2

0 =0= 2
1−1

  1= 2
1 −1

ÂËœ “Ë—≤
  2

1 = 2 = 2
2−1

  1+2 = 3 = 2
2 −1

ÂuÝ “Ë—≥
  4 = 2

2 = 2
3−1

  1+2+ 4 = 7 = 2
3 −1

Â—UNÇ “Ë—¥
  8 = 2

3 = 2
4−1

  1+2+ 4+ 8 =15 = 2
4 −1

r−MÄ “Ë—µ
  16 = 2

4 = 2
5−1

  1+2+ 4+ 8 +16 = 31= 2
5 −1

rAý “Ë—∂
  32 = 2

5 = 2
6−1

  1+2+ 4+ 8 +16 = 32 = 63 = 2
6 −1

  



  



  



«ÅvÝ “Ë—ÔÂ≥∞
  2

30 −1

 ‰Ëbł®∂©

 s?¹d?Lð±∞ ∫U?L?O?4 t?Ð ¨q?O?�œ U?Ð Ë b?¹—Ë¬ X?ÝœÅt?Ð r?J¹ ËÅvÝ Ë Â«ÅvÝ “Ë— —œ «— v³¹dIð b�¬—œ

°bO¹u~Ð ÈœUNMAOÄ qGý œ— U¹ ‰u³[ œ—u� —œ «— œuš lÞU[ rOLBð

® ‰Ëbł∂ÐÅÊUO� t� œd� pL� U� tÐ ©Ô® ÈÅtDÐ«— “« ÁœUH²Ý« UÐ UNMð Ë Êœd� lLł ÊËbÐ Ë rO4eÐ d≤¨©

ÆÅr¹—Ë¬ XÝœÅtÐ «— t4«“Ë— ÈU¼œeL²Ýœ ŸuL−�

 s¹dLð±± ∫® ÈÅtDÐ«— “« U¹¬ ≤t� r¹dO~Ð t−O²4 rO4«uðÅv� ©

ÅÅÅ           ×2) −1 “Ë— œeL²Ýœ n«ÔÂ= ( “Ë— ÊU¹UÄ Uð b�¬—œ n«ÔÂ

łuð UÐ «— t−O²4 v²Ý—œ                Ò® ‰Ëbł tÐ t∂® ÈÅtDÐ«— Ë ©≤ÆbOM� vÝ—dÐ ©

g?¹«e�« t� rOMOÐÅv� ¨rO\¹uMÐ dDÝ p¹ —œ «— U¼ÅÊ¬ Ë rO�UMÐ tKLł p¹ «— “Ë— d¼ œeL²Ýœ dÖ«

b¹¬Åv� XÝœÅtÐ vK³[ tKLł Êœd� dÐ«dÐ Ëœ UÐ tKLł d¼ vMF¹ ¨œ—«œ v²ÐUŁ X³\4 U¼ÅÊ¬

 ¨ì∂¥ ¨Å≥≤ ¨Å±∂ ¨Å∏ ¨Å¥ ¨Å≤ ¨Å±

 ÈU¼ÅÊ«uð ÈÅt�U³4œ ©œ«bŽ«® U¼ÅtKLł s¹«≤ÆbM¼œÅv� qOJAð «— 

O?�UF� —œ U¼œeL²Ýœ Êœd� «bOÄ ‘Ë— “« rO¼«ušÅv� ‰UŠÒ«— t?�Q?\� Ë rOM� ÁœUH²Ý« vK³[ ÈU¼ÅX

Ë« “Ë— È«dÐ å‰U¹— p¹ò ÈœUNMAOÄ œeL²Ýœ ÈUł tÐ ¨qO�œ sOL¼ tÐ ÆrO¼œ rOLFðÒ —«bI� ‰aÈUł tÐ Ë 

  2
30−1
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 ¨åÊb?ý d?Ð«d?ÐËœòr ±

 ◊d?ý U?Ð Êb?ý d?Ð«d?Ð r ÈU?ł t?Ð Ë  p?¹ “« d?ðÅ¯—e?Ð ≥∞ ¨“Ë— nd?E?4—œ «— “Ë— 

 œuÐ b¼«uš sOMÇ Â«bE²Ý« vNÖ¬ dOOGð Ær¹dOÖÅv�“Ë— œeL²Ýœ t� bM� œUNMAOÄ vKGý ULý tÐ v(� dÖ« ò

Ë«Ò Ê¬ ‰a!uð ÊËbÐ œeL²Ýœ s¹« Ë býUÐ Ò “Ë— d¼ nr È«dÐ «— Â«b?²Ý« œUNMAOÄ U¹¬ ¨œuý dÐ«dÐ n“Ë— 

åøbOM�Åv  œ— U¹ b¹d¹cÄÅv 

® ‰Ëbł ¨ «dOOGð s¹« s²�dÖ dE4—œ UÐ¥ ‰Ëbł® rOM�Åv� È“UÝÅÁ—UÐËœ «— ©∑Æ©

“Ë—      n t
«“Ë— œeL²Ýœa g¹«e�« X³9
 ¨r

‰Ë« ÈÅtKLł±
  ar0 = a

ÂËœ ÈÅtKLł≤
  ar = ar1

ÂuÝ ÈÅtKLł≥
  (ar)r = ar2

Â—UNÇ ÈÅtKLł¥
  (ar2 )r = ar3

r−MÄ ÈÅtKLłµ
  (ar3 )r = ar4

  



  



  



  



 ÈÅtKLłn«ÔÂn

 ‰Ëbł®∑©

 tKLł tÐn«Ô ¨Âv:uLŽ ÈÅtKLł UÐ «— Ê¬ Ë œuýÅv� t²HÖ tbM¼œÅv� g¹UL4 

  : t = arn−1
 v:uLŽ tKLł

® ‰Ëbł ÈU¼œeL²Ýœ∑∫rO\¹u4Åv� dDÝ p¹ —œ U¼“Ë— VOðdð tÐ «— ©

    a,ar,ar2,ar3 ,ar4 ,,ar29,,arn−1


 vMF¹ dH?dOž v�«u²� ÈÅtKLł Ëœ d¼ sOÐ X³\4 Ë bM¼œÅv� vÝbM¼ ÈÅt�U³4œ p¹ qOJAð U¼ÅtKLł s¹«r¨

 «— XÝ« XÐUŁ t�X³9
 —b1ÆbM¹uÖÅv�   (a  0)

± ‡‡rË« Ò ÈÅtLK� ‰ratio ÈU?ł t?Ð ¨vL¹b[ ÈU¼Å»U²� —œ ÆXÝ« X³\4 vMF�ÅtÐ r “« qË« t� Ò sOðô ÈÅtLK� ‰quitientXÝ« 

Æb4œd�Åv� ÁœUH²Ý«

 —œ vK³! ÈÅtKLł »d{ “« vÝbM¼ ÈÅt�U³�œ p¹ “« tKLł d¼XÐUŁ —«bI� p¹XÝœÅtÐ 

 b?ýU?Ð p?¹ “« d?²Ö—eÐ XÐUŁ —«bI  dÖ« ¨‰Ë« ÈÅtKLł ÊœuÐ X³¦  ÷d' UÐ Æb¹¬Åv t?+U³½œ

 vA¹«e�« ¨býUÐ p¹ “« d²JÇu� XÐUŁ —«bI  dÖ« Ë vA¼U� t+U³½œÆœuÐ b¼«uš

  



  



  arn−1



≥∑

® ‰Ëb?ł —œ t� —uÞÅÊUL¼∂Ÿu?L−� ¨“Ë— d¼ ÊU¹UÄ —œ b�¬—œ q� Êœ—Ë¬ XÝœÅtÐ È«dÐ ¨r¹b¹œ ©

Ë« “Ë— ÈU¼œeL²ÝœÒÐÅÊUO� Á«— Ë rO¼œÅv� t�«œ« «— b4Ë— ÊUL¼ Ær¹œd� t³ÝU×� «— “Ë— Ê¬ Uð ‰ÔÈ«dÐ Èd

 Ÿu?L?−� Êœd� «bOÄnË« ÈÅt?KLł Ò ‰Ë« ÈÅt?K?L?ł U?Ð vÝbM¼ ÈÅt�U³4œ p¹ ‰a X?ÐUŁ —«bI� Ë ru?−²\ł 

∫rOM�Åv�

®≥ÅÅ Å  ©
    
= a + ar + ar2 + ar3 +  + arn−2 + arn−1

 ŸuL−� nvÝbM¼ ÈÅt�U³4œ p¹ ‰Ë« ÈÅtKLł 

 XO�UF�≤ ‡‡µ

 ŸuL−� Êœ—Ë¬ XÝœÅtÐ È«dÐ t� «— È«ÅÁuOý Ëœ d¼n–U?Eð« vÐU\Š ÈÅt�U³4œ p¹ ‰Ë« ÈÅtKLł 

 ŸuL−� Êœd� «bOÄ œ—u� —œ ¨b¹œd�nË« tKLł ÒÈ«Åt−O²4 tÐ U¹¬ Æb¹d³Ð —U� tÐ eO4 vÝbM¼ ÈÅt�U³4œ p¹ ‰

t?−?O?²?4 ød?O?š U¹ b¹d³Ð —U�ÅtÐ r¼ œ—u� s¹« —œ ‘Ë— p¹ Ê«uMŽ tÐ bO²\4«uð «— U¼ÅÁuOý Ê¬ U¹¬ øb¹bOÝ—

ÆbOM� vÝ—dÐ «— Áb�¬ XÝœÅtÐ

 Êœd� «bOÄ œ—u� —œ t� —uÞÅÊUL¼nË« ÈÅtKLł Òs¹« dÐ U� vFÝ ̈ b¹œd� tEŠö� vÐU\Š ÈÅt�U³4œ ‰

Èd²AOÐ XOK� Ë d²L� È«eł« t� rOM� «bOÄ È«ÅtDÐ«— Ë rOMJÐ r� «— U¼Å‰uN−� œ«bFð ̈ ÊUJ�« bŠ Uð t� œuÐ

[œ UÐ ÆbýUÐ t²ý«œÒ® ÈÅtDÐ«— —œ X≥® ÈÅtDÐ«— dÖ« t� rOMOÐÅv� ©¥ »d{ “« «— ©r® —œ ≥¨r¹dO~Ð t−O²4 ©

® UÐ dOš« ÈÅtDÐ«— ÈU¼ÅtKLł “« È—UO\Ð≥bM²\¼ tÐUA� ©

  
Sn = a + ar + ar2 + ar3 +...+arn−2 + arn−1

®¥©  
  
Snr = ar + ar2 + ar3 + ar4 +...+arn−1 + arn

® Êœd�År� UÐ≥® “« ©¥ ©ÈU¼ÅtKLłXÝ« sOMÇ b4U�Åv� v[UÐ t� tÇÅÊ¬ Ë b4uýÅv� ·cŠ tÐUA� 

®µ©Snr − Sn = arn − a

 ̈ U� ‰uN−� ÊuÇSn ŸuL−� vMF¹ ̈nË« ÈÅtKLł ÒÈdOÖ—u²�U� UÐ t−O²4 —œ ̈ œuÐ vÝbM¼ ÈÅt�U³4œ p¹ ‰

 „d²A� q�UŽ “«Sn Ë a® ÈÅtDÐ«— XLÝ Ëœ —œ µ —«bI� ¨©Snr¹—Ë¬Åv� XÝœÅtÐ «— 

  
Sn (r −1) = a(rn −1)

U¹

®∂©

  

Sn =
a(1− rn )

1− r
 U¹ 

  

Sn =
a(rn −1)

r −1



≥∏

 s¹dLð±≤∫ ŸuL−� µ∞ ‰Ë« ÈÅtKLł UÐ vÝbM¼ ÈÅt�U³4œ p¹ ‰Ë« ÈÅtKLł ¥ X³\4 —b[ Ë ≥«— 

Æb¹—Ë¬ XÝœÅtÐ

 s¹dLð±≥∫łuð UÐ Ò ÈÅtKLł U¹ v�uLŽ ÈÅtKLł tJM¹« tÐ tn«ÔUÐ XÝ« dÐ«dÐ vÝbM¼ ÈÅt�U³4œ p¹ Â

  arn−1
 ÈÅtDÐ«— ¨®Å∂ÆbO\¹uMÐ v�uLŽ ÈÅtKLł V\ŠdÐ «— ©

 XO�UF�≤‡‡∂

 ¨ì vÝbM¼ ÈÅt�U³4œ s¹« X³\4 —b[ ‡‡ n�«¥\¥\¥\¥ªbOM� «bOÄ «— 

® ÈÅtDÐ«— “« ÁœUH²Ý« UÐ ‡‡ »∂ ŸuL−� bOM� vFÝ ©nË« ÈÅtKLł ÒÆb¹—Ë¬ XÝœÅtÐ «— t�U³4œ s¹« ‰

øbOÝ—Åv� È«Åt−O²4 tÇ tÐ

 XO�UF� —œ t� —uÞÅÊUL¼¥® ÈÅtDÐ«— ¨býUÐ p¹ vÝbM¼ ÈÅt�U³4œ p¹ X³\4 —b[ dÖ« ¨b¹b¹œ ∂©

 d\�  —u? tÐ

  

0

0
Å

±

® ÈÅtDÐ«— t� XÝ« Â“ô t−O²4 —œ ¨b¹¬Åv�—œ ∂UÐ vÝbM¼ ÈU¼Åt�U³4œ tÐ œËb×� «— ©

 X³\4 —b[  r  1rOMJÐ 

®∑© 

  

Sn =
a(rn −1)

r −1
 ;   r  1

 s?¹d?Lð±¥∫® t?D?Ð«— v?~4u~Ç ∑ t?� v?²?�UŠ È«dÐ «— ©rp?¹ “« d?²?J?Çu?� Ë d?H?? “« d²Ö—eÐ 

tÇ ̈ œuý d²AOÐ Ë d²AOÐ vÝbM¼ ÈÅt�U³4œ ÈU¼ÅtKLł œ«bFð dÖ« ÆbOM� vÝ—dÐ XÝ«

°bOM� dJ� Ê¬ ÈÅÁ—UÐ—œ øb¹¬Åv� gOÄ ‚u� ŸuL−� —œ vð«dOOGð

 XO�UF�≤‡‡∑

b�Ò  ∑∞ Âu?O?4«—Ë« ÈÅÁb?ý t?¹e?−?ð ÈU?¼Årð« œ«bFð Uð bA�Åv� ‰uÞ ‰UÝ ≤≥≤Ë b?Ýd?Ð nB4 tÐ 

± d\� ‡‡

  

 0 

0
ÆXÝ« ÁbA4 n¹dFð 



≥π

 Á—UÐËœ∑∞s¹« Ë b4uý t¹e−ð nB4 “« vLO4 vMF¹ ̈ Áb4U� v[UÐ ÈU¼Årð« “« vLO4 Uð bA�Åv� ‰uÞ d~¹œ ‰UÝ 

 q�Uý ÂuO4«—Ë« Ÿu4 s¹« “« È«Åt4uL4 t� bOM� ÷d� ÆbM�Åv� «bOÄ t�«œ« ÊUMÇÅr¼ b4Ë—  1,000,000,000

 ‰UÝ —œ rð«±∞∞∞‰UÝ œU²H¼ d¼ ÊU¹UÄ —œ ÂuO4«—Ë« ÈÅÁb4U�Åv[UÐ —«bI� ¨t−O²4 —œ ÆXÝ« ÁœuÐ ÈœöO� 

 p¹ «— Ê¬ t�v
U:“ ÈÅÁ—ËœbÐU¹Åv� g¼U� vK³[ —«bI� nB4 tÐ ¨rO�U4Åv� 

  ... Ë 

  

1,000,000,000    ,      1,000,000,000× 1

2
,  (1,000,000,000× 1

2
) × 1

2

[œ UÐÒłu?²?� ¨ôUÐ dDÝ —œ XÒË« ÈÅt?K?L?ł U?Ð v?Ýb?M?¼ ÈÅt?�U?³4œ p¹ d~A¹UL4 œ«bŽ« s¹« t� r¹uýÅv� tÒ‰

  a =1,000,000,000 X?³\4 —b[ Ë 

  

r =
1

2
 ÈU?¼Å‰U?Ý —œ Áb?4U?�Åv[UÐ ÂuO4«—Ë« —«bI� ÆbM²\¼ ±∞∑∞¨

±±¥∞ ¨Å±≤±∞ ¨Å±≤∏∞ Ë ±≥µ∞t?³?ÝU?×?� «— v?4U?�“ ÈÅÁ—Ëœ Z?M?Ä Ë —U?N?Ç ¨t?Ý ¨Ëœ ¨p?¹ —œ v?MF¹ 

∫rOM�Åv�

t� rOM�Åv� Áb¼UA� ¨‚u� ‰Ëbł —œ

ªœË—Åv� ‰«Ë“ tÐË— XŽdÝ tÐ Áb4U�Åv[UÐ ÂuO4«—Ë« —«bI� ©n�«

 ÈU?¼ÅV?¹d{ œ«bFð ¨v4U�“ ÈU¼ÅÁ—Ëœ sOÐ ©»

  

r =
1

2
v?Ýb?M?¼ bŽUBð s¹« ÈU¼ÅtKLł ÈÅt³ðd� Ë 

ªXÝ« —«d[dÐ È«ÅtDÐ«—

łuð UÐÒ® ‰Ëbł ¨‚u� ÈÅÁb¼UA� tÐ t∏® ‰Ëbł t� rO\¹u4Åv� Á—UÐËœ «— ©πÆÅœuýÅv� q?UŠ ©

tKLł ÈÅt³ðd:ÈœöO: ‰UÝv
U:“ ÈU¼ÅÁ—Ëœ œ«bFðÁb
U:Åv1UÐ ÂuO
«—Ë« —«bI:t−O²


‰Ë« ÈÅtKLł  1000  0×70  1,000,000,000  1,000,000,000

ÂËœ ÈÅtKLł  1070  1×70
  

1,000,000,000× 1

2  500,000,000

ÂuÝ ÈÅtKLł  1140  2×70
  

(1,000,000,000× 1

2
)× 1

2  250,000,000

Â—UNÇ ÈÅtKLł  1210  3×70
  

(1,000,000,000× 1

2
× 1

2
)× 1

2  125,000,000

r−MÄ ÈÅtKLł  1280  4×70
  

(1,000,000,000× 1

2
× 1

2
× 1

2
)× 1

2  62,500,000

rAý ÈÅtKLł  1350  5×70
  

(1,000,000,000× 1

2
× 1

2
× 1

2
× 1

2
)× 1

2  31,250,000

 ‰Ëbł®∏©



¥∞

s?¹d?Lð±µ∫ ÈU?¼Å‰U?Ý —œ Áb?4U?L?O?[U?Ð Âu?O4«—Ë« —«bI� ±∑∞∞ Ë ±π∏∞Ë« «— ÒË b?O?4e?Ð ”bŠ ‰

ÆbOM� t³ÝU×� fáÝ

¨aÝUÄ s²�U¹ È«dÐ øœuýÅv� p¹œe4 dH? tÐ ÂuO4«—Ë« —«bI� v4U�“ tÇ t� bOÝdáÐ œuš “« b¹Uý

® ‰Ëbłπ ‰Ëbł —œ Z¹U²4 t� rO¼œÅv� t�«œ« «— ©±∞ÆÅXÝ« Ábý X³Ł 

‰UÝv
U:“ ÈU¼ÅÁ—Ëœ œ«bFðÁb
ULO1UÐ ÂuO
«—Ë«—«bI:t�U³
œ ÈU¼ÅtKLł ÈÅt³ðd:

±∞∞∞∞

  

1,000,000,000× (
1

2
)0‰Ë« ÈÅtKLł

±∞∑∞±

  

1,000,000,000× (
1

2
)1ÂËœ ÈÅtKLł

±±¥∞≤

  

1,000,000,000× (
1

2
)2

ÂuÝ ÈÅtKLł

±≤±∞≥

  

1,000,000,000× (
1

2
)3

Â—UNÇ ÈÅtKLł

±≤∏∞¥

  

1,000,000,000× (
1

2
)4

r−MÄ ÈÅtKLł

±≥µ∞µ

  

1,000,000,000× (
1

2
)5

rAý ÈÅtKLł

 ‰Ëbł®π©

‰UÝv
U:“ ÈU¼ÅÁ—Ëœ œ«bFðÁb
ULO1UÐ ÂuO
«—Ë«—«bI:t�U³
œ ÈU¼ÅtKLł ÈÅt³ðd:

±∞∞∞∞

  

1,000,000,000× (
1

2
)0‰Ë« ÈÅtKLł

±∞∑∞±

  

1,000,000,000× (
1

2
)1ÂËœ ÈÅtKLł

±±¥∞≤

  

1,000,000,000× (
1

2
)2

ÂuÝ ÈÅtKLł

±≤±∞≥

  

1,000,000,000× (
1

2
)3

Â—UNÇ ÈÅtKLł

±≤∏∞¥

  

1,000,000,000× (
1

2
)4

r−MÄ ÈÅtKLł

±≥µ∞µ

  

1,000,000,000× (
1

2
)5

rAý ÈÅtKLł

  



  



  



  



±π∏∞±¥

  

1,000,000,000× (
1

2
)14

r¼œe4UÄ ÈÅtKLł

  



  



  



  



  n −1
  

1,000,000,000× (
1

2
)n−1

 ÈÅtKLłn«ÔÂ

n
  

1,000,000,000× (
1

2
)n

 ÈÅtKLł
  (n +1)«ÔÂ

 ‰Ëbł®±∞©









¥¥

qzU9:

±«b?O?Ä v?Ýb?M?¼ ÈU?¼Åt?�U?³?4œ È«d?Ð «— X³\4 —b[ øbM²\¼ vÝbM¼ d¹“ ÈU¼Åt�U³4œ “« p¹ÅÂ«b� ‡‡

∫bOM�

©n�«   ì≤µ          ±∂          π         ¥          ±

©»   ÅÅì≥µ          ≤∏        ≤±        ±¥          ∑

©Û ì∑µ[≥       ÅÅÅ µ[∑        ±µ       ÅÅÅ≥∞         ∂∞

≤Ë« ÈÅtKLł —UNÇ ¨éÇ XLÝ —«œuL4 ‡‡Òb¼œÅv� ÊUA4 «— vÝbM¼ ÈÅt�U³4œ p¹ ‰

ªbOM� hEA� «— U¼ÅtKLł ©n�«

ªbOM� «bOÄ «— X³\4 —b[ ©»

ªb¹—Ë¬ XÝœÅtÐ «— ÈbFÐ ÈÅtKLł tÝ ©Û

 ŸuL−� © ±≤ÆbOM� t³ÝU×� «— Ê¬ ‰Ë« ÈÅtKLł 



¥µ

≥∫bOM�dÄ d¹“ vÝbM¼ ÈU¼Åt�U³4œ —œ «— v�Uš ÈU¼Uł ‡‡

©n�«

©»

©Û

© 

©À

©Ã

©ı

©Õ

¥vÝbM¼ ÈÅt�U³4œ ÈÅtKLł d¼ dÖ« ‡‡

 ì≤∑, π, ≥, ±,

¥∫œuÐ b¼«uš sOMÇ Áb�¬ œułËÅtÐ ÈÅt�U³4œ ¨œuý d²AOÐ bŠ«Ë 

 ì≥±, ±≥, ∑, µ,

øXÝ« vÝbM¼ ÈÅt�U³4œ p¹ eO4 Áb�¬ XÝœÅtÐ ÈÅt�U³4œ U¹¬ ©n�«

b4«uðÅv� Åb¹błÅ ÈÅt�U³4œ U¹¬ ̈ býUÐ t²ý«œ v4U\J¹ g¹«e�« vÝbM¼ ÈÅt�U³4œ p¹ ÈÅtKLł d¼ dÖ« ©»

øbýUÐ vÝbM¼ ÈÅt�U³4œ p¹

µvÝbM¼ ÈÅt�U³4œ ÈÅtKLł d¼ dÖ« ‡‡ 

  ì≤∑, π, ≥, ±,

 œbŽ —œ¥∫œuÐ b¼«uš sOMÇ q?UŠ ¨œuý »d{ 

 ì±∞∏, ≥∂, ±≤, ¥,

øXÝ« vÝbM¼ ÈÅt�U³4œ p¹ Áb�¬ÅXÝœÅtÐ ÈÅt�U³4œ U¹¬ ©n�«

Áb?�¬ÅX?ÝœÅt?Ð ÈÅt?�U?³?4œ U¹¬ ¨œuý »d{ v²ÐUŁ œbŽ —œ vÝbM¼ ÈÅt�U³4œ p¹ ÈÅtKLł d¼ dÖ« ©»

øXÝ« vÝbM¼ ÈÅt�U³4œ p¹ tAOL¼

∂ÂËœ Ë ‰Ë« ÈU¼ÅtKLł ŸuL−� ∫XÝ« tKLł —UNÇ È«—«œ vÝbM¼ ÈÅt�U³4œ p¹ ‡‡Å¥ŸuL−� Ë 

dš¬ ÈÅtKLł Ëœ≥∂ÆbOÐUOÐ «— t�U³4œ s¹« ÈU¼ÅtKLł ÆXÝ« 

4 20 500

63 189

64

, 64

, 64000000

, 10000001 ,

,

1 ,

,1 ,

,1 ,

1 ,

,1 , ,

, , ,

, , , ,

1000000

,

64000000



¥∂

≤ ‡‡ µvFÐd: ÈÅt�U³
œ ‡‡ 

Ö ÈU¼ÅtŠu� ÊUO� —œÐUÐ ÈÅtKOÝËÅtÐ t� v�UHÝ Ë vK —œ ÊUOK≤∞∞∞t²šUÝ ̀ O\� œöO� “« q³[ ‰UÝ 

v?Ýb?M?¼ Ë v?ÐU\Š ÈU¼Åt�U³4œ q�Uý t� v¹U¼ÅtŠu� dÐ t�U{« Æb4uýÅv� Áb¹œ œ«bŽ« ÈU¼Åt�U³4œ ¨b4«ÅÁbý

 t� XÝ« Ábý X�U¹ tŠu� p¹ ¨bM²\¼∂∞Ë« ÈÅtKLł Òb¼œÅv� ÊUA4 «— d¹“ ÈÅt�U³4œ ‰

    
1, 4, 9, 16, 25, 36, 49, 

‘œu?š —œ v?�«u?²?� v?F?O?³?Þ œbŽ d¼ »d{ “« ‚u� ÈÅt�U³4œ ÈU¼ÅtKLł ¨bOMOÐÅv� t� —uÞÅÊUL¼

 Ê¬ tÐ qO�œ sOL¼ tÐ Ë XÝ« Áb�¬ œułËÅtÐvFÐd: ÈÅt�U³
œ —u? tÐ Ê«uðÅv� «— ôUÐ ÈÅt�U³4œ ÆbM¹uÖÅv� 

œd� v\¹u4Å“UÐ r¼ d¹“

  1
2,     22,    3

2,     42,    52,     62,    72,     ...

 œËbŠ —œ∂∞∞U?³?�U?ž v4U4u¹ ÈU¼ÅÊ«bO{U¹— ¨`O\� œöO� “« q³[ ‰UÝ Îg?¹UL4 È«dÐ U¼ÅtDI4 “« 

∫b4œd�Åv� ÁœUH²Ý« œ«bŽ« vÝbM¼

1 4 9 16 25 36

ÆbM²\¼ vFÐd� œ«bŽ« È—«cÖÅÂU4 qO�œ ôUÐ ÈU¼ÅqJý ¨l[«Ë —œ

ÈÅt?¹«—¬ p¹ —œ  «— U¼ÅÊ¬ Ê«uðÅv� t� bM²\¼ Èœ«bŽ« vFÐd� œ«bŽ«
± 

g¹UL4 qJý vFÐd�

Æœ«œ

±‡‡ array                                           ≤‡‡ root

[œ U¼ÅqJý tÐ dÖ«Ò “« VOðdð tÐ t� v¹U¼ÅlÐd� ÈU¼ÅlK{ ‰uÞ t� bOMOÐÅv� ̈ bOM� X¥ ̈ Åπ ̈ Å±∂ Å¨Å≤µË

≥∂ V?O?ðdð tÐ b4«ÅÁbý qOJAð tDI4 ≤ ¨Å≥ ¨Å¥ ¨Åµ Ë ∂ÈÅt?A¹— vMF¹ ¨
≤

ÈÅt?�U?³4œ ÆbM²\¼ ‚u� ÈU¼ÅlÐd� 

“« t� v�«u²� œd� œ«bŽ« ŸuL−� ¨l[«Ë —œ Æœ—«œ œd� œ«bŽ« vÐU\Š ÈÅt�U³4œ UÐ v³�Uł ÈÅtDÐ«— U¼ÅlÐd�

bM²\¼ vFÐd� œ«bŽ« ¨b4uýÅv� ŸËdý p¹

    1=1=1
2



¥∑

     1+ 3 = 4 = 2
2

    1+ 3 + 5 = 9 = 3
2

1+ 3 + 5 + 7 =16 = 4
2

1+ 3 + 5 + 7 +9 = 25 = 5
2

∫œuýÅv� Áb¹œ d¹“ ÈU¼ÅqJý —œ tDÐ«— s¹« ”UÝ«

U?¼u?~?�« —œ œu?łu?� j?Ð«Ë— Êb?¹œ d?²NÐ tÐ ¨vÝbM¼ Ë ÈœbŽ  —u? Ëœ tÐ U¼u~�« s¹« ÈÅt¹«—¬

łuð ‚u� t¹«—¬ “« Èd~¹œ qJý tÐ ÆbM�Åv� pL�Ò∫bOM� t

 XO�UF�≤‡‡π

 ÈU?¼Ål?K{ UÐ v¹U¼ÅlÐd�± ¨Å≤ ¨Å≥ ¨Å¥ ¨Åµ Ë ∂ÈU?¼ÅX?ŠU?\� Ë U¼ÅjO×� ÁU~4¬ Æb¹dO~Ð dE4—œ «— 

¨U?¼ÅX?ŠU?\?� Ë U?¼ÅjO×� ¨bOM�Åv� Áb¼UA� t� —uÞÅÊUL¼ ÆbOM� Xý«œœU¹ t4UÖ«bł Ë VOðdð tÐ «— U¼ÅÊ¬

∫bM¼œÅv� ÈœbŽ ÈÅt�U³4œ p¹ qOJAð p¹d¼

ªbOM� hEA� «— U¼Åt�U³4œ Ÿu4 ©n�«

øbM�Åv� ÈdOOGð tÇ Ê¬ jO×� ¨œuý dÐ«dÐËœ vFÐd� lK{ ‰uÞ dÖ« ©»

øbM�Åv� ÈdOOGð tÇ Ê¬ XŠU\� ¨œuý dÐ«dÐËœ vFÐd� lK{ ‰uÞ dÖ« ©Û



¥∏

≤ÅÅ‡‡∂v¦K¦: ÈÅt�U³
œ ‡‡ 

 ÈÅt�U³4œ œ«bŽ«
  1, 3,6,10,15,...  v¦K¦:p¹ —œ U¼ÅtDI4 œ«bFð ÈÅÁbM¹UL4 U¼ÅÊ¬ «d¹“ b4uý ÁbO�U4

∫bM²\¼ v¦K¦� ÈÅt¹«—¬

U?M?O?Ž «— ôUÐ v¦K¦� ÈÅt�U³4œ ÈÅtKLł gý ©n�«Îs?¹« Èb?F?Ð ÈÅtKLł ZMÄ fáÝ ÆbOM� Xý«œœU¹ 

ªbO¼œ ÊUA4 U¼ÅtDI4 UÐ «— t�U³4œ

t?²?šU?Ý b?¹b?ł ÈÅt?�U³4œ p¹ Uð bOM� lLł r¼UÐ «— t�U³4œ s¹« v�«u²� ÈU¼ÅtKLł “« XHł d¼ ©»

∫bOM� tłuð d¹“ ÈÅt4uL4 tÐ Æœuý

1 , 3 6 10 15 21
000

,

000
,

, , ,,

, , ,,

XO�UF�≤‡‡±∞

øX\OÇ Ábý t−O²4 ÈÅt�U³4œ vÖó¹Ë

∫bA�Åv� d¹uBð tÐ «— ULý »«uł d¹“ qJý



¥π

 s?¹d?Lð≤∞∫ ÈU?¼ÅÊ«uð ≥ ¨Å¥d?š¬ v�« ¨Èœb?Ž ÈÅt?�U?³?4œ p?¹ q?O?J?A?ð p¹d¼ ¨vFO³Þ œ«bŽ« 

ÈÅt?�U?³?4œ s?¹d?L?ð Ê«u?M?Ž t?Ð ULý ÆbM²\¼ V�Uł œuš Ÿu4 —œ v~L¼ t� bM¼œÅv�

Ë U?¼ÅX?ŠU?\?� ÈÅt?�U?³?4œ U?Ð «— Ê¬ ÁU?~4¬ ÆbO\¹uMÐ «— v³FJ� vFO³Þ œ«bŽ« ÈœbŽ

ÆbO¹UL4 Xý«œœU¹ «— t−O²4 Ë bOM� t\¹UI�  ËUH²� Ÿö{« UÐ v¹U¼ÅlÐd� ÈU¼ÅjO×�

≤‡‡∑vâðU
u³O� ÈÅt�U³
œ ‡‡

¨t¼U� p¹ ÈÅÁœU� Ë d4 ‘uÖdš XHł p¹

÷d?� U?�« Æb?M?²\¼ Ê«uł —UO\Ð q¦� bO�uð È«dÐ

œuš b�uð ÂËœ ÁU� —œ ‘uÖdš XHł s¹« t� bOM�

d4Å‘uÖdš XHł p¹ ÁU� d¼ ̈ Ê¬ “« fÄ ÈU¼ÅÁU� Ë

b�u²� ‘uÖdš XHł d¼ dÖ« Æb4—ËUOÐ UO4œ tÐ ÁœU� Ë

Â«b�ÅêO¼ dÖ« Ë bM� q¦� bO�uð ‰«Ë— sOL¼ tÐ Ábý

XHł bMÇ ÁU� d¼ ŸËdý —œ ̈ b4dOL4 U¼Å‘uÖdš “«

œ«b?F?ð d¹“ qJý øXý«œ b¼«uš œułË ‘uÖdš

ÊU?A?4 ‰Ë« ÈÅt?¼U� gý —œ «— U¼Å‘uÖdš XHł

∫b¼œÅv�

vâðU
u³O�



µ∞

 XO,UF6≤‡‡±±

ªbOM" q�U" «— ‰Ëbł v*UÐ ÆXÝ« Ábý rOEMð qJý tÐ tłuð UÐ d¹“ ‰Ëbł ©nU«

             ‰Ë«±                                     ∞                                 ±

            ÂËœ∞                                      ±                                 ±

           ÂuÝ                                                                  

        Â—UNÇ                                                                  

          r−MÄ                                                                  

 ÅÅÅÅ        rAý                                                                  

U¼Å‘uÖdš XHł  ŸuL−/        ¯—eÐ  ÈU¼Å‘uÖdš XHł        œ«“u  ÈU¼Å‘uÖdš XHł        ÁU/     

ÆbO5¹uMÐ «— œ«“u@ Ë ¯—eÐ ÈU¼Å‘uÖdš XHł Ë U¼Å‘uÖdš XHł ŸuL−� sOÐ ÈÅtDÐ«— ©»

U¼Å‘uÖdš XHł q" œ«bFð Ë ÁU� p¹ —œ ̄ —eÐ ÈU¼Å‘uÖdš XHł œ«bFð sOÐ È«ÅtDÐ«— tÇ ©Û

øœ—«œ œułË vK³* ÁU�—œ

∫bM¼œÅv� qOJAð «— d¹“ ÈÅtUU³@œ ̈ ÁU� gý vÞ U¼Å‘uÖdš XHł œ«bFð ̈ b¹œd" Áb¼UA� t" —uÞÅÊUL¼

∏Å , ÅÅµ , Å≥ , Å≤ , Å±Å , Å±

Ÿu?L?−?� Â—U?NÇ tKLł ¨ÂËœ Ë ‰Ë« ÈÅtKLł Ëœ ŸuL−� ÂuÝ ÈÅtKLł t" rOMOÐÅv� X*œ vL" UÐ

∫rO¼œÅv� t�«œ« «— ôUÐ ÈÅtUU³@œ ÆXÝ« dš¬ vU« Ë ÂuÝ Ë ÂËœ ÈÅtKLł

 ì,Å≥¥ Å,Å≤± ,Å±≥Å, Å∏ , Åµ , Å≥ , Å≤ , Å± , Å±

vâðU@u³O[ tÐ »u5M� tUU³@œ s¹«
±

ÆXÝ« ÈœöO� r¼œeOÝ Êd* v¹UOUU²¹« ·ËdF� Ê«bO{U¹— 

 Ê¬ ‰Ë« ÈÅtKLł Ëœ t� XÝ« ÈœbŽ t�U³�œ p¹ vâðU�u³O� ÈÅt�U³�œ±“« fÄ ÈÅtKLł d¼ Ë 

 È«dÐ ¨s¹œUL� ÊUÐ“ tÐ ÆXÝ« q³* ÈÅtKLł Ëœ ŸuL−- U¼ÅÊ¬nËœ ÈËU.- U¹ dðÅ¯—eÐ ÈU¼

                              
  
Fn+1 = Fn + Fn−1ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ    

±‡‡ Fibonacci



µ±

v~4u~Ç ÆœuýÅv� d¼Uþ vŽuMB� Ë vFO³Þ ÈU¼ÅÁb¹bÄ —œ È—Ë¬Å»U−Ž« —uÞ tÐ vâðU4u³O� ÈÅt�U³4œ

q\Ž —u³4“ b�ËÅË œ«“ v~4u~ÇÆXÝ« vâðU4u³O� ÈU¼Åt�U³4œ “« v³�Uł ‰U¦� XFO³Þ —œ U¼Å‘uÖdš dO¦Jð

© —œU� ® b�«Ë p¹ UNMð d4 q\Ž —u³4“ ¨bO4«œÅv� t� —uÞÅÊUL¼ ÆXÝ« t�U³4œ s¹« ÈbM�ÅÊu4U[ o³ÞdÐ r¼ d4

Èu~�« d4 q\Ž —u³4“ ÈÅÁd−ý t−O²4 —œ Æœ—«œ —œU� r¼ Ë —bÄ r¼ ¨ÁœU� q\Ž —u³4“ t� v�UŠ —œ œ—«œ

ÆbM¼œÅv� vâðU4u³O� ÈÅt�U³4œ p¹ qOJAð v�«u²� ÈU¼Åq\4 —œ U¼—u³4“ œ«bFð ̈ ‰UŠ s¹« UÐ Æœ—«œ v³O−Ž
±

1

2

3

5

8

13

q9
 d¼ —œ U¼—u³
“ œ«bFð
q³1 q9


«Ë
Ò 

‰

œË
Ò

Â

Ýu
Ò

Â

Â—UNÇ

r−MÄ

rAý

s¹dLð≤± ∫∫XÝ« d¹cÄÅgEÐ Ëœ dÐ ÊUO� —œ Ëœ vâðU4u³O� ÈÅt�U³4œ ÈU¼ÅtKLł

  1 ,1 ,2  , 3,5  ,8  ,13,21 , 34  ,55  ,89  ,144  ,233  , 377,

    610 ,987  ,1597  ,2584,4181 ,6765,10946,

øb4d¹cÄÅgEÐ d¹“ œ«bŽ« dÐ U¼ÅtKLł sO�«b�

ª tÝ ©n�«

ª ZMÄ ©»

ª XA¼ ©Û

ª ÁœeOÝ © 

øbM²\¼ d¹cÄÅgEÐ ZMÄ Ë ÁU−MÄ dÐ U¼ÅtKLł sO�«b� ¨ULý dE4 tÐ ©À

± ‡‡    ÆXÝ« ÁœU� q\Ž —u³4“ X�öŽ      Ë d4 q\Ž —u³4“ X�öŽ  



µ≤

’«uš vâðU4u³O� ÈÅt�U³4œ
Ò

łuð t�U³4œ s¹« ‰Ë« ÈÅtKLł XA¼ v�«u²� ŸuL−� tÐ Æœ—«œ v³�Uł Òt

∫bOM�

U¼ÅtKLł ŸuL−:                   lLłÅqgUŠ      

              = 2  1+1

              = 4  1+1+2

             = 7  1+1+2+ 3

          =12  1+1+2+ 3 + 5

          = 20  1+1+2+ 3 + 5 + 8

        = 33  1+1+2+ 3 + 5 + 8 +13

  1+1+2+ 3 + 5 + 8 +13 +21= 54

 ‰Ëbł®±±©

U¼ÅtKLł ŸuL−:                             lLłÅqgUŠ      ÈœUNMAOÄ Èu~�«     

  2×1+ (1−1)  2  1+1

  2×2+ (1−1)  4  1+1+2

  2× 3 + (2−1)  7  1+1+2+ 3

  2× 5 + (3 −1)  12  1+1+2+ 3 + 5

  2× 8 + (5 −1)  20  1+1+2+ 3 + 5 + 8

  2×13 + (8 −1)≥≥  1+1+2+ 3 + 5 + 8 +13

  2×21+ (13 −1)µ¥  1+1+2+ 3 + 5 + 8 +13 +21

 ‰Ëbł®±≤©

 ŸuL−� Êœd� «bOÄ —œ «— U� Uð r¹“«œdÄÅv� ‰Ëbł oO[œ vÝ—dÐ tÐ u~�« Êœd� «bOÄ È«dÐnÊËb?Ð ¨tKLł 

tFÝuð Ë rOM�Åv� v\¹u4Å“UÐ «— ‚u� ‰Ëbł ¨—uEM� sOL¼ tÐ ÆbM� È—U¹ ¨ôUÐ È—«dJð ÈÅt³ÝU×� tÐ “UO4

 ‰ËbłÅ® rOM� «bOÄ «— VÝUM� Èu~�« b¹Uý Uð rO¼œÅv�±≤Æ©Å

łuð UÐÒ ŸuL−� ¨t³ÝU×� ÊËbÐ Ë ôUÐ Èu~�« tÐ t±≤ÆbO4eÐ ”bŠ «— vâðU4u³O� ÈÅt�U³4œ ‰Ë« ÈÅtKLł 

d¹cÄÅrOLFð ÈœUNMAOÄ Èu~�« U¹¬ Æb¹—«c~Ð g¹U�“¬ tÐ U¼ÅtKLł ŸuL−� ÈÅt³ÝU×� UÐ «— œuš ”bŠ fáÝ

øXÝ«



µ≥

 Ÿu?L?−?� ¨‚u?� Èu?~�« tÐ tłuð UÐnË« ÈÅt?KLł Ò È«d?Ð «— v?â?ðU?4u³O� ÈÅt�U³4œ ‰  n . 1”b?Š 

∫rO4“Åv�

 ]Å  −−1 ÈÅtKLł Å®ÅÅ  n −−1 ©« ÔÂ[Å+ ® ÈÅtKLłn«ÔÅÅÅÅ©Â  =2 ×ŸuL−�nÈÅtKLłË« ÒvâðU½u³O�ÅÈÅt+U³½œÅ‰

Ær?¹b?ý U?M?ý¬ v?F?O?³?Þ ÈU?¼ÅÁb?¹b?Ä b?ý— UÐ tDÐ«— —œ XFO³Þ rE4 “« v¹U¼ÅÁuKł UÐ ¨gEÐ s¹« —œ

U?� t?Ð X?FO³Þ —œ bý— ÈU¼u~�« “« vCFÐ ÈbML4u4U[ s²šUMý d²AOÐ È«dÐ È—«eÐ« vâðU4u³O� ÈÅt�U³4œ

“dÞ tÐ ÊUA¹U¼Åt[UÝ ÈË— dÐ ÊU²š—œ “« È—UO\Ð ÈU¼Å¯dÐ s²�dÖ —«d[ VOðdð ¨‰U¦� Ê«uMŽ tÐ Æb¼œÅv�

ÆbM²\¼ tDÐ«— —œ vâðU4u³O� ÈÅt�U³4œ UÐ v³�Uł

≤ ‡‡∏v¹öÞ X³9
 ‡‡ 

 XO�UF�≤‡‡±≤

∫bOM� ÁU~4 œułu� ÈU¼ÅqOD²\� tÐ ©n�«

± ≤ ≥ ¥ µ



µ¥

øb¹¬Åv� dðbM¹Uýuš ULý rAÇ tÐ p¹ÅÂ«b�

∫bOM� ÁU~4 d¹“ ÈU¼ÅqOD²\� tÐ ‰UŠ ©»

1

2

3
4

56

7

øb¹¬Åv� dðÅVÝUM²� dE4 tÐ p¹ÅÂ«b�

Á“«b4« sJL� d²�ÅvKO� s¹dðÅp¹œe4 Uð ©»® Ë ©n�«® ÈU¼ÅXL\[ —œ «— U¼ÅqOD²\� ÂULð œUFÐ« ©Û

Æb¹dO~Ð

ÆbOM� Xý«œœU¹ «— t−O²4 Ë bOM� «bOÄ «— U¼ÅqOD²\� “« p¹d¼ ÷dŽ tÐ ‰uÞ X³\4 © 

Áb?�¬ X?Ýœ t?Ð X?³?\?4 Ë q?³?[ ÈU?¼ÅX?L?\?[ —œ U¼ÅqOD²\� s¹dðbM¹Uýuš sOÐ È«ÅtDÐ«— tÇ ©À

øbOMOÐÅv�

 X?O�UF� —œ t� —uÞÅÊUL¼≤‡‡±≤ Åq?O?D²\� ÷dŽ tÐ ‰uÞ X³\4 ¨b¹b¹œ ≥Ë ©n?�«® XL\[ —œ 

 q?O?D²\�µU?³?¹d?Ið Ë ÈËU\� ©»® XL\[ —œ Î U?Ð dÐ«dÐ ∂±∏[±”U?\?Š« r?¹b?[ ÊU4u¹ Ê«bM�dM¼ ÆXÝ« 

—UŁ¬ oKš —œ ̈ qO�œ sOL¼ tÐ Ë bM²\¼ dðbM¹Uýuš rAÇ tÐ ̈ œUFÐ« X³\4 s¹« UÐ v¹U¼ÅqOD²\� t� b4œd�Åv�

ÊuMð—UÄ ÊUL²šUÝ tKLł “« v�ËdF� ÈdM¼
±

u�uÄ¬ ·ËdF� tL\−� Ë sð¬ —œ 
≤

uKÐ —œ d¹œ
≥

X³\4 s¹« “« ¨

¨X³\4 s¹« tÐ ÆXÝ« Ábý ÁœUH²Ý«v¹öÞ X³9
 
¥

ÆbM¹uÖÅv� 

±‡‡ Parthenon                                           ≤‡‡ Apollo

≥‡‡ Belvedere                                           ¥‡‡ Golden ratio



µµ

 XO�UF�≤‡‡±≥

 Uð «— vâðU4u³O� ÈÅt�U³4œ≤∞Ëœ d¼ sOÐ X³\4 »U\Š sOýU� pL� tÐ Ë bO\¹uMÐ Ê¬ ‰Ë« ÈÅtKLł 

ÈÅt?−?O?²?4 øb?¹œd?� Áb?¼U?A� Áb�¬ XÝœÅtÐ ÈU¼ÅX³\4 —œ vLE4 U¹¬ ÆbOM� Xý«œœU¹ v�Ëbł —œ «— tKLł

ÆbO¼œ `O{uð «— œuš  «b¼UA�

 XO�UF� —œ t� ÊUMÇÅr¼≤‡‡±≥¨œË—Åv� dðôUÐ vâðU4u³O� ÈÅt�U³4œ ÈU¼ÅtKLł ÈÅt³ðd� tÇd¼ ̈ b¹b¹œ 

 œb?Ž t?Ð t?�U?³4œ ÈÅtKLł Ëœ sOÐ X³\4∂±∏[±v?¹ö?Þ X?³?\?4 ÊUL¼ s¹« t� œuýÅv� d²J¹œe4 Ë p¹œe4 

 ÈÅtKLł dÖ« ¨vK� X�UŠ —œ ÆXÝ«n«Ô UÐ «— vâðU4u³O� ÈÅt�U³4œ ÂFnt� rOM�Åv� Áb¼UA� ¨rO¼œ g¹UL4 

 g¹«e�« UÐnvMF¹ vâðU4u³O� ÈÅt�U³4œ v�«u²� ÈÅtKLł Ëœ d¼ X³\4 ¨

  

Fn+1

Fn

 vMF¹ v¹öÞ X³\4 tÐ∂±∏[±X³\4 s¹« tÐ ‰u?« r−MÄ »U²� —œ ”bOK[« ÆœuýÅv� dðÅp¹œe4 Ë p¹œe4 ̈

ÆXÝ« Áœd� Á—Uý«

È—uÞÅtÐ r¹—Ë¬Åv� XÝœÅtÐ Èd~¹œ ‘Ë— tÐ XL\[ Ëœ tÐ jšÅÁ—UÄ p¹ rO\Ið “« «— v¹öÞ X³\4

ÆœuýÅv� dðÅÁUðu� XL\[ tÐ dðbMKÐ XL\[ X³\4 UÐ dÐ«dÐ dðbMKÐ XL\[ tÐ jš ÂULð ‰uÞ X³\4 t�

x 1

x + 1



µ∂

∫rO¼œ g¹UL4 eO4 Èd³ł  —u? tÐ rO4«uðÅv� «— ‚u� ÈËU\ð

                                         jšÅÁ—UÄ ÂULð ‰uÞ             dðbMKÐ XL\[ ‰uÞ                                  =                                

dðbMKÐ XL\[ ‰uÞ           dðÅÁUðu� XL\[ ‰uÞ                                             

łuð UÐÒ —«œuL4 tÐ t±rOM�Åv� s¹e~¹Uł «— ‚u� ÈU¼ÅX³\4 d¹œUI� ¨

,Å
x +1

x
=

x
1

 È«dÐ «— ‚u� ÈÅtDÐ«—xrOM�Åv� qŠ 

  x2 = x +1,Å

U¹  x2 − x −1=0

UÐ XÝ« dÐ«dÐ t�œUF� X³¦� ÈÅtA¹—Å       

  

x =
1+ 5

2

U³¹dIð t� XÝ« v¹öÞ X³\4 ÊUL¼ ¨@MÖ œbŽ s¹« v³¹dIð —«bI�Î UÐ dÐ«dÐ ∂±∏[±ÆÅXÝ«

łuð V�Uł ÈU¼Åg¹UL4 “« d~¹œ vJ¹Ò∫œuýÅv� —«dJð tAOL¼ È«dÐ t� XÝ« Èd\� ̈ v¹öÞ X³\4 t

1+
1

1+
1

1+
1



MÝ ÈU¼dM¼ —œ v¹öÞ X³\4 “« eO4 v4«d¹« Ê«bM�dM¼ÒoOKF²\4 t²\Jý jš Ë oOKF²\4 jš tKLł “« v²
±

°bOMJ4 ‘u�«d� «— X³\4 s¹« ¨œuš ÈdM¼ ÈU¼—U� gM¹d�¬ —œ eO4 ULý Æb4«ÅÁœd� ÁœUH²Ý«

qzU9:

±łuð d¹“ Èu~�« tÐ ‡‡Ò∫bOM� t

  1
2 +1

2 = 2 =1×2

1
2 +1

2 +2
2 = 6 = 2× 3

±È—UO²EÐ œ«uł ÈÅt²ýu4 ¨åoOKF²\4 jš vÝbM¼ —U²šUÝ Ë Ád¼ułò ‡‡



µ∑

1
2 +1

2 +2
2 + 3

2 =15 = 3 × 5

  1
2 +1

2 +2
2 + 3

2 + 5
2 = 40= 5 × 8

ªbO\¹uMÐ «— ôUÐ Èu~�« ÈbFÐ dDÝ Ëœ ©n�«

Ë« ÈÅt?K?Lł Áœ ÈU¼ÅlÐd� ŸuL−� ¨‚u� Èu~�« “« ÁœUH²Ý« UÐ ©»ÒÊËb?Ð «— vâðU4u³O� ÈÅt�U³4œ ‰

ÆbO4eÐ ”bŠ t³ÝU×�

≤∫b¹dO~Ð dE4—œ «— d¹“ Èu~�« ‡‡

  1
3 +2

3 −1
3 = 8

  2
3 + 3

3 −1
3 = 34

  

3
3 + 5

3 −2
3 =

  

5
3 + 8

3 − 3
3 =

Ä ôUÐ Èu~�« —œ «— v�Uš ÈU¼Uł ©n�«
Ô

ªbOM� d

ªbO\¹uMÐ «— u~�« ÈbFÐ dDÝËœ ©»

łu²� ©Û
Ò

ÆbO¼œ `O{uð øb¹bý vLE4 tÇ t



µ∏

مجله�ى رياضى

¹U�d[ ÈÅtOC* s¹dš¬ ̈ v{U¹— ÈÅÁbA@ qŠ qzU5� s¹dð—uNA� “« vJ
±

ÆXÝ« ÁœuÐ 

 q?J?ý t?Ð È«Åt?UœU?F?� ÈÅÁ—U?Ð—œ ÅtOC* s¹«xn + yn = zn
 Ê¬ —œ t?" XÝ« x¨yÅÅ¨zÅËÅn

÷d?[ UÐ vFO³Þ  œ«bŽ«o ≠ xyzÈ«Åt?UœU?F?� s?OMÇ “« v¹U¼Åt@uL@ d¹“ ÈU¼Å‰U¦� ÆbM²5¼ 

∫bM²5¼

  3
2 + 4

2 = 5
2    ,    52 +12

2 =13
2    ,    20

2 +21
2 = 29

2

 ¨U?/d6d¹ÅvÄÈÅt?O?ýUŠ —œ ¨ÈœöO� r¼bH¼ Êd* —œ Èu5@«d[ ·ËdF� Ê«bO{U¹—

È«dÐ jI[ qJý s¹« tÐ v¹U¼ÅtUœUF� t" s¹« “« v"UŠ Xýu@ v²ý«œœU¹ g¹U¼Å»U²" “« vJ¹

  n =1 2—œ U????�d????[ Æb????M????²???5???¼ »«u???ł È«—«œ 

vðU³Ł« tOC* s¹« È«dÐ t" bý —Ë¬œU¹ g¹U¼ÅXý«œœU¹

�« XÝ« ÅÁœd" nA"ÒË XÝ« p¹—UÐ »U²" ÈÅtOýUŠ U

¨ÈœU?L?²?� ÊU?O?UUÝ vÞ °œ—«b@ «—  U³Ł« s²ýu@ ÈUł

t?O?C?* s?¹«  U?³?Ł« È«d?Ð È«Åt?²5łdÐ ÈU¼ÅÊ«bO{U¹—

v{U¹— ÈÅtF�Uł ̈ —UÐ p¹ X*ËbMÇd¼ Æb@«ÅÁœd" ‘öð

œd?"Åv� ÂöŽ« «— v−¹U²@ ¨tUQ5� s¹« qŠ “« —«ËbO�«

łu²� ¨v¼Uðu"  b� “« fÄ vUËÒ U?³Ł« ÊœuÐ UÝ—U@ t

 ‰UÝ —œ ¨ÁdšôUÐ ÆbýÅv�±ππ¥eK¹«ËÅÁ—b@¬ ¨
≤

œU²Ý« 

Ë bý tOC* s¹« q�U" Ë XÝ—œ  U³Ł« ÈÅtz«—« tÐ o[u� UJ¹d�¬ Êu²5M¹dÄ ÁU~A@«œ v{U¹—

 ‘öð s¹«≥∞∞ÆbOÝ— t−O²@ tÐ tUUÝ 

مجله�ى رياضى

Ë

±‡‡ Fermat’s last theorem

≤‡‡ Andrew Wiles



µπ

٣فصل 
r²¹—U~�

t?Ð v?K?³?
 ÈU?¼—U� “« p¹ÅÅêO¼ ÆœuÐ q�U� v²H~ý p¹ ¨UO!œ —œ r²¹—U~# Ÿ«d²š«

Æb?!œu?Ð Áœd?J?! v?M?O?Ð gOÄ «— ‘œË—Ë U¼ÅÊ¬ “« p¹ÅêO¼ Ë œuÐ ÁœdJ! pL� Ê¬ Ÿ«d²š«

d?~?¹œ ÈU¼—U� “« t�ÅÊ¬ ÊËbÐ œd� œuš tłu²� ÊUNÖU! «— ÊU5!« —UJ6« v¹UNMðÅtÐ r²¹—U~#

ÆbM� ‰U³!œ «— v{U¹— dJHð ÈÅÁbý t²šUMý ÈU¼dO5� t� Ê¬ U¹ Ë œdO~Ð ÁdNÐ Ê«bMLA¹b!«

Êu²�u
 œ—u�                                                                                 
±

 ¨Å±π±µ

≥‡‡ ±g¹«bOÄ ‡‡

‰uKÝ p¹ t� v!U�“ ÆXÝ« V#Uł —UO5Ð U¼ÅVO�¬ dO¦Jð ‘Ë—

¨œu?ýÅv?� r?O?5?I?ð r?O?! Ëœ t?Ð ¨bÝ—Åv� vBAA� ÈÅÁ“«b!« tÐ VO�¬

«œËbŠ fáÝÎt?Ð Áb?�¬ œułËÅtÐ VO�¬ Ëœ Uð bA�Åv� ‰uÞ “Ë— p¹ 

V?O?�¬ —U?N?Ç t?Ð q?¹b?³?ð Ë b!uý rO5Ið “UÐ t� bMM� bý— È«ÅÁ“«b!«

ðd� U¼ÅÊ¬ œ«bFð VOðdð sOL¼ tÐ Ë b!œdÖÒÆbÐU¹Åv� g¹«e6« V

UÐ U¼ÅVO�¬ t� XÝ« V#Uł XNł s¹« “« g¹«e6« ÈÅÁu×! s¹«

‰Ëbł “« t²H¼ ÊU¹UÄ —œ U¼ÅVO�¬ œ«bFð °b!uýÅv� dO¦Jð Êbý nB!

®±‰Ëbł s¹« —œ X
œ UÐ Æœ—«œ ÊU�“ tÐ v~²5Ð t� b¹¬Åv� XÝœÅtÐ ©

¨X?Ý« v?!«u?ð ÈÅt?#U?³?!œ p¹ ©U¼ÅVO�¬ œ«bFð® ÂËœ dDÝ t� rOMOÐÅv�

vK³
 ÈÅtKLł dÐ«dÐ Ëœ Ê¬ ÈÅtKLł d¼ t� vÝbM¼ ÈÅt#U³!œ p¹ vMF¹

Ë« dDÝ ¨‰UŠ s¹« UÐ ÆXÝ«Òt� XÝ« vÐU5Š ÈÅt#U³!œ p¹ ©ÊU�“® ‰

v?³?#U?ł ÈÅt²J! ÆXÝ« vK³
 ÈÅtKLł “« d²AOÐ vJ¹ tKLł d¼ Ê¬ —œ

!ÅÊUł ÈÅtKOÝËÅtÐá—œ r¼bH¼ Êd
 q¹«Ë« —œ ÈbMKðUJÝ« Ê«bO{U¹— d

±Å‡‡ Lord Moulton



∂∞

 œbŽ Ëœ dÖ« Æbý ÕdD� t�U³�œ Ëœ s¹« œ—u�¥ Ë ±∂U¼ÅÊ¬ »d{Åq"UŠ ̈ r¹dO~Ð dE�—œ «— sO¹UÄ dDÝ “« 

Ëœ dDÝ vÝbM¼ ÈÅt�U³�œ “« Èd~¹œ ÈÅtKLłÒvMF¹ ¨œuÐ b¼«uš Â

  4 . 16 = 64

Ë« d?DÝ vÐU8Š ÈÅt�U³�œ —œ œ«bŽ« s¹« dþUM²� ÈU¼ÅtKLł t;Ò VOðdð tÐ ‰≤ ¨Å¥ Ë ∂ÊUL¼ s¹« Ë bM²8¼ 

ÆXÝ« V�Uł ÈÅt²J�

® ‰Ëbł≤©

® ‰Ëbł±©

ÊU�“ “Ë—∞±≤≥¥µ∂∑ì

U¼ÅVO�¬ œ«bFð±≤¥∏±∂≥≤∂¥±≤∏ì

    ì ±∞        π         ∏       ∑        ∂      µ       ¥      ≥         ≤      ±    ∞

        .                             .         .     .      .    .      .    

  ì±∞≤¥   µ±≤      ≤µ∂ÅÅÅÅÅ   ±≤∏     ∂¥    ≥≤      ±∂    ∏        ¥      ≤    ±

ÆXÝ« dþUM²� vÐU8Š ÈÅt�U³�œ œ«bŽ« lLłÅq"UŠ UÐ vÝbM¼ ÈÅt�U³�œ œ«bŽ« »d{Åq"UŠ vMF¹

ÆrOM;Åv� Áb¼UA� «— t−O²� Ë r¹dOÖÅv� dE�—œ «— d~¹œ œbŽ bMÇ »d{Åq"UŠ ‰UŠ

 ‰U¦�±∫ »d{Åq"UŠ Êœd; «bOÄ È«dÐ   8 . 128 dþUM²� œ«bŽ« ¨∏ Ë ±≤∏Ë« dDÝ —œ «— Ò«bOÄ ‰

 ¨rOM;Åv� Áb¼UA� t; —uÞÅÊUL¼ ÆrOM;Åv�≥ UÐ dþUM²� ∏ Ë ∑ UÐ dþUM²� ±≤∏Ë XÝ« 

  8 . 128 =1024

 t;±∞≤¥ œbŽ UÐ ±∞Ë« ÈÅt�U³�œ —œ ÒNœ ÆXÝ« dþUM²� v�Ò t; bOM; X±∞ ÊUL¼   3 + 7Z¹U²� ‰UŠ ÆXÝ« 

K; «— Áb�¬ XÝœÅtÐÒÆrOM;Åv� ÊUOÐ dðÅv

Ëœ ÈÅt�U³�œ —œ »d{ÒË« ÈÅt�U³�œ —œ lLł UÐ ÂÒÆXÝ« dþUM²� ‰

 rO¼«uP� dÖ« t; rOMOÐÅv� ¨XýcÖ tâ�¬ tÐ tłuð UÐ»d{ÁœUH²Ý« UÐ Ê¬ ÈUł tÐ rO�«uðÅv� ¨rOM; 

Ë« d?D?Ý ÈÅt�U³�œ “«Ò ‰lLłË« n?¹œ— v?ÐU?8?Š ÈÅt�U³�œ œ«bŽ« ÆrOM; Ò ¨‰r?²¹—U~�—œ ÊU?ýd?OE� œ«bŽ« 

ÆbM²8¼ ÂËœ n¹œ— ÈÅt�U³�œ



∂±

® ‰Ëbł≥©

ì±∞π∏∑∂µ¥≥≤±∞∫r²¹—U~� x

  



  



  



  



  



  



  



  



  



  



  



ì±∞≤¥µ±≤≤µ∂±≤∏∂¥≥≤±∂∏¥≤±∫œ«bŽ«y

 “« v¹U¼ÅÊ«uð  —u\ tÐ rO!«uðÅv� «— vÝbM¼ ÈÅt#U³!œ œ«bŽ«≤∫rO5¹uMÐ 

ì±∞π∏∑∂µ¥≥≤±∞∫r²¹—U~� x

  

  2
10

  2
9

  2
8

  2
7

  2
6

  2
5

  2
4

  2
3

  2
2

  2
1

  2
0

œ«bŽ«∫y

 UÐ dÐ«dÐ ¨ôUÐ vÝbM¼ ÈÅt#U³!œ œ«bŽ« l
«Ë —œ≤¨bM²5¼ ‚u6 vÐU5Š ÈÅt#U³!œ œ«bŽ« ÈU¼ÅÊ«uð tÐ 

vMF¹

y = 2
x . x = log2 y

¨vÐU5Š ÈÅt#U³!œ ÈU¼ÅtKLł ¨d~¹œ v!UOÐ tÐ U¹ Ër²¹—U~� ÈU¼ÅÊ«uð ÈÅt#U³!œ —œ œuš dþUM²� ÈU¼ÅtKLł 

v?M?F¹ ÆbM²5¼ ©vÝbM¼® Ëœy Ë v?ÝbM¼ ÈÅt#U³!œ —œ œbŽ ÈÅÁbM¹UL! x ÈU?M?³� —œ Ê¬ r²¹—U~# ·dF� ≤

ÆXÝ«

 ‰U¦
≤∫ 

ÅÅ                16          ×            32             =                     512  œ«bŽ«  

    2×2×2×2

  

   ×    2×2×2×2×2

  

  =   2×2×2×2×2×2×2×2×2

  

           4            +              5             =                       9 r²¹—U~�

 XO�UF*≥‡‡Å±

 ÈU?M?³?� —œ r?²?¹—U?~?# ‰Ëb?ł ¨»U5Š sOýU� “« ÁœUH²Ý« UÐ≤ Uð «—   2
26

t?Ð f?á?Ý ÆbO¼œ t�«œ« 

∫bO¼œ aÝUÄ d¹“  ô«RÝ

 p?¹ Æb?O?M?� «b?OÄ ‰Ëbł tÐ tFł«d� UÐ «— d¹“ ÈU¼Å»d{Åq\UŠl?Lł ÈÅtDÐ«—t?� b?O¼œ ÊUA! 

Æb¼œ XÝœÅtÐ Êœd� »d{ ÊËbÐ «— q\UŠ

©n#«  128 ×256ª

©»  1024×2048ª



∂≤

 ©Û  32×131072ª

 ©   16 × 512× 4096ª

Æœd� ÁœUH²Ý« eO! œ«bŽ« Êb!UÝ— Ê«uð tÐ È«dÐ Ê«uðÅv� U¼År²¹—U~# “«

 ‰U¦
≥∫ ÈU¼ÅÊ«uð ÈÅt#U³!œ r¼ “UÐ ≤łuð d¹“ t!uL! tÐ Ë b¹dO~Ð dE!—œ «— Ò∫bOM� t

  32× 32× 32× 32 = (32)
4 =1048576 ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅœ«bŽ« Å∫ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

.     Å    ÅÅÅÅÅÅ   Å .      ÅÅÅÅÅ.    Å .ÅÅÅÅ     Å.ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ .ÅÅÅ        ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

   5 +  5  +  5  +  5  = 4× 5 = 20r²¹—U~� ∫ 

 s?¹dLð±∫q?\U?Š ¨b?¹«ÅÁœd?� t?O?N?ð œuš t� v#Ëbł Ë ‚u6 ‘Ë— “« ÁœUH²Ý« UÐ 

∫b¹—Ë¬ XÝœÅtÐ «— d¹“ ÈU¼Å —U³Ž

 ©n#«  (256)
3

ª

 ©»  (64)
5

ª 

 ©Û    (1024)


ª

 r²¹—U~�y ÈÅt¹UÄ —œ ≤ b¹UÐ t� XÝ« ÈœbŽ ≤ Uð rO�UÝdÐ Ê«uð Ê¬ tÐ «— yÆœuý q UŠ 

Æœ«œ qJý dOOGð r²¹—U~� pL� tÐ Ê«uðÅv' «— v�«uð ÈÅt�œUF' U¹ ÈËU*ð vMF¹

 ‰U¦
¥∫  dÖ«   2
x = 32—«bI� ¨ xÆbOM� «bOÄ r²¹—U~# n¹dFð tÐ tłuð UÐ «— 

 ∫qŠ¨r²¹—U~# n¹dFð tÐ tłuð UÐ

  
2

x = 32 . x = log2 32

® ‰Ëbł tÐ tFł«d� UÐ≥ —«bI� ¨©x  UÐ dÐ«dÐµ¨l
«Ë —œ ÆXÝ« 

  2
x = 2

5

 vMF¹ b!dÐ«dÐ r¼UÐ U¼UL! fÄ bM²5¼ ÈËU5� U¼Åt¹UÄ ÊuÇ Ë  x = 5Æ

® ‰Ëbł≥U?¼UM³� —œ «— œ«bŽ« r²¹—U~# Ë œd� tONð Èd~¹œ œbŽ d¼ ÈU¼ÅÊ«uð È«dÐ Ê«uðÅv� «— ©

® ‰Ëbł ÆœuL! »U5Š nK²A� ©ÈU¼Åt¹UÄ®¥ ÈUM³� —œ œ«bŽ« r²¹—U~# ©µ∫b¼œÅv� ÊUA! «— 



∂≥

® ‰Ëbł¥©

ìµ¥ ≥≤±∞∫r²¹—U~� x

ì≥±≤µ∂≤µ±≤µ≤µµ ±∫ œ«bŽ« y

 “« v¹U¼ÅÊ«uð  —u\ tÐ rO!«uðÅv� «— vÝbM¼ ÈÅt#U³!œ œ«bŽ«µ∫rO5¹uMÐ 

ìµ¥≥≤±∞∫r²¹—U~� x

ì  5
5

  5
4

  5
3

  5
2

  5
1

  5
0

∫ œ«bŽ« y

 UÐ dÐ«dÐ ¨ôUÐ vÝbM¼ ÈÅt#U³!œ œ«bŽ« t�µvMF¹ bM²5¼ ‚u6 vÐU5Š ÈÅt#U³!œ œ«bŽ« ÈU¼ÅÊ«uð tÐ 

y = 5
x . x = log5 y

 ‰U¦
µ∫łuð UÐ Ò® ‰Ëbł tÐ t¥ ¨©  5
3 =125∫UÐ XÝ« ‰œUF� t� 

  
log5125 = 3

K� —uÞ tÐÒ r²¹—U~� ̈ vy ÈÅt¹UÄ —œ b t� XÝ« ÈœbŽ ̈b Uð bÝdÐ œbŽ Ê¬ Ê«uð tÐ b¹UÐ y

∫œuý q UŠ

  
logb y = x . b

x = y   ;     y >0  ,    b >0   ,    b  1

s¹dLð

±ÆbO¼œ qJý dOOGð r²¹—U~# n¹dFð “« ÁœUH²Ý« UÐ «— ©v!«uð® v¹UL! ÈU¼ÅÈËU5ð ‡‡

 ©n#«  11
2 =121 ©»  2

10 =1024

 ©ÅÛ  5
x = 625 ©   0/ 5

y =0/ 25

 ©À  10
−3 =0/001 ©Ã  a

y =1000

 ©ıp
r = q ©Õ  7

3 = 343

 ©Œ  8
x = 4096

≤ÆbOM� q¹b³ð ©v!«uð® v¹UL! qJý tÐ «— d¹“ ÈU¼ÅÈËU5ð ‡‡Å

 ©n#«  
3 = log

6
216 ©»

  
0= log

9
1

 ©Û  
−2 = log100/01 ©   

y = log2 8



∂¥

 ©À
  
5 = log5 3125 ©Ãy = logb a

≥ÆbOM� «bOÄ «— d¹“ ÈU¼År²¹—U~# ©UM³�® ÈÅt¹UÄ ‡‡ 

 ©n#«
  
log 8 = 3

 ©»

  
log 36 = 2

 ©Û

  
log 0/1= −1 © 

  
log 0/ 25 = −2

 ©À

  
log 10=1 ©Ã

  
log 1=0

¥ÆbOM� «bOÄ ¨XÝ« Ábý Áœ«œ Ê¬ r²¹—U~# t� «— ÈœbŽ ‡‡Å

 ©n#«
  
log

16
= 2 ©»

  
log4 = 4

 ©Û
  
log

3
= −1 © 

  
log10 = 9

 ©À
  
log11 = 3 ©Ã

  
log5 = 4

µ —«bI� fáÝ Ë bO5¹uMÐ «— d¹“ ÈU¼Åt#œUF� v¹UL! ÈËU5ð ‡‡ÅÅyÆbOM� sOOFð «— 

 ©n#«
  
y = log264 ©»

  
y = log25 625

 ©Û
  
y = log1010000 © 

  
y = log

3
81

∂ÆbOM� sOOFð «— d¹“ ÈU¼År²¹—U~# “« p¹d¼ ‡‡ÅÅ

 ©n#«log2256 = ©»log
13

169 =

 ©Û

  
log101= © log

9
59049 =

 ©Àlog
7

343 = ©Ãlog
3

243 =

≥Å‡‡ ≤È—UAŽ« r²¹—U~� ‡‡

łuð UÐÒ ÈU?M³� —œ r²¹—U~# ‰Ëbł ¨XÝ« ©È—UAŽ«® v¼b¼œ U� ‘—ULý ÁU~²Ýœ t� s¹« tÐ t±∞

ÆXÝ« È—UAŽ« r²¹—U~# dÐ gAÐ s¹« tOJð t−O²! —œ ÆœdOÖÅv� —«d
 ÁœUH²Ý« œ—u� d²AOÐ

ì±∞π∏∑∂µ¥≥≤±∞  ∫r²¹—U~� x

ì
  10

10
  10

9
  10

8
  10

7
  10

6
  10

5
  10

4
  10

3
  10

2
  10

1
  10

0∫œ«bŽ«y

ÅÈÅtDÐ«— t�
  
y =10

x
ÅÆœuýÅv� t²ýu! t#U³!œ Ëœ s¹« tÐ tłuð UÐ 

yF� d
Ò

Ë œbŽ p¹ · x  ÈUM³� —œ r²¹—U~# ® È—UAŽ« r²¹—U~# ·dF�Å±∞r²¹—U~# sOÐ ÆXÝ« Ê¬ ©

 ÈUM³� —œ±∞ö¦� Æœ—«œ œułË v×¹d\ ◊U³ð—« È—UAŽ« ‘—ULý ÁU~²Ýœ Ë Î r²¹—U~#   1,000,000,000

 UÐ dÐ«dÐπ «d¹“ XÝ«   1,000,000,000=10
9

Ëœ »d{Åq\UŠ ÈU¼dH\ œ«bFð t� rO!«œÅv� ¨sL{ —œ 



∂µ

“« ÁœU?H?²?Ý« t?Ð “U?O?� Ë X?Ý« œb?Ž Ëœ ÈU?¼d?H� œ«bFð dÐ«dÐ bM²�¼ Áœ ÈU¼ÅÊ«uð  —u� tÐ t" ÈœbŽ

“—U?Ð v²$Ë ôUÐ ‰Ëbł ‘“—« ‰UŠ s¹« UÐ ÆX�O� v¹U¼Å»d{Åq�UŠ sOMÇ ÈÅt³ÝU×3 È«dÐ U¼År²¹—U~6

“« œ«bŽ« v6Uš ÈU¼ÅtK�U9 rO�«u²Ð b¹UÐ ̈  —u� s¹« —œ ÆbMýU³� Áœ ̀ O×� ÈU¼ÅÊ«uð ̈ œ«bŽ« t" œuýÅv3

  10
0

 Uð   10
1

® ‰Ëbł ÂuÝ n¹œ— —œ «— µÆrOM" dÄ ©

® ‰Ëbłµ©

±∞ ∫r²¹—U~�x

±∞π∏∑∂µ¥≥≤±∫œ«bŽ« y

  10
1

  10
?

  10
?

  10
?

  10
?

  10
?

  10
?

  10
?

  10
?

  10
0∫œ«bŽ« y

 `?O×� ÈU¼ÅÊ«uð ÈU¼År²¹—U~6 ¨n¹dFð tÐ tłuð UÐ±∞ `?O×� ÈU¼ÅÊ«uð ÊUL¼ ±∞—œ ÆbM²�¼ 

łuð UÐ t−O²�Ò vMF¹ vLKŽ œUL�  —u� tÐ œ«bŽ« s²ýu� ‘Ë— tÐ t  a ×10
n

 ◊dý UÐ   1. a . 10tÐ jI9 ¨

 sOÐ œ«bŽ« ÈU¼År²¹—U~6± Ë ±∞ Èd�" ÈU¼ÅÊ«uð ÊUL¼ ¨œ«bŽ« s¹« t" r¹—«œ “UO� ±∞ÆbM²�¼ 

≥Å‡‡Å≤ ‡‡Å±r²¹—u~�« p¹ ∫È—UAŽ« r²¹—U~� tÐ ÊbOÝ— È«dÐ výË— ‡‡

±ö¦3 pÇu" œbŽ p¹ ‡‡ÅÎ  Å±

°dðÅ¯—eÐ vKOš t� U3« býUÐ dðÅ¯—eÐ p¹ “« t" rOM"Åv3 »UX²�« «—ÅÅ

ONð Ê¬ ÈU¼ÅÊ«uð “« v²�O6 ËÒ∫rOM"Åv3 t

   
1  ,   2  ,   3  ,   ...   ,   24  ,   25  ,  ...

œbŽ Ëœ rO¼«uXÐ dÖ«a  Ë b ÈU¼ÅÊ«uð “« vJ¹ UÐ «— U¼ÅÊ¬ “« Â«b" d¼ ¨rOM" »d{ r¼—œ «—  

 ® ÆrO�“Åv3 V¹dIð.U³¹dIð œUL� Î©XÝ« 

 ‰U¦&∂∫ÅÅ  dÖ«  a .  17
 Ë   b .  8

ÁU~�¬ ¨

a.b .  17 × . 8 = . 17+8 = . 25 ,

ÆrOM" tFł«d3 ¨r¹«ÅÁœd" tONð t" v²�O6 tÐ ¨Ê¬ Êœd" «bOÄ È«dÐ rO�«uðÅv3 t"

 ‰U¦&∑∫  d¹œUI3 tÐ tłuð UÐ a Ë b ‰U¦3 —œ ∂ 
a
b

rOM"Åv3 «bOÄ «— 

  

a
b

.  17

 8
= . 17−8 = . 9

±ÆœuýÅv3 kHKð UH6¬ t" v�U�u¹ ÈU³H6« ·dŠ sO6Ë« ‡‡Å



∂∂

 ‰U¦
∏∫ÅÅÅ —«bI� tÐ tłuð UÐ a ‰U¦� —œ ∂ ¨  a
20

r¹—Ë¬Åv� XÝœÅtÐ «— 

  a
20 . (. 17 )20 = . 340

≤ ¨—U?A?Ž« v?#u?LF� œUL! UÐ Áb¹« s¹« v~M¼UL¼ È«dÐ ‡‡Å. “« Èd?5� Ê«uð p¹ «— ±∞»U?A²!« 

ÆrOM�Åv�

 ‰U???¦??
π∫ .«—   10

1

32 q???�U???ý v???²???5???O???# t??Ð j??I??6 f??Ä Æ©ø«d??Ç ® r??O??M??�Åv??� »U??A??²??!« 

. 31
,  ...  , . 3

, . 2
, .«d¹“ ¨r¹—«œ “UO!Å   .

32 =10 —œ œ«bŽ« »d{  Ë ±∞ dÐ U¼ÅÊ¬ rO5Ið U¹ Ë ±∞

O?L?� Êœ«œ X?�d?Š U?¹ Ë d?H?\ Êœd?� r� U¹ t6U{« UÐ UNMðÒ¨‰U?¦?� Ê«u?M?Ž t?Ð Æœd?O?ÖÅv� ÂU−!« È—UAŽ« e

  300×10= 3000¨   300. 10= 30Ë   300. 1000=0/ 3Æ

sOÐ v#Uš ÈÅtK\U6 rO!«uðÅv� ¨—U� s¹« UÐ  10
0

Ë   10
1

® ‰Ëbł —œ «—µÄ ©ÔÆrOM� d

 XO�UF*≥‡‡ ≤

  .
32 = (10

1

32 )32 = ?

Ë

  .
16 = (10

1

32 )16 = ?

≥U¹ ¨b!dOÖÅv� —«d
 ÊU�œuš jÝuð Áb�¬ XÝœÅtÐ ◊UI! sOÐ t� Èœ«bŽ« Êœ—Ë¬ XÝœÅtÐ È«dÐ ‡‡ 

“«X?ÝœÅt?Ð —«œu?L?! ÈË— “« «— U?¼ÅÊ¬ v?³?¹d?I?ð —«b?I?� U?¹ Ë r?O?M?�Åv?� ÁœU?H?²?Ý« v#uLF� »U5Š sOýU�

 œbŽ Ær¹—Ë¬Åv�±∞ ÈÅtL�œ Êœ«œ —UA6 —UÐ ZMÄ UÐ fáÝ Ë rOM�Åv� œ—«Ë »U5Š sOýU� —œ «— 

  10

1

32
«d¹“ rOM�Åv� «bOÄ «— 

  10 =10

1
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 Èd5� ÈU¼ÅÊ«uð —«bI� tÐ tłuð UÐ fáÝ ÆrOM�Åv� rÝ— «— vM×M� ¨ UŽöÞ« s¹« UÐ±∞d¹œUI� ¨
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31

32 ,  ...  ,  10

3

32  ,  10
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32
 ÈU?¼ÅÊ«u?ð v?MF¹ ¨  . 2

 U?ð   . 32
X?ÝœÅt?Ð »U?5?Š s?O?ýU?� ÈÅt?KOÝËÅÅtÐ «— 

 ÈU¼ÅÊ«uð ¨v5¹u!Åt\öš È«dÐ Ær¹—Ë¬Åv�. «— n È«dÐ Ë rO�U!Åv�   0. n . 32r
— tÝ Uð «— ‰Ëbł 

ÆrOM�Åv� qOLJð —UAŽ«
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 s¹dLð≤ ∫® ‰Ëbł tÐ tłuð UÐ∂∫bOM" ÊU×²3« «— d¹“ ÈÅtDÐ«— v²Ý—œ ¨©

log(2× 3) = log2+ log 3
ÅÅ±

® ‰Ëbł —œ œułu3 ÈU¼—«bI3 tÐ tłuð UÐ∂ÆrOM"Åv3 rÝ— «— d¹“ —«œuL� ©

   
n = (10

1

32 )n =10

n
32     ,      0 .  . 32

® ‰Ëbł∂©

  a
n ==10

n
32

  
log:

n
32

    
n ==10

n
32

  
log:

n
32

    
n ==10

n
32

  
log:

n
32

  5 / 224
  

23

32
=0/ 718  2 / 371

  

12

32
=0/ 375  1/074

  

1

32
=0/0312

  5 / 623
  

24

32
=0/ 750  2 / 546

  

13

32
=0/ 406  1/154

  

2

32
=0/0625

  6

  6 /039
  

25

32
=0/ 781  2 / 735

  

14

32
=0/ 437  1/ 240

  

3

32
=0/0937

  6 / 486
  

26

32
=0/ 812  2 / 937

  

15

32
=0/ 468  1/ 333

  

4

32
=0/125

≥

  6 / 966
  

27

32
=0/ 843  3 /162

  

16

32
=0/ 500  1/ 432

  

5

32
=0/156

∑

  7 / 498
  

28

32
=0/ 875  3 / 396

  

17

32
=0/ 531  1/ 538

  

6

32
=0/187

∏
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32
=0/ 906  3 / 656

  

18

32
=0/ 562  1/ 652

  

7

32
=0/ 218

  8 / 649
  

30

32
=0/ 937  3 / 917

19
32

= 0/ 593  1/ 778
  

8

32
=0/ 250

π¥

  9/ 290
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32
=0/ 968  4 / 217
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32
=0/ 625  1/ 910

  

9

32
=0/ 281

≤  0/ 301

  10/000
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32
=1  4 / 529
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=0/ 656  2 /051
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=0/ 312
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µ

      ÅÅÅ  0. n . 32

  

965

3200
. 0/ 301 .

.

.

.

..

.

.

.

.. .
.
.

..

.

.

.

..

.

.

.

..

.

.

.

..
.

.

.

.

.

..

.

.

.

.

..
.

±‡‡Å ÈUM³3 t" rOM"Åv3 œ«œ—«d$ ±∞ÆrO�¹uM� «— 



∂π

 ‰U¦
±∞  ∫År²¹—U~# Êœ—Ë¬ XÝœÅtÐ È«dÐ≤ —«bI� ¨≤ —u×� ÈË— «— yÁU?~!¬ ÆrOM�Åv� «bOÄ U¼

t?Ð v?D?š v?
ö?ð ÈÅt?D?I?! “« f?á?Ý Æb?¹UL! lD
 «— —«œuL! Uð rOM�Åv� rÝ— vI6« —u×� È“«u� vDš

Å—u?×� Uð rOM�Åv� rÝ— ÈœuLŽ —u×�  «“«u� x Æb?M?� lD
 È«ÅtDI! —œ «— U¼År²¹—U~# —u×� vMF¹  U¼

 —u×� UÐ v
öð tDI!x r²¹—U~# ÊUL¼ U¼≤ vMF¹ 

  

965

3200
 dÐ«dÐ t� XÝ« ∞[≥∞±∫XÝ« 

  
log2 =0/ 301

n.

1/ 778

0

32

8

32

16

32

32

32

n
32
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2

1

3 /162

n.

2

0/301 . 965

3200

n
32
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 ‰U?¦� —œ ¨l
«Ë —œ±∞® ‰Ëb?ł t?Ð tFł«d� UÐ ∂ —«b?I� ¨©
  
log2 X?Ýœ t?Ð v?Ðu?KD� V¹dIð UÐ «—

 —«bI� ̈ vMF¹ Ær¹œ—Ë¬≤ Êu²Ý —œ «— . n
 —«bI� Ær¹œd� u−²5ł ≤ sOÐ ±[π±± Ë ≤[∞µ≥ÈU¼År²¹—U~# Ë 

 s?O?Ð U¼ÅÊ¬ ‰œUF�

  

9

32
 Ë 

  

10

32
 Êu?Ç ¨‰U?Š s?¹« UÐ ÆœuÐ ≤ t?Ð dðÅp¹œe! ≤[∞µ≥—«b?I?� t?−O²! —œ ¨œuÐ 

 tÐ eO! Ê¬ r²¹—U~#

  

10

32
 r²¹—U~# È«dÐ vÐuš V¹dIð ¨Êœd� g¹U�“¬ —UÐ bMÇ UÐ ÆœuÐ dðÅp¹œe! ≤ÊUL¼ t� 

∞[≥∞± ÈU?¼År?²¹—U~# VOðdð sOL¼ tÐ Ær¹œ—Ë¬ XÝœ tÐ XÝ« ≥ v#« πv?MF¹ ¨r¹—Ë¬Åv� XÝœ tÐ eO! «— 

 œ«bŽ«≤ Uð π Èd5� ÈU¼ÅÊ«uð V5ŠdÐ «— ±∞∫rO5¹u!Åv� 

π∏∑∂µ¥≥≤±∫œ«bŽ«y

  100/954
  10

0/903

  10
0/ 845

  10
0/ 778

  10
0/698

  10
0/602

  10
0/477

  10
0/ 301

  10
0

  ∫œ«bŽ«y

  0/ 954  0/ 903  0/ 845  0/ 778  0/ 698  0/ 602  0/ 477  0/ 301∞ ∫r²¹—U~�x

≥Å‡‡Å≥vLKŽ œUL> Ë r²¹—U~� ‡‡

ÈÅÁu?O?ý U?Ð Ê¬ p?¹œe?! ◊U?³?ð—« n?K²A� ÈU¼UM³� —œ r²¹—U~# tÐ X³5! È—UAŽ« r²¹—U~# ÈdðdÐ

ONð ◊U³ð—« s¹« tÐ tłuð UÐ d¹“ ‰Ëbł ÆXÝ« vLKŽ œUL! qJý tÐ œ«bŽ« s²ýu!Ò  Ê¬ —œ t� XÝ« Ábý t≤

 Èd5� Ê«uð  —u\ tÐ±∞ vMF¹   10
0/ 301

ÆXÝ« Ábý t²ýu! 

œ«bŽ« v³¹dIð r²¹—U~� ÈdAB ÈU¼ÅÊ«uð  —uE tÐ œ«bŽ«ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±∞

qJý tÐ œ«bŽ«qJý tÐ œ«bŽ«

vLKŽ œUL>È—UAŽ«

  1/ 301  10
1/ 301

  10
0/ 301 ×10

1

  2×10
1

  20

  2 / 301  10
2/ 301

  10
0/ 301 ×10

2

  2×10
2

  200

  3 / 301  10
3 / 301

  10
0/ 301 ×10

3

  2×10
3

  2000

  4 / 301  10
4 / 301

  10
0/ 301 ×10

4

  2×10
4

  20000

® ‰Ëbł∑©

∫rOM�Åv� qLŽ d¹“ VOðdð tÐ »U5Š sOýU� “« ÁœUH²Ý«  —u\ —œ

ÁbM¼œÅg¹UL! UOKLŽ VOðdð

¥[≥∞±log≤∞∞∞∞



∑±

 XO�UF*≥‡‡Å≥

łuð UÐ ‡‡ n#«
Ò

Æb¹—Ë¬ XÝœÅtÐ «— d¹“ ÈU¼År²¹—U~# ¨q³
Åt×H\ tÐ t

± ‡‡Å  2,000,000,000

≤ ‡‡Å  2×10
17

œ«bŽ«  r²¹—U~� ÈdAB ÈU¼ÅÊ«uð  —uE tÐ œ«bŽ«±∞

qJý tÐ œ«bŽ«qJý tÐ œ«bŽ«

vLKŽ œUL>È—UAŽ«

  4 / 699  10
4 /699

  10
0/699 ×10

4

  5 ×10
4

  50,000

  5 / 699  10
5 /699

  10
0/699 ×10

5

  5 ×10
5

  500,000

                  5,000,000

                  50,000,000

® ‰Ëbł∏©

® ‰Ëbł tÐ tłuð UÐ ‡‡ »∏ ÈU¼ÅXL5
 tÐ ©± ¨Å≤ Ë ≥∫bO¼œ aÝUÄ 

±® ‰Ëbł ‡‡Å∏ªbOM� q�U� «— ©

≤ r²¹—U~# È«—«œ ÈœbŽ tÇ ‡‡Å±∑[∂ππøXÝ« 

≥ r²¹—U~# È«—«œ ÈœbŽ tÇ ‡‡Å≤∏[∂ππøXÝ« 

 s¹dLð≥∫® ‰Ëbł π® ‰Ëbł tÐ tFł«d� UÐ U¹ «— ©∂ULOI²5� U¹  ©Îq�U� »U5ŠÅsOýU� ÈÅtKOÝË tÐ 

∫bOM�

¨rOM� «bOÄ »U5ŠÅsOýU� ÈÅtKOÝË tÐ «— œbŽ œuš rO¼«uAÐ Ë rOýUÐ t²ý«œ «— œbŽ r²¹—U~# dÖ«

∫rO¹UL!Åv� qLŽ d¹“ VOðdð tÐ

g¹UL! UOKLŽ VOðdð

∑[ππ∏log INV 
±

Å∞[π∞≥

 

±‡‡Å InverseÆXÝ« lÐUð ”uJF� ÈUMF� tÐ



∑≤

 ÈÅtL�œ ÈUł tÐ ¨U¼Å»U5ŠÅsOýU� vCFÐ —œINV ÈÅtL�œ “«  2ndFÆbMM�Åv� ÁœUH²Ý« 

œ«bŽ«  r²¹—U~� ÈdAB ÈU¼ÅÊ«uð  —uE tÐ œ«bŽ«±∞qJý tÐ œ«bŽ«qJý tÐ œ«bŽ«

vLKŽ œUL>È—UAŽ«

  5 /082  10
5 /082

  10
0/082 ×10

5

  1/ 21×10
5

  121,000

                                         1,000,000,000,000

  1/ 544  10
1/544

  10
0/544 ×10

1

  3 / 5 ×10
1

              

     10
0/602

  10
0/602 ×10

0

  4×10
0

         

  2 / 903                     

  23 / 778  10
23 / 778

  10
0/ 778 ×10

23

  
.
6 /02×10

23
         

® ‰Ëbłπ©

łuð UÐÒÈU¼ÅÊ«uð Êœ—Ë¬ XÝœÅtÐ UÐ Ë vLKŽ œUL! œułË UÐ t� r¹b¹œ ¨ôUÐ ÈU¼Ås¹dLð Ë U¼Å‰U¦� tÐ t

 È—U?AŽ«±∞M?F¹ Ås?O?Ð ÈÅt?K\U6 Êœd�dÄ UÐ v  10
0

 U?ð   10
1

® ‰Ëbł ∂«— œ«b?Ž« ÂU?L?ð r?²?¹—U~# rO!«uðÅv� ©

Áœ ÈU?¼ÅÊ«u?ð ¨r?²?¹—U~# `O×\ XL5
 Ær¹—Ë¬ XÝœÅtÐ


t?²?ýu?! v?LKŽ œUL! qJý tÐ t� bM²5¼ Èœ«bŽ« 

©r¹b¹œ «— Ê¬ Êœ—Ë¬ XÝœÅtÐ o¹dÞ t�® ‰Ëbł tÐ tFł«d� UÐ Ê«uðÅv� «— r²¹—U~# Èd5� XL5
 Æb!«ÅÁbý

v?!«uðdOž XL5
 ÊuÇ sL{ —œ ÆrOM� «bOÄ “« d?²L� tAOL¼ vLKŽ œUL! ±∞‰Ëbł tÐ t−O²! —œ ¨XÝ« 

 “« dðÅ¯—eÐ œ«bŽ« È«dÐ r²¹—U~#±∞Ær¹—«b! È“UO! 

¿ —œ U¼Å‰uJ#u� œ«bFð Ë—œUÖ«Ë¬ œbŽ Æœ—«œ ÈœU¹“ ÈÅÁœUH²Ý« vLOý —œ t� XÝ« ·ËdF� Ë—œUÖ«Ë¬ œbŽ ÂU! tÐ œbŽ s¹« ±∏

ÆXÝ« ÁœU� d¼ “« ‰uJ#u� p¹ U¹ »¬ ÂdÖ



∑≥

≥Å‡‡ ¥r²¹—U~� UÐ t³ÝU×
 ‡‡

e?~?¹d?ÐÅÈd?M?¼ ¨r¼bH¼ ÊdK vAOK~>« Ê«bO{U¹—
±

‰Ëb?ł s?O?�Ë« Ë œ«œ œU?N?MAOÄ r²¹—U~� È«dÐ «— È—UAŽ« ÈUM³
 

ONð «— È—UAŽ« r²¹—U~�
Ò

 ‰UÝ —œ sOÇ —uÞ«dá
« ¨Ê¬ “« fÄ ÆœdB t±∑±≥¨ÁœdB pŠ »uÇ dÐ «— vÐU²B tB œ«œ —u²Ýœ 

 “« œ«bŽ« r²¹—U~� »U²B Ê¬ —œ tB bMMB dA²M
± Uð ±∞∞∞∞∞pŠ XÝœ UÐ ÒÆœuÐ Ábý 

±Å‡‡ Henry Briggs
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∑µ

≥ÅÅ‡‡ÅµvL²¹—U~� jÐ«Ë—  U³Ł« ‡‡ÅÅÅ

r²¹—U~# n¹dFð dÐUMÐ

  
10

x = y . x = log10 y

ö³
 «— »d{Åq\UŠ ÈÅtOC
  U³Ł«Î s¹dLð —œ vÐd−ð —uÞÅtÐ ≤® ÈU¼Å‰Ëbł —œ Ë ∏® Ë ©π‰UŠ Ær¹b¹œ  ©

ÈÅt?O?C?
 ¨v?łU?²?M?²?Ý« ‰ôb²Ý« ÈÅtKOÝËÅtÐ ¨r¹«Åt²6d¹cÄ «— Ê¬ v²Ý—œ t� r²¹—U~# n¹dFð “« ÁœUH²Ý« UÐ

ÆrOM�Åv�  U³Ł« oO
œ —uÞ tÐ «— »d{Åq\UŠ

 ÈÅtOC�±∫ X³¦� Ë vIOIŠ œbŽ Ëœ d¼ È«dÐ aË b ¨

  
log10ab = log10a + log10b

 ∫ U³Ł« dÖ«
  
log10 a = x1 Ë 

  
log10 b = x2∫ÁU~!¬ 

®≤ ©  b =10
x

2
   Ë ®Å± ©  a =10

x
1

® ÈÅtDÐ«— Ëœ »d{ “«±® Ë ©≤∫r¹—Ë¬Åv� XÝœ tÐ ©

  ab =10
x

1 ×10
x

2 =10
x

1
+x

2

r²¹—U~# n¹dFð tÐ tłuð UÐ

log
10

ab = x
1

+ x
2

® ÈÅtDÐ«— “«±® Ë ©≤ d¹œUI� ©
  
x

1
 Ë 

  
x

2
rOM�Åv� s¹e~¹Uł «— 

logab = loga + log b

ÆœuýÅv� XÐUŁ rJŠ Ë

 ÈÅtOC�≤Å
±

∫ È«dÐ t� bO¼œ ÊUA!   a . 0 ¨loga
n = n logaÆ

∫ U³Ł« ÈÅtOC
 rOLFð l
«Ë —œ tOC
 s¹« ±∫«d¹“ XÝ« 

  

logan = loga.a.a.....a
    n

  

= loga + loga+...+ loga
    n

  

—UÐ                         —UÐ                                                   

t−O²! —œ

logan = n loga

 s¹dLð¥ ∫ ÈÅtOC
 ¨v{U¹— È«dI²Ý« “« ÁœUH²Ý« UÐ≤ÆbOM�  U³Ł« «— 

 s¹dLðµ∫ÅÅ X³¦� Ë vIOIŠ œbŽ Ëœd¼ È«dÐ bOM� XÐUŁ a Ë b¨
log(

a
b

) = loga − log b

±ÆXÝ« X³¦� `O×\ ÈU¼ÅÊ«uð tÐ œËb×�  U³Ł« UłÅs¹« —œ U�« XÝ« —«d
dÐ vIOIŠ Ê«uð d¼ È«dÐ tOC
 s¹« ‡‡Å



∑∂

 ‰U¦�±∞∫  ÈÅtOC	 “« ÁœUH²Ý« UÐ± —«bI� ¨
  
log5 + log20ÆrOM�Åv� t³ÝU×� «— 

∫qŠloga + log b = logab

fÄlog5 + log20= log5 ×20= log100= 2

 s?¹dLð∂ ∫  ÈU?¼Åt?O?C?	 ¨vK� —uÞ tÐ± ËÅ≤q?O?*œ ÆX?Ý« X?Ý—œ v?¹U?M?³� d¼ —œ r²¹—U~* È«dÐ 

ÆbOM� vÝ—dÐ «— v²Ý—œ

ÆbMM�Åv� ÊUÝ¬ «— r²¹—U~* UÐ  U³ÝU×� ¨d¹“ ÈÅtOC	 tÝ

 ÈÅtOC�≥∫logc (ab) = logc a + logc b

 ÈÅtOC�¥∫ logc an = n logc a

 ÈÅtOC�µ∫logc (
a
b

) = logc a − logc b

� ‰U¦±±∫ ÈÅtDÐ«— ¨‚u4 ÈÅtOC	 tÝ “« ÁœUH²Ý« UÐ 

  
log(

x
2
y

z
)ÆbOM� q¹b³ð «— 

∫qŠ

  ÈÅtOC	 o³Þ≥r¹—«œ 

®±©log(
x2y
z

) = log(x2y) − logz

ÈÅtOC	 o³Þ ±

®≤©
  
log(x2y) = log x2 + log y

 ÈÅtOC	 o³Þ≤

®≥©
  
log x2 = 2log x

® vM¹e~¹Uł UÐ≥® Ë ©≤® —œ ©±t� œuýÅv� t−O²> ©

  

log(
x2y
z

) = 2log x + log y − logz

 ‰U¦�±≤∫  —U³Ž 
  
log( a3 b )ÆbOM� q¹b³ð «— 

∫qŠlog( a3 b ) = log(a
1

3 b
1

2 )

 ÈÅtOC	 o³Þ±∫= loga
1

3 + log b
1

2

 ÈÅtOC	 o³Þ≤∫

  

= 1

3
loga + 1

2
log b



∑∑





∑π

©Ã
  
log( a3 b4

5
4 )

©ı

  

log(
a23

b a44
)

©Õlog(
a

2

b
2
c

)

≤∫bOM� q¹b³ð r²¹—U~# p¹ tÐ ‡‡

©n#«
  
5 loga −2log b + 3 logc

©»

  

1

4
log(ab) − 3

5
log(a2b)

©Û2log(x + y) − 3 log(x − y)

© 
  
log pq − log2q

≥OG²� È«dÐ «— d¹“ vL²¹—U~#  ôœUF� ‡‡Òd x ∫bOM� qŠ

©n#«
  
log27 = 3 log x

©»
  
log x +2log4 = 2log12

©Û

  

log(p − q) = log(p2 − q2) − 1

2
log x

≥Å‡‡Å∂«bE Ë t�e�“ g−MÝ ”UOI
 ∫r²¹—U~� ÈU¼œdÐ—UB ‡‡ 

 ‰UÝ —œ±≥∂π UHKð YŽUÐ t!UHÝQ²� t� XÝuOÄ Ÿu
Ë tÐ Ê«d¹« —UÐœË— dNý —œ Èb¹bý ÈÅt#e#“ ̈

b?ý ¨Ê«dNð ÁU~A!«œ vÝUMý t#e#“ e�d� Æbý È—UO5Ð v!UłÒ sOÐ «— t#e#“  ∑[≤ Uð ∑[∂d²A¹— 
±

ÂöŽ« 

Æœd�

ôu\«Î “« g?O?Ð  —b
 UÐ v¹U¼Åt#e#“ Ÿu
Ë d³š U¼Åt!UÝ— t� v²
Ë µ¨bMM�Åv� ‘—«eÖ «— d²A¹— 

±‡‡ Richter
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Nœ XÝ« ÁbýÒ∫bOM; X

ìvFO³Þ ÈU¼ËdO" ÈÅt"Ušœ«—“

 Ω Á“d� sO�“µ∞∞∞∞vLð« VLÐ 

  —b??2 t??Ð È«ÅÁ“d?�Ås?O?�“±∞
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œ UÐÒ“Ë— Ê¬ —œ d?³?š ÊU?Öb?�u?Mý œ«bFð ¨“Ë— p¹ XýcÖ UÐ t� rOM�Åv� Áb¼UA� ¨‰Ëbł —œ X

U³¹dIð ©ÅÂuÝ Êu²Ý® œ«dA« q� œ«bFð Ë b�uýÅv� q³
 “Ë— dÐ«dÐËœÎ“Ë— Ê¬ —œ d³š ÊUÖb�uMý œ«bFð dÐ«dÐËœ 

OL� Ëœ sOÐ ÈÅtDÐ«— ¨Áb¼UA� s¹« Æb�uýÅv�ÒÊUÖb�uMý œ«bFð vMF¹ b¼œÅv� ÊUA� U� tÐ «— dOG²� Ëœ U¹ X



∏π

¨“Ë— Ê¬ —œ d³š ÊUÖb�uMý œ«bFð Ë U¼“Ë— œ«bFð sOÐ ÈÅtDÐ«— ÆXÝ« “Ë— Ê¬ “« vFÐUð ¨“Ë— d¼ —œ d³š

 p¹ v¹UL& lÐUð ÈU¼UL� U¹ U¼ÅÊ«uð  —uyÅtÐ ¨d³š ÈÅÁb�uMý œ«dA« œ«bFð bý— «d¹“ ¨XÝ«≤ÆXÝ« 

¥‡‡±‡‡±— —«œuL& ‡‡Ô∫v¹UL& býËœ Êu²Ý —œ t� «— v¹u~�« Ò —uyÅtÐ r¹œd� Áb¼UA� ‰Ëbł Â

∫rO¼œÅv� g¹UL� —«œuL�
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n

 qJý± “Ë— —œ t! Èœ«d�« œ«bFð ‡‡n«ÅÔÆb&«ÅÁbOMý «— d³š Â

“Ë—= Ê«uð ® ©ÈUL&n
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œ
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«
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«
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F
ð

n
«
Å

Ô
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&«
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O
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 Â
  2

n
=

 s?O?Ð ÈÅtDÐ«— ‚uA d¹uBð Ë XÝ« v¹UL� lÐUð p¹ “« È«Åt�uL� ¨Ëœ ÈU¼ÅÊ«uð —«œuL�n Ë 
  2

n«— 

  —u?yÅt?Ð rO�«uð v� «— tDÐ«— s¹« Æb¼œÅv� ÊUA�  b = 2
n

Ÿu?� “« v?DÐ«Ë— ¨l
«Ë—œ ÆrO¼œ g¹UL� eO� 

b = an
  Ê¬ —œÅt� aÅ® XÝ« p¹ “« dðÅ¯—eÐ   a . 1© ·dŠ Æb�—«œ —«œuL� s¹« UÐ tÐUA� vKJý adF� Ò·

t¹UÄ ·dŠ Ë n·dF� UL&  U¹ Ê«uðÆXÝ« 

 ‰U¦�±∫ łuð UÐÒ  Èd�� ÈU¼UL� rO�«uðÅv� ̈ ‚uA —«œuL� tÐ t≤ö¦� ÆrO�eÐ V¹dIð «— ÎXÝœÅtÐ È«dÐÅ

—«bI� Êœ—Ë¬  b = 2

7

2 ÊuÇ ¨

  

7

2
 vMF¹ µ[≥ sOÐ ≥ Ë ¥ —«bI� t−O²�—œ ¨XÝ«   2

7

2 sOÐ eO�   2
3

 Ë   2
4

U¹ 

 sOÐ∏ Ë ±∂ v³¹dIð —«bI� fÄ ÆXÝ«   2

7

2
 dÐ«dÐ ±≤ÆXÝ«  

 ‰U?¦�≤ ∫ “« v?�«u?ð t?Ç t?� r?O�«bÐ rO¼«u7Ð dÖ«≤ ÈËU?�� ∑µ¨Áœd?� t?F?ł«d� —«œuL� tÐ ¨XÝ« 

 v³¹dIð »«uł≤[∂ «d¹“ r¹—Ë¬Åv� XÝœÅtÐ «— ∑µ sOÐ ∂¥ Ë ±≤∏ vMF¹   2
6

 Ë   2
7

∫XÝ« 

  2
6 . 2

n . 2
7

  64 . 75 . 128

 vMF¹n sOÐ ∂ Ë ∑ ÊuÇ Ë XÝ« ∑µ tÐ ∂¥ fÄ ̈ XÝ« dðÅp¹œe� n‰U¦� Ëœ s¹«®ÆXÝ« dðÅp¹œe� gý tÐ  

©ÆbOM� t�¹UI� «—



π∞

 s¹dLð≤ ∫∫—«œuL� “« ÁœUH²Ý« UÐ

 v³¹dIð —«bI� ©n�«n tDÐ«— —œ «—   2
n = 56ÆbOM� «bOÄ 

 v³¹dIð —«bI� ©»  2

17

3
Æb¹—Ë¬ XÝœÅtÐ «— 

 s¹dLð≥∫ s¹dLð “« ©»® Ë ©n�«®ÈU¼ÅXL�
 ≤ÆbO¼œ `O{uð øb�—«œ r²¹—U~� UÐ È«ÅtDÐ«— tÇ 

 XO�UF�¥‡‡≤

 ‰U?Ý “« v?�u?L?Ž q?O?B×ð ÈÅtM¹e¼ t� rOM� ÷dA±≥∑∞@?M?¼¬ UÐ ÈbOý—uš 
±

 ÈÅt�ôUÝ ±∞

by—œ
≤

U?³?¹d?I?ð b�Ë— s¹« Ë XÝ« ÁœuÐ g¹«eA« tÐ Ë— Î‰U?Ý —œ d?Ö« Æb?M?�Åv?� «bOÄ t�«œ« VOðdð sOL¼ tÐ 

±≥∑∞Ë« ”ö?� t?Ð œöO� t� Òq?O?B×ð ÈÅtM¹e¼ ¨XA— ‰
≥

 Ë« ±∏∞∞∞—œ t?M?¹e?¼ s¹« ¨býUÐ ÁœuÐ ÊU�uð 

 “« fÄ® v¼U~A�«œÅgOÄ ÈÅÁ—Ëœ±≤ ‰UÝ —œ vMF¹ ©‰UÝ ±≥∏≤s¹« tÐ aÝUÄ È«dÐ øœuÐ b¼«uš —b
ÅtÇ 

∫r¹dOÖÅv� dE� —œ «— nK²7� dO�� Ëœ ¨‰«RÝ

 dO��±∫ ∫XÝ« sOMÇ ‰UÝ p¹ ÊU¹UÄ —œ œöO� qOB×ð ÈÅtM¹e¼

•        ©tO�Ë« ÈÅtM¹e¼®±∞Å+Ë« ÈÅtM¹e¼ Ò tO�a =

ÅtM¹e¼ dÖ«Ë« ÈÒ«— tO�∫ÁUÖÅÊ¬ rOM� ÷dA ÊU�uð p¹ 

  

a =1+ 10

100
×1

  a =1+0/1

 ‰UÝ ÊU¹UÄ —œ œöO� qOB×ð ÈÅtM¹e¼±≥∑∞                                      
  

a =1/1

 ‰UÝ ÊU¹UÄ —œ±≥∑± œöO� qOB×ð ÈÅtM¹e¼ ̈±[± vMF¹ ̈ Ë« q³
 ‰UÝ qOB×ð ÈÅtM¹e¼ 
  1/1×1/1

 «d¹“ XÝ«  (1/1) + (0/1)(1/1) = (1/1)(1/1) œö?O?� qOB×ð ÈÅtM¹e¼ ¨ÂuÝ ‰UÝ —œ Æ±[±ÈÅt?M¹e¼ 

vMF¹ Ë« q³
 ‰UÝ

  (1/1×1/1) ×1/1

± ‡‡ Rate �®©Œd

≤ t?�ôU?Ý bý— @M¼¬ ‡‡±∞Èe?�d?� p?�U?Ð  U?Žö?Þ« “« v?F
«Ë tM¹e¼ ÈÅt³ÝU×� È«dÐ ÆXÝ« v{dA X�UŠ p¹ by—œ 

ÆbO¹UL� ÁœUH²Ý«

≥ÆXÝ« tÝ—b� b�¬ Ë XA— ÈÅtM¹e¼ Ë »U²� ¨d¹d×ð Â“«u� q�Uý qOB×ð ÈÅtM¹e¼ ‡‡



π±

qOB×ð ÈÅtM¹e¼ rO�«uðÅv� ̈ rO�¹uMÐ rEM� —uÞÅtÐ ‰UÝ d¼ ÊU¹UÄ —œ «— œöO� qOB×ð ÈU¼ÅtM¹e¼ dÖ« ÆXÝ«

rOM� t³ÝU×� fáÝ Ë rO�eÐ ”bŠ r¼œ“«Ëœ ‰UÝ ÊU¹UÄ —œ «— Ë«

  =1/1= (1/1)1Ë« ‰UÝ ÊU¹UÄ  —œ œöO�  qOB×ð  ÈÅtM¹e¼Ò‰

  = (1/1) × (1/1) = (1/1)2ÂËœ ‰UÝ ÊU¹UÄ  —œ œöO�  qOB×ð  ÈÅtM¹e¼

= (1/1×1/1) × (1/1) = (1/1)3
ÂuÝ ‰UÝ ÊU¹UÄ  —œ œöO� qOB×ð  ÈÅtM¹e¼ 

= (1/1×1/1×1/1) × (1/1) = (1/1)4
Â—UNÇ ‰UÝ ÊU¹UÄ —œ œöO� qOB×ð ÈÅtM¹e¼

= (1/1×1/1×1/1×1/1) × (1/1) = (1/1)5
r−MÄ ‰UÝ ÊU¹UÄ —œ œöO�  qOB×ð  ÈÅtM¹e¼

= (1/1×1/1×...×1/1)
11

  

× (1/1) = (1/1)12
r¼œ“«Ëœ ‰UÝ ÊU¹UÄ—œ œöO� qOB×ð ÈÅtM¹e¼

ÊU¹UÄ —œ œöO� qOB×ð ÈÅtM¹e¼ dÖ« vMF¹ ¨‰UÝ p¹ ±[± «— afÄ Ë« qOB×ð ÈÅtM¹e¼ ¨rO�UMÐ 

 “«  t =12 tÐ 
  (1/1)12

 «— —«bI� s¹« ÆbÝ—Åv� bœöO� vKOB×ð ÈÅtM¹e¼ bý— ÈÅÁbM¼œÅÊUA� t� rO�U�Åv� 

 XýcÖ “« fÄ  t =12łuð UÐ ÆXÝ« v�U�“ ÈÅÁ—Ëœ ÒF?A s¹« —œ t� tÇÅÊ¬ tÐ tÒjÐ«Ë— ¨r¹œ«œ ÂU−�« XO�U

r¹œ—Ë¬ XÝœÅtÐ «— d¹“

  (1/1)12 = b

U¹

a t = b

a® g¹«eA« by—œ ÈÅtAU{« tÐ p¹ Ω—u²!U� ª©v&U�“ bŠ«Ë p¹ —œ bý—

tªv�U�“ ÈÅÁ—Ëœ Ω 

bO�Ë« —«bI� t� È—u²�UA Ω Ò —œ «— tM¹e¼ Uð œuýÅv� »d{ Ê¬ —œ ttb¼œ XÝœ tÐ v�U�“ ÈÅÁ—Ëœ 

 —œ bý— —u²!U�®t©v&U�“ ÈÅÁ—Ëœ Æ

O?�Ë« ÈÅtM¹e¼ t� ÷dA s¹« UÐ «— ‚uA ÈÅtDÐ«—ÒÈÅt?M¹e¼ ÊuÇ Ær¹œ—Ë¬ XÝœ tÐ œuÐ ÊU�uð p¹ t

O�Ë«Ò ¨t±∏∞∞∞O�Ë« ÈÅtM¹e¼ »d{ UÐ r¼œ“«Ëœ ‰UÝ —œ œöO� qOB×ð ÈÅtM¹e¼ ¨XÝ« ÊU�uð Ò® t±∏∞∞∞

 —œ bý— —u²�UA —œ ©ÊU�uð±≤ vMF¹ ¨v�U�“ ÈÅÁ—Ëœ 
  b = (1/1)12

b¹¬Åv� XÝœ tÐ 

  ×(1/1)12
O�Ë« ÈÅtM¹e¼Òr¼œ“«Ëœ ‰UÝ —œ œöO� qOB×ð ÈÅtM¹e¼ Ω t

                            ÅÅÅ 
  =18000× (1/1)12

 v¹UL� lÐUð “« ÁœUH²Ý« UÐ U¹ Ë r¹dOÖÅv� r²¹—U~� sOAdÞ “« U¹ ‚uA  —U³Ž ÈÅt³ÝU×� È«dÐyx
—œ 

 —«bI� ̈ vLKŽ »U�Š sOýU�
  (1/1)12

 —œ fáÝ Ë r¹—Ë¬Åv� XÝœ tÐ «— ±∏∞∞∞t−O²�—œ rOM�Åv� »d{ 

—UÐ



π≤

  =18000× 3 /138 = 56491/ 71078r¼œ“«Ëœ ‰UÝ —œ qOB×ð ÈÅtM¹e¼ 

 s¹dLð¥‡‡Æb¹—Ë¬ XÝœ tÐ «— r¼œ“«Ëœ ‰UÝ —œ œöO� qOB×ð ÈÅtM¹e¼ ¨r²¹—U~� “« ÁœUH²Ý« UÐ 

 dO��≤‡‡v�«u²� ÈÅÁœUH²Ý« UÐ ‰UÝ d¼ —œ «— œöO� qOB×ð ÈÅtM¹e¼ ¨»U�Š sOýU� pL� tÐ 

∫r¹—Ë¬Åv� XÝœ tÐ d¹“ ÈÅtDÐ«— “«

∞[±‰UÝ d¼ ÊU¹UÄ —œ qOB×ð ÈÅtM¹e¼ Ω ‰UÝ ŸËdý —œ tM¹e¼ ´ ‰UÝ ŸËdý —œ tM¹e¼ 

®±              ©
  =18000+0/1(18000) =19800« ÊU¹UÄ —œ qOB×ð ÈÅtM¹e¼ Ë

Ò
 ∫‰UÝ sO�±≥∑∞

®≤ÅÅÅÅ            ©
  =19800+0/1(19800) = 21780 ∫‰UÝ sO�Ëœ ÊU¹UÄ —œ qOB×ð ÈÅtM¹e¼ ±≥∑±

®≥©       
  = 21780+0/1(21780) = 23958 ∫‰UÝ sO�uÝ ÊU¹UÄ —œ qOB×ð ÈÅtM¹e¼ ±≥∑≤

®¥©
  = 51356 +0/1(51356) = 56491/ 70 ∫‰UÝ sOL¼œ“«Ëœ ÊU¹UÄ —œ qOB×ð ÈÅtM¹e¼ ±≥∏±


œ U?ÐÒÈd?~?¹œ  —u?y t?Ð «— ôU?Ð q?Š«d?� r?O?�«u?ðÅv?� ¨‚u?A  U?³?ÝU?×� —œ tM¹e¼ bý— v~�u~Ç —œ X

rOM� v�¹u�“UÐ

®±‡‡± ©  =19800=18000(1+0/1) =18000(1/1)1vKOB×ð ‰UÝ sO�Ë« ÊU¹UÄ —œ qOB×ð ÈÅtM¹e¼  

®≤‡‡≤©¨ ÅÅÅÅÅÅ           
  
=19800(1+0/1) =19800(1/1)1vKOB×ð ‰UÝ sO�Ëœ ÊU¹UÄ —œ qOB×ð ÈÅtM¹e¼ 

 ÈÅtDÐ«— “«±Å‡‡± —«bI� ¨±π∏∞∞ ÈÅtDÐ«— —œ «— ≤‡‡≤ÆrOM�Åv� s¹e~¹Uł 

  =18000(1/1)1(1/1)1 =18000(1/1)2 ,‰UÝ sO�Ëœ ÊU¹UÄ —œ qOB×ð ÈÅtM¹e¼ 

® ÈÅtDÐ«—≥rOM�Åv� v�¹u�Å“UÐ eO� «— ©

  = 21780(1+0/1)‰UÝ sO�uÝ ÊU¹UÄ —œ qOB×ð ÈÅtM¹e¼ 

        
  =18000(1/1)2(1/1)

      
  =18000(1/1)3,

rO�“Åv� ”bŠ «— r¼œ“«Ëœ ‰UÝ —œ œöO� qOB×ð ÈÅtM¹e¼ ¨‰ôb²Ý« sOL¼ UÐ

  =18000(1/1)12 ,‰UÝ sOL¼œ“«Ëœ ÊU¹UÄ —œ qOB×ð ÈÅtM¹e¼ 

 vMF¹ tO�Ë« ÈÅtM¹e¼ ÈUł tÐ rO�«uðÅv�±∏∞∞∞ ̈ ÊU�uð 
  
A0

rO�¹uMÐ u� “« «— ‚uA qŠ«d� Ë rO¼œ —«d
 «— 

  
A0 =18000

  
A1 =18000+18000(0/1) =18000(1/1)



π≥

U¹

  
A1 = A0 + A0(0/1)

®µ©
  
A1 = A0(1/1)

tÐUA� —uÞ tÐ

®∂©
  
A2 = A1 + A1(0/1) = A1(1/1)

®∑©A
3

= A2 + A2(0/1) = A2(1/1)

¨‰ôb²Ý« sOL¼ UÐ

  
A12 = A11(1/1)

 ÈU¼Å—«bI�
  
A1

Ë 
  
A2

 “« «— ®Åµ® Ë ©∂® —œ Ë Áœ—Ë¬ XÝœÅtÐ ©∑rOM�Åv� s¹e~¹Uł ©

  
A1 = A0(1/1)

  
A2 = A1(1/1) = A0(1/1)(1/1) = A0(1/1)2

  
A

3
= A2(1/1) = A0(1/1)2(1/1) = A0(1/1)3

  



ÅÅÅÅÅÅÅÅÅÅÅ

 VOðdð sOL¼ tÐ
  
A12

r¹—Ë¬Åv� XÝœÅtÐ «— 

  
A12 = A0(1/1)12

K� X�UŠ —œ ËÒv

  
At = A0(1/1)t

 Ê¬ —œ t�tÆXÝU¼Å‰UÝ œ«bFð 

K� X�UŠ —œ dÖ«Ò «— tM¹e¼ bý— @M¼¬ ¨vrrOÝ—Åv� d¹“ ÈÅtDÐ«— tÐ ¨r¹dO~Ð dE� —œ 

  
At == A

0
(1++ r)t

∫Ê¬ —œ t�

  
A0« ÈÅtM¹e¼ ΩÅË

Ò
ªtO�

r ªtM¹e¼ ÈÅt�ôUÝ bý— @M¼¬ Ω

t ªU¼Å‰UÝ œ«bFð Ω

At “« bFÐ Ábý t²ýU³�« ÈÅtM¹e¼ Ω tª‰UÝ 

 dO�� ‘Ë— UÐ ‘Ë— s¹« ·ö²š«± “« bFÐ Ábý t²ýU³�« ÈÅtM¹e¼ UłÅs¹« —œ t� XÝ« Ê¬ —œ t‰UÝ 

 v?MF¹AtU?L?OI²�� «— Î d?O?�� —œ t� v�UŠ —œ r¹œ—Ë¬ XÝœ tÐ ± «b?²Ð« b v?MF¹ b?ý— —u²!U� —œ t«— 



π¥

O�Ë« ÈÅtM¹e¼ »d{ UÐ fáÝ Ë r¹œd� t³ÝU×�Ò vMF¹ t
  
A0

 ¨Ê¬ —œ AtÊ¬ —œ t� r¹œd� »U�Š «— 

  b == at == (1++ r)t

aªÅ©t�ôUÝ bý—® ‰UÝ p¹ —œ bý— —u²�UA U¹ @M¼¬ Ω 

b —œ bý— —u²�UA U¹ @M¼¬ Ω tªÅ‰UÝ 

tªÅU¼Å‰UÝ œ«bFð Ω 

 ‰U?¦�≥∫B?B7²� Òd?¦?�«b?Š Êu?J?�� ÈÅÁd� Ÿ—“ Ë XA� qÐU
 sO�“ t� bM²�¼—ËUÐ s¹« dÐ ÊU

 b�«uðÅv�¥∞b¼œ «cž «— dH� œ—UOKO� 
±

 ‰UÝ ŸËdý —œ Æ±ππ∞OFLł ̈ ÈœöO� Ò sO�“ ÈÅÁd� v³¹dIð Xµ[≤

O?FLł dÖ« ÆXÝ« ÁœuÐ dH� œ—UOKO�Ò• X?ÐUŁ V¹d{ UÐ Ë v¹UL� —uÞÅtÐ X≤v?�U�“ tÇ ¨bM� bý— ‰UÝ —œ ÅÅ

OFLłÒ tÐ X¥∞ÆbOÝ— b¼«uš dH� œ—UOKO� 

∫qŠÆrOM�Åv� qŠ q³
 XO�UFA —œ ÈœUNMAOÄ dO�� Ëœ d¼ “« «— t�Q�� s¹« 

dO��±∫łuð UÐ ÒOFLł t�Ås¹« tÐ tÒÈÅtDÐ«— “« ÁœUH²Ý« UÐ fÄ ̈ bM�Åv� bý— v¹UL� —uÞ tÐ Xat == b¨

∫rOM�Åv� »U�Š «— Ábý t²Ý«uš ÊU�“

a =1+ 2

100

U¹
  

a =1/02

 —œ bý— —u²�UAt vMF¹ ‰UÝ b —œ XOFLł UÐ XÝ« dÐ«dÐ t‰UÝ —œ XOFLł dÐ rO�Ið ÁbM¹¬ ‰UÝ 

±ππ∞©ŸËdý ÊU�“® 

  

b = 40,000,000,000

5 / 2×1,000,000,000
= 40×10

9

5 / 2×10
9

= 7 / 692

 s²��«œ UÐaË b ÈÅtDÐ«— ‰uN−� UNMð ¨a t = b ÊU�“ vMF¹ t∫rOM�Åv� t³ÝU×� «— 

  (1/02)t = 7 / 692

  
log(1/02)t = log7 / 692

t(log1/02) = log7 / 692

∫rOM�Åv� «bOÄ «— ‚uA ÈU¼—«bI� ¨»U�Š sOýU� pL� tÐ U¹ Ë r²¹—U~� ‰Ëbł tÐ tFł«d� UÐ

  t(0/0086) =0/ 886

  

t = 0/ 886

0/0086
=103 /02

±UM¾LD� ‡‡ÎÆbý b¼«uš «bOÄ sO�“ ÈÅÁd� —œ «cž ÈÅtONð È«dÐ Èd~¹œ ÊuÖU�uÖ ÈU¼ÅÁ«— ¨È˛u�uMJð Ë XFMy XAdAOÄ UÐ 



πµ

‰UÝ —œ v³¹dIð —uÞ tÐ sO�“ ÈÅÁd� XOFLł vMF¹

  1990. 103 . 2093

 tÐ¥∞ÆbOÝ— b¼«uš dH( œ—UOKO� 

 p¹ t+Q-� s¹« —œ v¹UL� lÐUð ÈÅt¹UÄ UÐ±[∞≤OFLł bý— @M¼¬ ÈÅÁbM¼œ ÊUA( t� œ—«œ œułË ÒX

 qO+œ s¹« tÐ lÐUð s¹« ÆXÝ« ‰UÝ d¼ —œ v¹UL�OG²� t� œuýÅv� ÁbO�U(Ò dt —œ Ê«uð U¹ UL�Æœ—«œ —«d= 

t

p

20931990

5 / 2

 qJý≤v¹UL� bý— ∫ÊUNł v³¹dIð XOFLł ‡‡

OFLłÒœ—UOKO  tÐ ÊUNł X

 ‰UÝ “« ÊU “    ±ππ∞

dO��≤∫vMF¹ t+Q-� ÈU¼ÅÁœ«œ 

  
At . 40×10

9

  
A0 . 5 / 2×10

9

. 2

100
. 0/02•  r . 2

 ÈÅtDÐ«— —œ «—
  
At . A0(1. r)t

∫rOM�Åv� È—«cÖÅÈUł 

  40×10
9 . 5 / 2×10

9(1. 0/02)t

U¹

  40 . 5 / 2(1/02)t

r¹dOÖÅv� r²¹—U~+ sOEdÞ “«

±‡‡ Population   OFLłÒX

±



π∂

  
log40= log 5 / 2(1/02)t. .
  
log(4×10) = log5 / 2+ log(1/02)t
Å

±

®          ∏©log4+ log10= log5 / 2+ t log1/02

X?Ýœ t?Ð «— ‚u?A ÈU?¼År?²?¹—U?~?� —«b?I?� ¨»U?�?Š sOýU� “« ÁœUH²Ý« UÐ U¹ ¨r²¹—U~� ‰Ëbł tÐ tFł«d� UÐ

r¹—Ë¬Åv�

log1/02 =0/0086  Ë  
  
log5 / 2 =0/ 716  Ë  

  
log4 =0/ 602

® ÈÅtDÐ«— —œ U¼ÅÊ¬ È—«cÖÅÈUł UÐ fáÝ∏ —«bI� ¨©trOM�Åv� «bOÄ «— 

  0/ 602 +1=0/ 716 + t ×0/0086

  1/ 602 −0/ 716 =0/0086t

  

t = 1/ 602 −0/ 716

0/0086
= 0/ 886

0/0086
=103 /020

 qJý —œ≤O?FLł ¨œË—Åv� uKł tÐ ÊU�“ tÇ d¼ t� œuýÅv� Áb¼UA� ¨Òbý— dðÅl¹dÝ Ë dðÅl¹dÝ X

v?Öó¹Ë s¹« Ë bM�Åv� ÆX?Ý« v¹UL� lÐUð p¹ ²?Š t?� b¼œÅv� ÊUA� —«œuL� s¹«Òl?ÐUð p¹ ¨«b²Ð« —œ dÖ« v

“« v¼UÖ¬ b¹Uý Æbý b¼«uš dðÅl¹dÝ Ë dðÅl¹dÝ bý— s¹« ¨ÊU�“ XýcÖ UÐ ¨bM� bý— t²�¼¬ t²�¼¬ v¹UL�

OFLł œU¹œ“«  öJA� UÐ d²NÐ Uð bM� pL� U� tÐ Ÿu{u� s¹«Ò°r¹uý UMý¬ X

O�UFA —œÒOFLł bý— dÖ« ¨vK³
 XÒ ‰UÝ “« «— sO�“ ÈÅÁd� X±ππ∞bý—Å@M¼¬ UÐ bFÐÅtÐÅ
≤

 ±[∞≤Ë 

ÆbOM� tłuð d¹“  U³ÝU×� tÐ ÆrOÝ—Åv� v³�Uł Z¹U²� tÐ rOM� »U�Š nK²7� ÈU¼Å‰UÝ —œ

 XýcÖ “« fÄ sO�“ ÈÅÁd� XOFLł≥∞ \≥µ \µ∞ \∂∂ \∑∞ Ë ±∞µ ‰UÝ “« «— ‰UÝ ±ππ∞tÐ 

 ÈÅt�ôUÝ bý— @M¼¬ UÐ Ë bFÐ≤rOM�Åv� »U�Š by—œ 

®π©
≥

  
Pt = P0(1+ r)t

®±∞©OFLłÒ ‰UÝ ŸËdý ‡‡ tO�Ë« X±ππ∞ œ—UOKO� 
  
P0 = 5 / 2

®±±© œ—UOKO�
  
P

30
= 5 / 2(1/02)30 = 9 / 419

®±≤©œ—UOKO� 
    
P

35
= 5 / 2(1/02)35 =10/ 399 ! 5/2×2

®±≥©  œ—UOKO�
  
P50 = 5 / 2(1/02)50 =13 / 996

± q¹b³ð UÐ ‡‡log¥∞ tÐ log±∞ log¥ +ÆœuýÅv� Áb¹œ d²NÐ vLKŽ œUL� UÐ ÈdOÖÅr²¹—U~� sOÐ ◊U³ð—« ¨

≤‡‡ Growth rate

≥ ÈUł tÐ tDÐ«— s¹« —œ ‡‡
  
A1 Ë 

  
A0 ÈU¼œUL� “« ¨

  
P1 Ë 

  
P0dF� t� Ò® XOFLł ·PopulationÆrOM�Åv� ÁœUH²Ý« ¨bM²�¼ ©



π∑

®±¥© œ—UOKO�
  
P

66
= 5 / 2(1/02)66 =19 / 213

®±µ©œ—UOKO� 
    
P70 = 5 / 2(1/02)70 = 20/ 797 ! 5/2×4

®±∂©œ—UOKO� 
    
P105 = 5 / 2(1/02)105 = 41/ 593 . 5/2× 8

® ÈU?¼Åt?D?Ð«— t?� r?O?M?�Åv?� Áb?¼U?A?� ¨‚uA  U³ÝU×� —œ±≤® ¨©±µ® Ë ©±∂yU?š v?Öó¹Ë “« ©Òv

® ÈÅtDÐ«— ÆbM²�¼ —«œ—ušdÐ±≤ XýcÖ “« fÄ t� b¼œÅv� ÊUA� ©≥µ‰UÝ OFLł ̈ÒËœ tÐ sO�“ ÈÅÁd� X

O?F?Lł dÐ«dÐÒË« XÒ ‰U?Ý ŸËd?ý® Ê¬ tO�±ππ∞® ÈÅt?DÐ«— ÆbÝ— v� ©±µÊb?ýd?Ð«d?Ð—UNÇ ÈÅÁbM¼œÅÊUA� ©

OFLłÒ XýcÖ “« fÄ sO�“ ÈÅÁd� X∑∞‰UÝ  vMF¹ ≤ ×≥µ® ÈÅtDÐ«— ÆXÝ« ‰UÝ ±∂XA¼ “« v�UŠ ©

 XýcÖ “« fÄ sO�“ ÈÅÁd� XOFLł ÊbýdÐ«dÐ±∞µ  ‰UÝ vMF¹≥ ×≥µ—œ «— U¼Åt²AU¹ s¹« ÆXÝ« ‰UÝ 

∫rOMO³Ð d²NÐ «— U¼ÅÊ¬ sOÐ ÈÅtDÐ«— Uð rOM�Åv� rEM� v�Ëbł

  U¼Å‰UÝ œ«bFðt = v&U�“ ÈÅÁ—Ëœ œ«bFðT =OFLłÒsO�“ ÈÅÁd! X

≥µ±  5 / 2×2 = 5 / 2×2  5 / 2×2
1

∑∞≤  (5 / 2×2) ×2 = 5 / 2× 4  5 / 2×2
2

±∞µ≥  (5 / 2×2×2) ×2 = 5 / 2× 8  5 / 2×2
3

® ‰Ëbł≥©

OFLłÒ d¼ —œ sO�“ ÈÅÁd� Xv&U�“ ÈÅÁ—Ëœ
±

 d¼ vMF¹ ̈≥µs¹« ÆbÝ—Åv� dÐ«dÐ Ëœ tÐ ̈ —UÐÅp¹ ‰UÝ 

® v�U�“ ÈÅÁ—Ëœ≥µ «— ©‰UÝ ÊbýdÐ«dÐËœ ÊU�“
≤

 OFLłÒÆrO�U�Åv� sO�“ ÈÅÁd� X

Êbý dÐ«dÐËœ ÊU�“Ë« —«bI� t	 XÝ« v
U�“ ̈ bý— v¹UL
 lÐUð p¹ Òd¼ Æœuý dÐ«dÐ Ëœ tO�

ÆXÝ« XÐUŁ ÊbýdÐ«dÐ Ëœ ÊU�“ p¹ È«—«œ bý— v¹UL
 lÐUð

OFLł ÈÅt�ôUÝ bý— @M¼¬ ÈUł tÐ rO�«uðÅv�Òt�«“Ë— bý— @M¼¬ v²Š Ë t�U¼U� bý— @M¼¬ ¨X

O?F
«Ë tÐ t� r¹—Ë¬ XÝœÅtÐ «—Òłu?ð U?Ð «— v?K³
 ÈÅt�Q�� ÆXÝ« dðÅp¹œe� eO� XÒt?�U?¼U� bý— @M¼¬  tÐ t

ÈÅtDÐ«— —œ ÊuÇ ÆrOM�Åv� vÝ—dÐ

  
Pt = P0(1+ r)t

±‡‡ Time period

≤‡‡ Doubling time



π∏

r t�U¼U� bý— @M¼¬ t−O²�—œ ÆXÝ« t�ôUÝ bý— @M¼¬ 

  

r
12

OFLł ̈ ‰U¦� Ê«uMŽÅtÐ ÆœuÐ b¼«uš ÒÈÅÁd� X

 —œ sO�“≥µłu?ð UÐ ÁbM¹¬ ‰UÝ ÒOFLł tÐ tÒË« XÒtO�µ[≤ ‰U?Ý —œ ÈdH� œ—UOKO� ±ππ∞ÊU�“ Êœ«œ—«d
 Ë 

∫“« XÝ«  —U³Ž ÁU� V�ŠdÐ

 œ—UOKO�P
35

= 5 / 2(1+0/02

12
)12×35 =10/ 465

 —œ ̈ r¹dO~Ð dE� —œ «— t�ôUÝ bý— @M¼¬ dÖ« t� v�UŠ—œ≥µU³¹dIð sO�“ Ád� XOFLł ̈ ÁbM¹¬ ‰UÝ ÎdÐ«dÐ Ëœ 

 vMF¹
  
P

35
=10/ 399OFLł sOL7ð “« dðÅr� t� œuýÅv� œ—UOKO� ÒÆXÝ« t�U¼U� bý— @M¼¬ UÐ X

OFLł ̈ dðÅoO
œ ÈÅt�¹UI� È«dÐ XÝ« d²NÐÒvÝ—dÐ eO� t�«“Ë— bý— @M¼¬ s²AdÖdE�—œ UÐ «— UO�œ X

 ÈUł tÐ ¨vF{Ë sOMÇ —œ ÆrOM�  r =0/02 ¨

  

r
365

 U¹ Ë 

  

0/02

365
∫ —uy s¹« —œ ¨rO¼œÅv� —«d
 «— 

P
35

= 5 / 2(1+0/02

365
)365×35 =10/ 471

OFLł ÈÅt�«“Ë— bý— @M¼¬ t� rOM�Åv� Áb¼UA�ÒdðÅoO
œ r¼ “UÐ Ë t�U¼U� bý— @M¼¬ “« dðÅoO
œ X

¨r¹dO~Ð dE� —œ «— ‰UÝ “« ÈdðÅpÇu� r¼ “UÐ ÈbMÐÅrO�Ið dÖ« ̈ vK�—uÞÅtÐ ÆXÝ« t�ôUÝ bý— @M¼¬ “«


œÒÅ tÐ «— ‰UÝ dÖ« ÆœË—Åv� dðôUÐ U� XnÆXý«œ rO¼«uš «— d¹“ ÈÅtDÐ«— ¨rOM� rO�Ið ÈËU�� XL�
 

  

Pt = P0(1+ r
n

)nt

¥‡‡≤‰«Ë“ qzU�� ‡‡
±

 XO�UF�¥‡‡≥

b¹bł ÈUð «— Áœ—ušUð cžU� Á—UÐËœ ÆbO�eÐ Uð «— Ê¬ Ë b¹dO~Ð XÝœ —œ «— bOHÝ cžU� t×Hy p¹

œu?łËÅt?Ð t?O?ŠU?� Ëœ ¨Êœ“ U?ð sO�Ë« “« bFÐ ÆbO¼œ t�«œ« bO�«uðÅv� t� v¹UłÅÊ¬ Uð «— U¼ÅÊœ“Uð s¹« Ë bO�eÐ

œuýÅv� œU−¹« tOŠU� —UNÇ ¨Êœ“ Uð sO�Ëœ —œ ÆXÝ« tO�Ë« XŠU�� nB� p¹ d¼ XŠU�� t� b¹¬Åv�

 vMF¹ vK³
 XŠU�� nB� U¼ÅÊ¬ “« Â«b� d¼ XŠU�� t�

  

1

4
 ‰Ëbł ÆXÝ« tO�Ë« XŠU�� ®ÅÅ¥v~�u~Ç Å©

Ê¬ ÈU?¼ÅX?ŠU?�?� dOOGð v~�u~Ç Ë b�uýÅv� œU−¹« v�«u²� ÈU¼ÅÊœ“Uð dŁ« dÐ t� v¹U¼ÅtOŠU� œ«bFð dOOGð

∫bM�Åv� vÝ—dÐ «— U¼ÅtOŠU�

±‡‡ Decay



ππ

∫rOM�Åv� rÝ— «— d¹“ —«œuL� Ëœ ¨ôUÐ ‰Ëbł ÈU¼ÅÁœ«œ tÐ tłuð UÐ

 U¼ÅÊœ“Uð œ«bFðnU¼ÅtOŠU& œ«bFðU¼ÅtOŠU& XŠU�� dOOGð v~&u~Ç

  0  1= 2
01= 1
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2
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 qJý≥bý— ‡‡

 t�—uÞÅÊUL¼v?�«u?²� ÈU¼ÅÊœd�Uð dŁ« dÐ U¼ÅtOŠU� œ«bFð t� ÊUMÇÅr¼ ¨œuýÅv� Áb¹œ —«œuL� Ëœ —œ

v¹UL� —uÞ tÐ U¼ÅtOŠU� œ«bFð ¨l
«Ë —œ °œuýÅv� d²L� Ë d²L� U¼ÅtOŠU� XŠU�� ¨œuýÅv� d²AOÐ Ë d²AOÐ

® —«œuL� dðÅoOLŽ vÝ—dÐ UÐ ÆœË—Åv� ‰«Ë“ tÐ Ë— v¹UL� —uÞ tÐ U¼ÅtOŠU� XŠU�� ̈ bM�Åv� bý—¥Áb¼UA� ©

 ‰«Ë“ —u²�UA t� rOM�Åv�

  

a = 1

2
 —«œuL� —œ t� v�UŠ —œ XÝ« dðÅpÇu� p¹ “« t� XÝ« ®Å≥—u²�UAÅÅ©

 bý—  a = 2ÆXÝ« dðÅ¯—eÐ p¹ “« t� XÝ« 



±∞∞

¥‡‡≤‡‡±©sÐd! ‰«Ë“® Á—«u~MÝ X�bN sOOFð v~&u~Ç ‡‡

 XO�UF�¥‡‡¥

ÈU¼ÅÛuðËe¹« X³�� ÆœuýÅv� »cł Áb�“  «œułu� ÈÅtKOÝËÅtÐ sÐd�
±

 
  C

12 ¨
  C

13 Ë 
  C

14—œ 

 ÛuðËe¹« »cł ¨b�dOLÐ Áb�“  «œułu� t�Ås¹« i×� tÐ ¨‰UŠ s¹« UÐ ÆXÝ« XÐUŁ Áb�“  «œułu�
  C

14

 Ë œuýÅv� n
u²� U¼ÅÊ¬ ÈÅtKOÝË tÐ  C
14

tÇ UÐ t�Ås¹« s²��«œ ÆbM�Åv� ‰«Ë“ tÐ ŸËdý U¼ÅÊ¬ —œ œułu� 

 v?²ŽdÝ  C
14

s?A s?¹« Ë r?O?M?� «b?O?Ä «—  «œu?łu?� X?�b
 Uð b¼œÅv� XydA U� tÐ ¨œË—Åv� ‰«Ë“ tÐË— 

 g¹U�“¬ Ê¬ tÐ t� XÝ« ÊUÝUMýÅÊU²ÝUÐ È«dÐ ÈbMLð—b
 ÈÅtKOÝË ©pOMJð®  C
14

XÝ« Â“ô ÆœuýÅv� t²HÖ 

 t� œuý t²HÖµ∑∞∞ ÛuðËe¹« —«bI� Uð bA�Åv� ‰uÞ ‰UÝ   C
14

Ë« —«bI� nB� tÐ ÒÆbÝdÐ œuš ÈÅtO�

‰U?¦�¥ ∫ U?N?M?ð q?�Uý Ábý qO�A Ê«u7²Ý« p¹ sÐd�≤∞ v?�u?LF� —«bI� by—œ   C
14

ÆXÝ« 

ÆrO�eÐ sOL7ð «— Ê«u7²Ý« X�b
 rO¼«ušÅv�

∫qŠ t� rO�«œÅv� µ∑∞∞ ÛuðËe¹« —«bI� Uð bA�Åv� ‰uÞ ‰UÝ   C
14

ÆbÐU¹ g¼U� nB� tÐ sÐd� 

 ¨ÊU�“ s¹«dLŽÅrO& Ë µ∑∞∞ p¹ ¨‰UÝ v&U�“ ÈÅÁ—Ëœ ‰«Ë“ È«dÐ   C
14

—œ ÆœuýÅv� ÁbO�U� sÐd� —œ 

 ÛuðËe¹« —«bI� ̈ Ê¬ XýcÖ UÐ t� rO²�¼ vB7A� v�U�“ ÈÅÁ—Ëœ Êœd� «bOÄ ‰U³�œ tÐ U� ̈ l
«Ë  C
14

sÐd� 

• tÐ≤∞∫býUÐ U� ÈULM¼«— b�«uðÅv� d¹“ Èu~�« ÆbÝ—Åv� 

v&U�“ ÈÅÅÁ—ËœU¼Å‰UÝ œ«bFð —«bI�  C
14

Áb&U�ÅvNUÐ Áb&U�ÅvNUÐ —«bI� bO—œ

±µ∑∞∞

  

1

2
•µ∞

≤µ∑∞∞ ×≤ =±±¥∞∞(1

2
)1

2
= 1

4
= 1

2
2

•≤µ

≥µ∑∞∞ ×≥ =±∑±∞∞(1

2
× 1

2
)1

2
= 1

8
= 1

2
3

•±≤[µ

® ‰Ëbłµ©

±® ÈËU?�?� ÈU?¼ÅÊËd²J�« Ë U¼ÅÊuðËdÄ œ«bFð È«—«œ sÐd� ÈU¼ÅÛuðËe¹« ‡‡∂ ËU?H?²?� U¼ÅÊ¬ ÈU¼ÅÊËdðu� œ«bFð v�Ë bM²�¼ ©

—œ œ«bFð s¹« ÆXÝ«  C
12

¨  C
13

Ë   C
14

 dÐ«dÐ VOðdðÅtÐ ∂ ¨Å∑ Ë ∏ÆXÝ« 

ÈÅÁ—Ëœ t?Ý “« d?ðÅr?� Ë v?�U?�“ ÈÅÁ—Ëœ Ëœ “« d²AOÐ vðb� —œ t� rOÐU¹Åv�—œ ‰Ëbł ÈÅÁb¼UA� UÐ

 —«bI� ¨v�U�“
  C

14 tÐ ≤∞UÐ ¨r¹œd� «bOÄ «— v³¹dIð ÊU�“ t� ÊuM�« ÆbÝ—Åv� œuš ÈÅtO�Ë« —«bI� by—œ 

 Ê«e??O?� t?�Ås?¹« s?²?�?�«œ
  C

14 s??Ðd?� —œ œË—Åv??� ‰«Ë“ t?ÐË— v?¹U?L?&  —u?O t?Ð“« ÁœU??H?²?Ý« U?Ð Ë 





±∞≤

® ·dÞ Ëœ≤∫©øqO�œ tÇ tÐ® rO�¹u�Åv� ”uJF�  —uy tÐ «— ©

®≥©
  2

T = 5

 d¹œUI� ¨—u�c� ‰Ëbł —«œuL� tÐ tłuð UÐ≤ Ë µ Èd�� ÈU¼ÅÊ«uð V�ŠdÐ «— ±∞rO�¹u�Åv� 

  5 =10
0/699               ,                2 =10

0/ 301

® —œ «— U¼ÅÊ¬ Ë≥rOM�Åv� s¹e~¹Uł ©

10
0/ 301. #T

=10
0/699

®¥©
    10

0/ 301T =10
0/699

® —œ U¼Åt¹UÄ ÊuÇ¥bM¹ËU�� r¼ UÐ eO� U¼ÅÊ«uð t−O²�—œ ¨b�dÐ«dÐ r¼ UÐ ©

®µ©
  0/ 301T =0/ 699

            

  

         T = 0/ 699

0/ 301

 ÊbOÝ— È«dÐ Â“ô v�U�“ ÈU¼ÅÁ—Ëœ œ«bFð  C
14

 • tÐ ≤∞UÐ XÝ« dÐ«dÐ tO�Ë« —«bI� 

  
T = 2 / 322

b� ËÒUÐ XÝ« dÐ«dÐ ‰UÝ V�ŠdÐ ÊU�“  

  t = 5700T = 5700×2 / 322

t =13235 / 4

® ‰Ëbł —œ t� v³¹dIð ÊU�“ tÐ oO
œ ÊU�“ t� rOMOÐÅv�µ sOÐÅÅvMF¹ ¨r¹œ—Ë¬ XÝœÅtÐ ©≤ Ë ≥Åv�U�“ ÈÅÁ—Ëœ 

ÆXÝ« p¹œe� —UO�Ð

 XO�UF�¥ ‡‡µ

∫t?�Q�� ¨@?Ý p¹ Êœd� ‘uNOÐ È«dÐ ≥∞p?¹ d?¼ È«d?Ð ‰U²OÐ—UÐu²MÄ r¹bÝ ÈË—«œ ÂdÖÅvKO� 

dLŽÅrO� s²AdÖ dE� —œ UÐ ¨œËdÐ ‰«Ë“ÅtÐË— ÊbÐ —œ v¹UL� —uÞ tÐ Ë—«œ dÖ« ÆXÝ« Â“ô ÊbÐ Ê“Ë ÂdÖuKO�

 t� Ë—«œ¥U³¹dIð ̈ XÝ« XŽUÝ Î @Ý s¹« s²ý«œÅt~� ‘uNOÐ È«dÐ Ë—«œ —«bI� tÇ ≤∞b� tÐ v�dÖuKO� Ò 

¥µøXÝ« Â“ô tIO
œ 



±∞≥

∫qŠd¼ “« bFÐ t� UMF� s¹« tÐ XÝ« ÊbÐ —œ Ë—«œ v¹UL� ‰«Ë“ s²��«œ ̈ t�Q�� s¹« qŠ vKy« bOK� 

® v�U�“ ÈÅÁ—Ëœ¥U?¼ÅÊbý nB� ÈÅt�«œ« Ë bÝ—Åv� ÊbÐ —œ œuš ÈÅtO�Ë« —«bI� nB� tÐ Ë—«œ ©XŽUÝ

ÆXÝ« v¹UL� ‰«Ë“ ÊUL¼

 rO�«bÐ b¹UÐ ¨sL{ —œ¥µ v�U�“ ÈÅÁ—Ëœ p¹ “« v²³�� tÇ tIO
œ ¥∫XÝ« v²ŽUÝ 

45 =

3

4

4
= 3

16

tIO
œ

U¹  v�U�“ ÈÅÁ—Ëœ

45

4×60
= 9

4×12
= 3

4× 4
= 3

16

∫rO¼œÅv� qOJAð «— d¹“ ‰Ëbł ¨t�Q�� ÈU¼ÅÁœ«œÅtÐ tłuð UÐ

® ‰Ëbł∂©

v&U�“ ÈÅÁ—ËœU¼ÅXŽUÝ œ«bFð

Áb&U�ÅvNUÐ ÈË—«œ —«bI�

 ÈU¼ÅÊ«uð V�ŠdÐ

  

1

2

  

3

16  

3

16
× 4
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2
)

3

16

  1  1× 4
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2
)1

  2  2× 4
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2
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vMF¹ t�Q�� ÈU¼ÅÁœ«œ

 Ωv�U�“ bŠ«Ë p¹ —œ ‰«Ë“ —u²�UA

  

1

2

 —œ ‰«Ë“ —u²�UA

  

3

16
 Ωv�U�“ bŠ«Ë b

 ΩdE� œ—u� v�U�“ ÈÅÁ—Ëœ

  

0/1875 = 3

16
= t

— ÈÅtDÐ«— —œ «at = bÁU~�¬ ÆrO¼œÅv� —«d
 

  (0/ 5)0/1875 = b

U¹
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2
)

3

16 = b
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ÆbO�eÐ V¹dIð «— Ê¬ sÝ ¨býUÐ tÐUA� b¹bł v²A� p¹ »uÇ —œ ÛuðËe¹«

¥ÅÅsÐd� Ê«eO� t� XÝ« Ábý ÂuKF� ‡‡  C
14

„d×²� ÈU¼Å‰Uâ7¹ jÝuð t� v�U²š—œ —œ œułu� 

• ¨b?�«ÅÁb?ý œuÐU� Ê«bM³7¹ Â—UNÇ dBŽ≤∑ÅÅs?Ðd� Ê«eO�   C
14

a?¹—Uð ÈÅÁ—UÐ—œ ÆXÝ« Áb�“ ÊU²š—œ —œ Å

øbO¹u~Ð bO�«uðÅv� tÇ Ê«bM³7¹ dBŽ s¹« ŸËdý

¥‡‡≥È“UÝÅtMONÐ ‡‡

È“UÝÅtMONÐ “« vKzU�� ̈ »U²� s¹« —œ ̈ ‰UŠ s¹« UÐ ̈ XÝ« lOÝË —UOÝ È“UÝÅtMONÐ qzU�� ÈÅtM�«œ

ÆbMýUÐ vÝ—dÐ qÐU
 ÂËœ ÈÅtł—œ lÐ«uð  UOyuBš Ë —U²A— s²��«œ UÐ t� rOM�Åv� ÕdD� «—

 XO�UF�¥‡‡∂

±øb�—«œ rLO�Åv� p¹ÅÂ«b� Ë rL¹e�U� p¹ÅÂ«b� ôUÐ ÈU¼ÅvM×M� “« ‡‡

≤ lÐ«uð ‡‡
  
y = x2 +1 Ë 

  
y = −x2 + 3ÆbOM� vÝ—dÐ «— rLO�Åv� Ë rL¹e�U� œułË Ë bOM� rÝ— «— 

≥ lÐ«uð ‡‡
  
y = 2x2 +2x +1 Ë 

  
y = −x2 +2x +1«— rLO�Åv� Ë rL¹e�U� œułË Ë bOM� rÝ— «— 

ÆbOM� vÝ—dÐ

¥ ÈU?¼Å‰«R?Ý “« ‡‡± U?ð ≥ÂËœ ÈÅt?ł—œ l?ÐU?ð r?L?O?�Åv?� Ë r?L?¹e?�U?‡?� ÈÅÁ—U?‡?Ð—œ È«Åt?−?O²� t‡Ç 

  f(x) = ax2 + bx + c X�UŠ Ëœ È«dÐ   a . 0 Ë   a . 0øb¹dOÖÅv� 

y

xo
o x

y

y

o x

 qJýµÅÅÅ

qJý∂Å

 qJý∑



±∞∂

µdÖ« ‡‡  a . 0d?Ö« ør?LO�Åv� U¹ œ—«œ rL¹e�U� lÐUð øsO¹UÄ tÐ Ë— U¹ XÝ« ôUÐ tÐ Ë— vLNÝ ¨  a . 0¨

ørLO�Åv� U¹ œ—«œ rL¹e�U� lÐUð øsO¹UÄ tÐ Ë— U¹ XÝ« ôUÐ tÐ Ë— vLNÝ

∂dÖ« ‡‡Å  a =0øXHÖ Ê«uðÅv� tÇ lÐUð rLO�Åv� Ë rL¹e�U� œ—u� —œ ¨

∑ÆbOM� sOOFð œ—«œ rLO�Åv� U¹ rL¹e�U� lÐUð Ê¬ —œ t� «— È«ÅtDI� ‰uÞ ‡‡

∏ lÐUð rLO�Åv� U¹ rL¹e�U� —«bI� ‡‡ÅÅÅfrLO�Åv� U¹ rL¹e�U� ÈÅtDI�  UB²7� fáÝ Ë bOM� sOOFð «— 

ÆbO�¹uMÐ «— Ê¬

π ÈU¼Å‰«RÝ »«uł U¹¬ ‡‡µ Uð ∏ø«dÇ øXÝ« XÝ—œ ÂËœ ÈÅtł—œ lÐUð d¼ È«dÐ 

±∞«— ÂËœ ÈÅtł—œ lÐUð d¼ rLO�Åv� U¹ rL¹e�U� ÈÅtDI� Ë —«œuL� ̈ cžU� Ë rK
 ÊËbÐ bO�«uðÅv� U¹¬ ‡‡

ÆbOM� tOłuð «— œuš »«uł øbOM� —uBð

±±∫bOM� «bOÄ «— d¹“ lÐ«uð rLO�Åv� U¹ rL¹e�U� ◊UI� cžU� Ë rK
 “« ÁœUH²Ý« ÊËbÐ ‡‡

 ©n�«
  f(x) = 4x2 − 3xª

 ©»
  
g(x) = x2 −2x +1

±≤ÆbO¼œ ̀ O{uð øbMýUÐ t²ý«œ rLO�Åv� r¼ Ë rL¹e�U� r¼ t� b�—«œ œułË v�Ëœ ÈÅtł—œ lÐUð U¹¬ ‡‡

 XO�UF�¥‡‡∑

¥‡‡¥vÐU¹—«“UÐ ‡‡

p¹ œ—u� —œ —«“UÐ XOF{Ë vÝ—dÐ Ë oOI×ð “« fÄ ¨X�dý p¹ vÐU¹—«“UÐ Ë  UIOI×ð g7Ð

¨XLO
 g¹«eA« dŁ« dÐ t�Ås¹« tÐ tłuð UÐ «— U{UIð ÈÅt�œUF� ̈ œuýÅv� bO�uð X�dý jÝuð t� b¹bł ÈôU�

∫bM�Åv� tz«—« X¹d¹b� tÐ Áœd� v{U¹— È“UÝÅ‰b� ¨œuýÅv� r� U{UIð

®±©  x = 6000− 30PU{UIð ÈÅt�œUF� ∫

 Ê¬ —œ t�x Ë b?M?M?�Åv� b¹dš ÁU� p¹ —œ ÊUÖbMM� ·dB� t� XÝ« v¹ôU� bŠ«Ë œ«bFð 
±pV�ŠdÐ® 

b¹bł ÈôU� bO�uð ÈÅÁbý ÂULð ÈÅtM¹e¼ ̈ X�dý v�U� g7Ð sOMâL¼ ÆXÝ« ôU� bŠ«Ë d¼ XLO
 ©ÊU�uð

ÆXÝ« Áœd� tz«—« X�dý X¹d¹b� tÐ d¹“ ÈÅt�œUF� UÐ «—

®≤©
≤

  C = 72000+60xtM¹e¼ ÈÅt�œUF� ∫

±‡‡ Price                               ≤‡‡ Cost



±∞∑

 Ê¬ —œ t�∑≤∞∞∞ ÊU�uð bO�uð XÐUŁ ÈÅtM¹e¼XÝ« tÐUA� ÈU¼ÅtM¹e¼ Ë „öN²Ý« ̈ U¼ÅÁU~²Ýœ tÐ ◊uÐd� 

 Ë∂∞ ÊU�uð b?O�uð dOG²� ÈÅtM¹e¼Ë È—«œ—U?³�« ¨tO�Ë« œ«u� ¨dÖ—U� œeL²Ýœ tÐ ◊uÐd� ôU� bŠ«Ë d¼ 

łuð UÐ ÆXÝ« qI� Ë qLŠÒ vMF¹ ¨ôU� XLO
 tÐ tp¨Ábý bO�uð ÈôU� bŠ«Ë œ«bFð Ë xb�¬—œ ÈÅt�œUF� ¨

∫b¹¬Åv� XÝœÅtÐ d¹“ ÈÅtDÐ«— “«

 ©ôU� bŠ«Ë d¼ XLO
®× ®b�¬—œ Ω ©ôU� bŠ«Ë œ«bFð

®≥©R = x × pÅ
±

b�¬—œ ÈÅt�œUF� ∫

® ÈÅtDÐ«—≤ ÈÅtM¹e¼ ¨©C “« vFÐUð Ê«uMŽ tÐ «— xÅ ÈÅt?DÐ«— Ë bM�Åv� ÊUOÐ ®Å± ÈU{UIð ¨©x«— 

 “« vFÐUð Ê«uMFÐpÆb¹UL�Åv� h7A� 

Æb?¹U?L?� X?�d?ý b?¹U?Ž «— œu?Ý s?¹d?²AOÐ t� œuÐ ÈbO�uð —«bI� Êœd� «bOÄ œby—œ X�dý d¹b�

r?L?¹e?�U?� œu?Ý t?Ð X?�d?ý t� bM� «bOÄ v¼«— Uð b¹œdÖ tF�UD� ‰uGA�  UIOI×ð g7Ð ¨—uEM� sOL¼ÅtÐ

ÆœœdÖ rL¹e�U� X�dý b�¬—œ t� œuýÅv� b¹UŽ v²
Ë rL¹e�U� œuÝ t� œuÐ s¹« U¼ÅÊ¬ ”bŠ sO�Ë« ÆbÝdÐ

ÆbM� rL¹e�U� «— b�¬—œ t� rOÐU¹Åv� «— ÈbO�uð `DÝ Ë r¹“«œdÄÅv� ”bŠ s¹« vÝ—dÐ tÐ ÊuM�«

¥‡‡¥‡‡±∫b�¬—œ Êœd! rL¹e!U� ‡‡ V�ŠdÐ «— b�¬—œ lÐUð XÝ« Â“ô —UJM¹« È«dÐ xÆr¹“U�Ð 

® t�œUF�± —uBÐ «— ©

  
30p = 6000− x

 Ë rO�¹u�Åv�p V�ŠdÐ «— x∫rOM�Åv� t³ÝU×� 

  

p = 6000− x
30

U¹p = 200− 1

30
x

pÅ® —œ «— ≥∫rOM�Åv� s¹e~¹Uł ©

R(x) = x(200− 1

30
x)

±‡‡ Revenew



±∞∏

∫œœdÖÅv� q¹b³ð d¹“  —uyÅtÐ v{U¹— ‰b� s¹«dÐUMÐ

 lÐUð rL¹e�U� Êœd� «bOÄ

  

R(x) = 200x − 1

30
x2

 Êœ«œ —«d
 UÐ
  R(x) =0 lÐUð —«œuL� v
öð q×� R(x) —u×� UÐ «— xd¹“ d¹œUI� t� rOM�Åv� t³ÝU×� U¼

b¹¬Åv� XÝœÅtÐ

  x =0  ,   x = 6000

 ÂËœ ÈÅtł—œ lÐUð —«œuL�R(x)∫XÝ« d¹“  —uyÅtÐ 

R(x)
600000

500000

400000

300000

200000

100000

1000 2000 3000 4000 5000 6000

x0

 qJý ∏ lÐUð —«œuL& ‡‡ÅÅR(X)

∫UÐ XÝ« dÐ«dÐ vLNÝ ”√— tDI� ‰uÞ d~¹œ ·dÞ “«

  

x = −b
2a

= −200

2× (
−1

30
)

= 3000vLNÝ ”√— ‰uÞ ∫

 —u×� —«œuL� ÆœuýÅv� t³ÝU×� eO� —«œuL� ÈË— “« tDI� s¹« ‰uÞx tDI� Ëœ —œ «— U¼
  O = (0 ,  0)

 Ë
  A = (6000 ,  0)∫s¹«dÐUMÐ ÆXÝ« tDI� Ëœ s¹« jÝË vLNÝ ”√— ‰uÞ ÆbM�Åv� lD
 

  

x = 0+6000

2
= 3000



±∞π

UÐ XÝ« dÐ«dÐ ÊU�uð V�ŠdÐ b�¬—œ rL¹e�U� Ë

  

R(3000) = 200(3000) − 1

30
(3000)2

                                                               = 600000− 300000

                                                                              = 300000

              ÊU�uð V�ŠdÐ b�¬—œ s¹d²AOÐ        
  R(3000) = 300000

�«ÒÆr¹“«œdÄÅv� ‰«RÝ s¹« vÝ—dÐ tÐ øœd� b¼«uš rL¹e�U� «— œuÝ ¨b�¬—œ —«bI� s¹« U¹¬ U

¥‡‡¥‡‡≤∫œuÝ Êœd! rL¹e!U� ‡‡œuÝ lÐUð Êœd� rL¹e�U� X�dý ·b¼ tÐ tłuð UÐ 

 tM¹e¼−œuÝ Ω b�¬—œ 

±

P(x) = R(x) − C(x)

® ÈÅtDÐ«— “« ÁœUH²Ý« UÐ ¨—U� s¹« È«dÐ ÆXÝ« dE� œ—u�≤∫Xýu� Ê«uðÅv� ©

P(x) = (200x − x2

30
) − (72000+60x)

  

= −x2

30
+140x − 72000

V?¹d?{ X?�ö?Ž tÐ tłuð UÐ ¨t−O²� —œ ÆXÝ« ÂËœ tł—œ vFÐUð t�  x2
t?� X?Ý« vLL¹e�U� È«—«œ lÐUð ¨

∫s¹«dÐUMÐ b²A«Åv� ‚UHð« vLNÝ ”√— —œ Á—«uL¼

  

x = −b
2a

= −(140)

2(− 1

30
)

= 70

1

30

vLNÝ ”√— ‰uÞ ∫

  
x = 2100

 

  

= −(2100)2

30
+140(2100) − 72000   P(2100) rL¹e�U� P

        

  

= −4410000

30
+294000− 72000

  = −147000+222000= 7500

±‡‡ Profit



±±∞

ÊU�uð V�ŠdÐ œuÝ s¹d²AOÐ   = 75000 P(x)rL¹e�U� 

U?Ð Æœœd?Ö r?L?¹e?�U� œuÝ Uð bM� sOOFð È«Åt�uÖ tÐ «— ôU� bŠ«Ë d¼ ‘ËdA XLO
 b¹UÐ X�dý ¨sOMÇÅr¼

® ÈÅt�œUF� “« ÁœUH²Ý«¥∫œ—Ë¬ XÝœÅtÐ «— ôU� bŠ«Ë d¼ XLO
 Ê«uðÅv� ©

P(2100) = 200− 1

30
(2100)

                                                                              = 200− 70

                                       ÊU�uð V�ŠdÐ ôU� bŠ«Ë d¼ XLO
  =130

 ∫s?¹dLðr?L?¹e?�U?� œu?Ý UÐ «— Ê¬Ë bOM� t³ÝU×� «— œuÝ ¨œuÐ rL¹e�U� b�¬—œ t� ‰Ë« X�UŠ —œ

øb¹dOÖÅv� È«Åt−O²� tÇ ÆbOM� t�¹UI�

 XO�UF�¥ÅÅ‡‡∏

s?¹« È«d?Ð Æœ“U?�?Ð œuš X�uJÝ q×� ÈuKł vKJý qOD²�� ÈÅtÞu×� b¼«ušÅv� v�U³K~Mł

 —«b?I?� ¨—uEM�±∞∞—œ t?Þu?×?� ·d?Þ t?Ý v?A?�—UBŠ È«dÐ d²� p¹ ŸUHð—« tÐ È—uð rOÝ lÐd�d²� 

Ábý —uB×� XŠU�� Uð bM� »U7²�« t�u~Ç «— qJý qOD²�� ÈÅtÞu×� ÷dŽ Ë ‰uÞ Æœ—«œ —UO²š«

∫XAdÖ pL� d¹“ v{dA qJý “« Ê«uðÅv� ¨t�Q�� s¹« qŠ È«dÐ øœuý rL¹e�U�

y y

x
ÅÅqJýπÊU³K~Mł t�Q�� ‡‡

OL�ÒVOðdð tÐ «— U¼ÅÊ¬ t� ÆbM²�¼ tÞu×� XŠU�� Ë ÷dŽ Ë ‰uÞ ̈ dOG²� ÈU¼ÅXx ̈y Ë AÈ—«c~�U� 

 jIA ÊU³K~Mł ÊuÇ ÆrOM�Åv� vÝ—dÐ «— U¼dOG²� sOÐ ÈÅtDÐ«— fáÝ ÆrOM�Åv�±∞∞È—uð rOÝ lÐd�d²� 

 Ë« dE� œ—u� tÞu×� jO×� fÄ ¨œ—«œ±∞∞∫XÝ« d²� 



±±±

  
=100= y + x + ytÞu×� jO×� 

U¹

®        ±©
  
100= x +2y

t?Þu?×?� Êu?Ç ÆX?Ý« t?Þu×� XŠU�� tÐ ◊uÐd� œ—«œ œułË U¼dOG²� sOÐ t� Èd~¹œ ÈÅtDÐ«—

∫fÄ XÝ« qJý qOD²��

®        ≤©A = x.y

® ÈÅtDÐ«— “«± ¨©x dOG²� V�Š dÐ «— y® ÈÅtDÐ«— —œ Ë Áœ—Ë¬ XÝœÅtÐ ≤rOM�Åv� s¹e~¹Uł ©

  
x =100−2y

® —œ «— dOš« ÈÅtDÐ«— dÖ« Ë≤r¹—«œ rOM� s¹e~¹Uł ©

  
A = (100−2y)y

  
=100y −2y2

s¹«dÐUMÐ

  
A(y) =100y −2y2

t−O²� —œ ̈ œuý rL¹e�U� XŠU�� t� XÝ« vI¹dÞ tÐ tÞu×� ÷dŽ Ë ‰uÞ Êœd� «bOÄ ·b¼ ÊuÇ

lÐUð rL¹e�U� b¹UÐ

  
A(y) =100y −2y2

Æœ—Ë¬ XÝœÅtÐ «—

 lÐUðA(y) —œ 
  
y = 50 Ë   

y =0 œuýÅv� dHy ÈËU�� ®©b¹—Ë¬ XÝœÅtÐ ÊUðœuš «— d¹œUI� s¹«

2000

1500

1250

1000

500

10 20 30 40 50

25

A (y)

y

 qJý±∞  lÐUð —«œuL& ‡‡
  
A(y) = 100y − 2y2

ÅÅÅÅ



±±≤

ÊuÇ ÆXÝ« lÐUð rL¹e�U� ÈÅtDI� vLNÝ ”√—

  

y = −b
2a

= −100

2(−2)
= 25

vLNÝ ”√— ‰uÞ ∫

fÄ∫UÐ XÝ« dÐ«dÐ lÐUð rL¹e�U� —«bI� 

  A(25) =100(25) −2(25)2

                                                                                     = 2500−1250

  lÐd�d²�                                                                                     =1250

qzU��

±s?O?�“ V?¹d?ł p¹ —œ ÁUÖd¼ ‡‡  (4047m2) ¨≤∞r?¼ “« ÈËU?�?� ÈÅt?KyUA UÐ ËœdÖ Xš—œ ¨

 X?š—œ d?¼ “« ‰UÝ p¹ —œ vAU� bý— “« fÄ ¨b�uý t²ýU�∂∞Æb?ý b¼«uš Xý«œdÐ ËœdÖ ÂdÖuKO� 

 ¨œuý t²ýU� t� vAU{« Xš—œ d¼ È«dÐ≤ÆœœdÖÅv� r� ÊU²š—œ ‰uB×� t�ôUÝ sO~�UO� “« ÂdÖuKO� 

s¹« —œ øœuý t²ýU� b¹UÐ tAU{« Xš—œ bMÇ V¹dł d¼ —œ ËœdÖ ‰uB×� s¹d²AOÐ Êœ—Ë¬ XÝœÅtÐ È«dÐ

øœuýÅv� Xý«œdÐ ËœdÖ ‰uB×� —b
ÅtÇ  —uy

≤ X?�d?ý p¹ ‡‡xl?ÐU?ð Ë t?M?¹e?¼ l?ÐU?ð Æb?�U?Ý—Åv?� ‘Ëd?A tÐ Ë Áœd� bO�uð t²H¼ —œ ôU� bŠ«Ë 

∫XÝ« Ábý Áœ«œ d¹“  ôœUF� UÐ v~²H¼ ÈU{UIð

  C(x) = 5000+2xtM¹e¼ lÐUð ∫

  x =1000−10PU{UIð lÐUð ∫

øb¹¬ XÝœÅtÐ b�¬—œ s¹d²AOÐ Uð býËdHÐ v²LO
 tÇ UÐ Ë bM� bO�uð ôU� bŠ«Ë bMÇ ©n�«

øb¹¬ XÝœÅtÐ œuÝ s¹d²AOÐ Uð býËdHÐ v²LO
 tÇ UÐ Ë bM� bO�uð ôU� bŠ«Ë bMÇ ©»

— v�U�“ œuÝ s¹d²AOÐ U¹¬ ©ÛÔøœœdÖ rL¹e�U� r¼ b�¬—œ t� b¼œÅv� Œ

≥∫vIOIŠ œ«bŽ« “« vÖó¹Ë p¹ ‡‡ö¦� bM²�¼ ÊUýœuš lÐd� “« dðÅpÇu� œ«bŽ« “« vCFÐ Î

≤ “« d?ðÅpÇu�   2
2 = 4 b?M?�U?� b?M²�¼ ÊUýœuš lÐd� “« dðÅ¯—eÐ œ«bŽ« “« vCFÐ Ë XÝ« 

  

1

3
. 1

9

Ë 

lÐd� “« Á—«uL¼ p¹ Ë dHy sOÐ vIOIŠ œbŽ d¼ v�Ë ÆbMýUÐÅv� ÊUýœuš lÐd� dÐ«dÐ p¹ Ë dHy œ«bŽ«

 sOÐ ÈœbŽ ÆXÝ« dðÅpÇu� ‘œuš∞ Ë ±ÆbýUÐ sJL� —«bI� s¹d²AOÐ Ê¬ lÐd� UÐ gAö²š« t� bO¹UOÐ 

¥∫“UÐ—œ ÈÅt³Fł ‡‡Æœ“U�Ð “UÐ—œ ÈU¼Åt³Fł b¼«ušÅv� ÈbMÐÅt²�Ð q¹UÝË XšUÝ t�Uš—U� p¹ 

 X?Ý« t�Uš—U� —UO²š« —œ t� v¹U¼Åt
—Ë  18 ×18s?O?O?Fð È—uÞ «— U¼Åt³Fł œUFÐ« rO¼«ušÅv� ÆbýUÐÅv� 



±±≥

≥≤±ÁbýÅÁb¹dÐ lÐd� lK{

r−Š

® ‰Ëbł∑©

 v−�dDý cžU� ¯dÐÅÅÅÅbMÇ —U� s¹« È«dÐ ÆbMýUÐ t²ý«œ «— r−Š s¹d²AOÐ t� rOM�  18 ×18Ë bOM� tONð 

 lK{ tÐ lÐd� p¹ —UÐ d¼± \≤fáÝ bOM� Uð «— U¼ÅÁ—UM� Ë b¹—«œdÐ cžU� ÈÅtýuÖ —UNÇ “« bŠ«Ë ì Ë 

t³ÝU×� ̈ VFJ� r−Š ÈÅt³ÝU×� ‘Ë— UÐ U¹ Ë œdOÖÅv� Uł Ê¬ —œ t� v¹U¼ÅVFJ� œ«bFð ‘—ULý UÐ «— r−Š

ÆbO�¹uMÐ d¹“ ‰Ëbł —œ Ë bOM�

øXÝ« —b
ÅtÇ rL¹e�U� r−Š tÐ ◊uÐd� œUFÐ« øXÝ« —b
ÅtÇ rL¹e�U� r−Š ©n�«

 «— Ábý Áb¹dÐ lÐd� lK{ ‰uÞ dÖ« ©»xøXÝ« —b
ÅtÇ t³Fł œUFÐ« ÈÅÁ“«b�« r¹dO~Ð 

 V�ŠdÐ «— r−Š ©ÛxøXÝ« bMÇ ÈÅtł—œ “« lÐUð ÆbOM� ÊUOÐ 

r¼ tÐ È—«uL¼ vM×M� UÐ «— U¼ÅÊ¬ Ë Áœd� rÝ—  UB²7� ÁU~²Ýœ p¹ ÈË— «— ‰Ëbł ◊UI� © 

ÆbOM� qyË



±±¥

Ë “« g?O?Ä «— U?¼ÅÊ¬ ÈÅt?−?O²� Ê«uðÅv� t� v¹U¼ÅÁb¹bÄ� —u?ÞÅt?Ð Ÿu�œd?� s?OOFð lD

 ÈU¼ÅÁb¹bÄ
vFDË “« gOÄ «— U¼ÅÊ¬ ÈÅt−O²� Ê«uðÅvL� t� v¹U¼ÅÁb¹bÄ Ë � —uÞÅtÐ Ÿu�lD

 ¨œuL� sOF�v�œUBð ÈU¼ÅÁb¹bÄÆb�uýÅv� ÁbO�U� 

٥فصل 

vðU�bI� ‰UL²Š«

ôuLF� ̈ Ád�“Ë— ÈU¼œuMý Ë XHÖ —œÎË f�Uý “« �ö¦� ÆrO¹uÖÅv� s6Ý U¼b�UAOÄ ŸuÎf�Uý “« 

ö?Ž œ—u?� ‰U?³?ðu< rOð Êbý Áb�dÐ�·d?Š ÊU?²???ÐU?ð ÈU?¼ÅÁU?� “« v?J¹ —œ vÖb�—UÐ f�Uý “« U¹ œuš ÈÅt

 ÈUł tÐ v¼UÖÆrO�“Åv�f�Uý ÈÅtLK� “« ‰UL²Š«ÆœuýÅv� ÁœUH²Ý« 

  UŠöDE«f�Uý Ë  ‰UL²Š««— UN�¬ ÈÅt−O²� Ê«uðÅvL� t� b�Ë—Åv� —U�ÅtÐ v¹U¼ÅÁb¹bÄ nOEuð —œ

Ë “« gOÄ� —uÞÅtÐ Ÿu�U¹¬ rO�«œÅvL� ∫r¹—«b� ÊUMOLÞ« œ«œ b¼«uš Œ— tâ�¬ tÐ X³?� «d¹“ œd� sOOFð lD

öŽ œ—u� ‰U³ðu< rOð�rO¼«uš vÖb�—UÐ ÊU²?ÐUð “« vEUš “Ë— —œ U¹¬ øbý b¼«uš Áb�dÐ È“UÐ —œ U� ÈÅt

� —œ øXý«œI —uÞÅtÐ gOÄ “« «— U¼ÅÊ¬ ÈÅt−O²� Ê«uðÅv� t� b�—«œ œułË v¹U¼ÅÁb¹bÄ ̈ qÐU�∫œuL� sOOFð lD

Œ— —U−H�« rOM� t<U{« dJý ¨ÈUÇ tÐ dÖ« U¹ œd� b¼«uš ŸuKÞ Á—UÐËœ bOý—uš «œd< t� rO²?¼ s¾LD�

 b�UAOÄ ÈÅt−O²� tÐ œ—«u� t�uÖÅs¹« —œ Æœ«œ b¼«u6�s¾LD�ÆrO²?¼ 

øb?¹¬Åv?� —U" tÇÅtÐ ‰UL²Š«ÊU?¹d?ł —œ Èd?O?ÖÅr?O?L?Bð tÐ pL� ‰UL²Š« œdÐ—U� s¹d²LN� b¹Uý 

sJL� ¨XÝ« „b�« öÞ ‰«b� Êœ—Ë¬ XÝœÅtÐ —œ Ë« f�Uý t� b�«bÐ È«ÅÁb�Ëœ dÖ« ÆbýUÐ Ád�“Ë— vÖb�“

¹b?ł UÐ œdO~Ð rOLBð XÝ«Òv?M?O?F?� v¼UOÖ ÈË—«œ p¹ tJM¹« f�Uý bO�«bÐ dÖ« ÆbM� s¹dLð Èd²AOÐ X

Æb?OMJ� ÁœUH²Ý« Ë—«œ Ê¬ “« t� b¹dO~Ð rOLBð XÝ« sJL� ¨XÝ« „b�« œ“UÝ ·dÞdÐ «— ULý È—ULOÐ

 Ë b¹—UÐ b¼«uš Ê«—UÐ t� bO¼bÐ ÈœU¹“ ‰UL²Š« dÖ«�œu?š UÐ ¨bOýUÐ t²ý«œ «— ‰eM� “« s²<— ÊËdOÐ bB

¨v?B?6?ý Ë v?ŽU?L²ł« ¨vLKŽ ¨v²FME ÈU¼ÅÈdOÖÅrOLBð Ÿ«u�« —œ Æb¹dÐÅv� Á«dL¼ v�«—UÐ U¹ d²Ç p¹

ö?¦?� Æœ—«œ XWUšœ ‰UL²Š«ÎU?¹ b?¹b?ł ‰u?B?×?� È—Ë¬œu?Ý ‰UL²Š« s²?�«œ tÐ ÈbOWuð l¹UME Ê«d¹b� 

� Ë VOŽÅvÐ ‰UL²Š«I ÊœuÐ h�öŽ Ábý t²šUÝ ÈÅtFD�ÆbM²?¼ bM�Åt



±±µ

s¹dLð

±ÈU?¼b�UAOÄ “« Â«b� d¼ ÈÅÁ—UÐ—œ ¨v<œUBð ÈU¼ÅÁb¹bÄ UÐ d²AOÐ v¹UMý¬ È«dÐ ‡‡

Ë b?OMO³Ð ÆbOM� dJ< d¹“�Ë f?�Uý Ë XÝ« dðÅqL²×� p¹ÅÂ«b� Ÿu�“« Æ„b�« ¨Â«b� Ÿu

�IË f�Uý Ê«eO� V?ŠdÐ b�UAOÄ d¼ tÐ Ë bOM� ÁœUH²Ý« d¹“ ÈœbŽ ”UO�È«dÐ t� vŽu

 sOÐ ÈœbŽ ¨bO�“Åv� ”bŠ Ê¬∞ Ë ± ÆbO¼œ X³?� ∞ Ë sJL�dOž ÈU¼ÅÁb¹bÄ tÐ «— ±«— 

 ÈU¼ÅÁb¹bÄ tÐ�ÆbO¼œ X³?� vFD

0 12

4

3

4

1

4

ªXý«œ bO¼«uš X³Ož tÝ—b� —œ “Ë— p¹ r� XÝœ t²H¼ s¹« vÞ ©nW«

ªœ—uš bO¼«uš q?Ž Ë Ád� t�U×³E È«dÐ t²H¼ s¹« —œ “Ë— p¹ ©»

ªœ—UÐÅv� ·dÐ dOð ÁU� —œ ULý dNý —œ ©Û

ªœd� b¼«uš ŸuKÞ «œd< bOý—uš © 

ªbM� vÖb�“ »¬ ÊËbÐ ÁU� Ëœ b�«uðÅv� ÊU?�« ©À

ÆXÝ« d?Ä b�¬ b¼«uš UO�œ tÐ tE×W s¹« “« bFÐ t� È«ÅtâÐ sOWË« ©Ã

≤ÐUD� ‡‡o?Ž ¨d¹“ qJý IËœ t?Ð «—Å t?×?HE ¨Ábý ôuW t×HE e�d� —œ t� È«ÅtÐd

 ÈÅtOŠU�
e�d Ë bOHÝð IŽ UÐ Á«dL¼ t×HE s¹«ÆXÝ« Áœd� rO?I«—ÅÊ¬ tÐ Ábý ôuW ÈÅtÐd

Ž t×H-ItÐdÆrO¹uÖÅv� 

Ž dÖ« ©nW«IŽ „u� t�Ås¹« f�Uý U¹¬ bOM� U¼— fáÝ Ë bO�UšdâÐ «— tÐdIÈË— tÐd

‰UL²Š« d²AOÐ X?O� dÖ« ø«dÇ X?¼ dÖ« øXÝ« ÊU?J¹ b²?¹UÐ U¼ÅtOŠU� s¹« “« Â«b� d¼

ø«dÇ øb²?¹UÐ tOŠU� Â«b� ÈË— t� bO¼œÅv�

Ž d?Ö« t?� b?O?¹u~Ð ÊUMOLÞ« UÐ bO�«uðÅv� U¹¬ ©»I «— t?Ðd±∞∞«ô b?O�UšdâÐ —UÐ �q

Ž „u� —UÐÅp¹I ÈÅtOŠU� ÈË— tÐd� e�d�øœdOÖÅv� —«d

 UÐ œ—«œ ÊUJ�« U¹¬ ©Û±∞∞Ž „u?� r¼ “UÐ Êb�UšdÇ —UÐ I ÈÅtOŠU� ÈË— tÐd�e�d

tÐdIŽ ÈÅt×H-



±±∂

�øœdO~� —«d

≥Ë bOM� dJ< bM¼œ Œ— ULý vÖb�“ —œ XÝ« sJL� t� v¹U¼b�UAOÄ “« vCFÐ tÐ ‡‡

∫bO¼œ aÝUÄ d¹“  ô«RÝ tÐ

 b�UAOÄ tÝ ©nW«�Æb¹d³Ð ÂU� «— vFD

Æb¹d³Ð ÂU� «— sJL�dOž b�UAOÄ tÝ ©»

Ë tÐ t� b¹d³Ð ÂU� «— b�UAOÄ tÝ ©Û�ÆbO²?¼ sOÐÅ‘uš Ê¬ Ÿu

Ë f�Uý t� b¹d³Ð ÂU� «— b�UAOÄ tÝ © �ÆbýUÐ r� U¼ÅÊ¬ Ÿu

µ‡‡ ±v�œUBð ÈU¼Åg¹U�“¬ ‡‡

UHð« Ë U¼ÅÁb¹bÄ “« È—UO?Ð�«— U¼ÅÊ¬ ÈÅt−O²� vMF¹ÆbM²?¼ v<œUBð U¹ v?�Uý t�«“Ë— vÖb�“ —œ  U

 —uÞÅtÐ gOÄ “«�vÝ—dÐ Ë Áb¼UA� UÐ ÆrOM� XÝdN< «— sJL� Z¹U²� ÈÅtL¼ rO�«u²Ð b¹Uý U�« rO�«œÅvL� lD

t� rO¼œ X³?� «— v¹U¼œbŽ U¼b�UAOÄ tÐ rO¼«ušÅv� ¨b¼œÅv� Œ— Z¹U²� Ê¬ “« Â«b� d¼ t� vðUF<œ œ«bFð

dF�Ò ·f�Uý U¹ ‰UL²Š«Ë �ÆbM²?¼ UN�¬ Ÿu

p?¹ Êœd?� »U?ðd?Ä UÐ b¼«ušÅv� ‰U³ðu< È“UÐ p¹ —Ë«œ ∫r¹dOÖÅv� dE� —œ «— È«ÅÁœUÝ  ÈÅÁb¹bÄ

åX?A?Äò t?Ð t?J?Ý U?¹¬ Æb?ýUÐ rOð Ëœ “« p¹ÅÂ«b� —UO²š« —œ Ûuð ¨È“UÐ ŸËdý —œ t� bM� sOOFð ¨tJÝ

åË—ò tÐ U¹ bMOA�Åv�
±

< t?� rO�«œÅv� vWË rOM� sOOFð gOÄ “« «— »UðdÄ ÈÅt−O²� rO�«uðÅvL� øIt−O²� Ëœ j

Z?¹U?²?� ¨Ê¬ “« q?EUŠ ÈÅt−O²� ÈÅÁb¼UA� Ë¨tJÝ p¹ —dJ� »UðdÄ UÐ rO�«uðÅv� ÆXý«œ b¼«uš œułË

U?¼ÅÁœ«œ È—Ë¬Ål?L?ł È«d?Ð t?� v?K?L?Ž t?Ð ¨‰U?L?²Š« rKŽ —œ ÆrOM� vÝ—dÐ «— tJÝ »UðdÄ g¹U�“¬ sJL�

¨œd?¹cÄÅv�  —uEg¹U�“¬  —u?ÞÅt?Ð Ê«u²� gOÄ “« «— g¹U�“¬ s¹« ÈÅt−O²� dÖ« Ë rO¹uÖÅv� �s?OF� lD

 «— Ê¬ ¨œd�v�œUBð g¹U�“¬“« gOÄ «d¹“ XÝ« v<œUBð g¹U�“¬ p¹ tJÝ »UðdÄ g¹U�“¬ ÆrO�U�Åv� 

 —u?ÞÅt?Ð Ê«uðÅvL� tJÝ »UðdÄ�Z?¹U?²?� ÂU?L?ð ¨‰U?Š s¹« UÐ ÆåXAÄò U¹ b�¬ b¼«uš åË—ò t� œd� sOF� lD

ÆbM²?¼ Uð Ëœ sOL¼ g¹U�“¬ s¹« —œ sJL�

 ¨v�œUBð g¹U�“¬ p¹ sJL� Z¹U²� ÈÅtL¼ ÈÅtŽuL−�È«Åt½uL½ ÈUC�ÆœuýÅv� ÁbO�U� Ê¬ 

±ÆrO�U�Åv� åXAÄò «— d~¹œ ·dÞ Ë åË—ò XÝ« Ábý t²ýu� Ê¬ ÈË— œbŽ t� «— tJÝ “« v<dÞ Ê¬ ‡‡



±±∑

 XO4UF�µ‡‡ ±

«— tJÝ p¹µ∞d?¹“ ‰Ëb?ł b?M�UL¼ vWËbł —œ «— v<œUBð g¹U�“¬ s¹« Z¹U²� Ë bOM� »UðdÄ —UÐ 

ÆbOM� È—Ë¬œdÖ

q" œ«bFðÊUA� jš

Ë—

XAÄ

    µ∞q�

® ‰Ëbł±©

—œ Ë bOM� X³Ł åÊUA�Åjšò Êu²Ý d¹“ ¨X�öŽ p¹ UÐ «— t−O²� bOM�Åv� »UðdÄ «— tJÝ t� —UÐ d¼

ÆbOM� Xý«œœU¹ åq� œ«bFðò Êu²Ý d¹“ «— qEUŠ œbŽ Ë b¹—ULAÐ «— U¼ÅÊ¬ UN²�«

± v?M?F?¹ ¨U?¼Å»UðdÄ q� œ«bFð tÐ XÝ« Áb�¬ åÅË—Åò tJÝ t� vðUF<œ œ«bFð X³?� ‡‡µ∞XÝœÅtÐ «— 

ªb¹—Ë¬

d?� d~¹œ  —U³Ž tÐ

                                                                   
U¼Ë— œ«bFð 

 =
                    

¨åU¼Ë—ò X³?� 

U¼Å»UðdÄ œ«bFð                                                                  

ÆbOM� »U?Š «—

≤ bM�U� eO� «— XÝ« Áb�¬ åXAÄÅò t� v¹U¼Å»UðdÄ X³?� ‡‡� XL?±ÆbOM� »U?Š 

≥� b?�«ÅÁœ—Ë¬ XÝœÅtÐ ”ö� Ê«“u�¬Åg�«œ d~¹œ t� v−¹U²� UÐ «— œuš g¹U�“¬ ÈÅt−O²� ‡‡It?¹U

øœ—ušÅv� rAÇ tÐ vðËUHð Z¹U²� —œ U¹¬ ÆbOM�

¥øbO²ý«œ —UE²�« ULý t� œuÐ ÈeOÇ ÊUL¼ ¨g¹U�“¬ s¹« Z¹U²� U¹¬ ‡‡

 ÊUL¼ b�¬ XÝœÅtÐ tJÝ »UðdÄ g¹U�“¬ —œ t� Åv¹U¼åË—Åò X³?�v³?� v�«Ë«d�ÆXÝ« 



±±∏

 —œ dÖ«µ∞ ¨tJÝ »UðdÄ —UÐ ±∂ œbŽ ¨œuý d¼Uþ åÅË—Åò —UÐ 

  

16

50
¨U¼ÅåÅË—ò œ«bFð v³?� v�«Ë«d< vMF¹ 

‰UL²Š« sOL@ðÈ«dÐ v³?� v�«Ë«d< “« s¹«dÐUMÐ ÆœuýÅv� ÁbO�U� g¹U�“¬ s¹« —œ åÅË—Åò ÈÅÁb¼UA� f�Uý U¹ 

¨b?ýUÐ Èd~¹œ œbŽ b¹«ÅÁœd� Áb¼UA� ULý t� v¹U¼Ë— œ«bFð XÝ« sJL� ÆrOM�Åv� ÁœUH²Ý« ‰UL²Š« sOL6ð

t� vHK²6�  œ«bŽ«ÆœuÐ b¼«uš  ËUH²�  åÅË—Åò Êœ—Ë¬ XÝœÅtÐ ‰UL²Š« È«dÐ r¼ ULý sOL6ð  —uE s¹« —œ

 XOWUF< ÂU−�« UÐµ‡‡ ±b?¼«uš U¼Ë— œ«bFð È«dÐ vHK²6� ÈU¼ÅsOL6ð ¨b¹«ÅÁœ—Ë¬ XÝœÅtÐ U¼Ë— œ«bFð È«dÐ 

d< d~¹œ g¹U�“¬ tÐ vA¹U�“¬ “« XÝ« sJL� t−O²� p¹ Êœ«œ Œ— ‰UL²Š« sOL6ð¨s¹«dÐUMÐÆœuÐ‚ÆbM� 

ð g¹U�“¬ ÂU−�« ÊËbÐ ‰UL²Š« sOL6ð v¼UÖIU³¹dÎ‰UL²Š« bO¼«u6Ð dÖ« ‰U¦� È«dÐ ÆXÝ« sJL�dOž 

ð p¹ —œ t�Ås¹«I«— U?¼Ås?OýU� “« Èœ«bFð b¹UÐ ¨bO�eÐ sOL6ð «— b�uý œ—«Ë éÇ XLÝ “« U¼ÅsOýU� lÞU

 “« d?Ö« Æb?�u?ýÅv?� œ—«Ë é?Ç X?L?Ý “« U¼ÅÊ¬ “« Uð bMÇ bOMO³Ð Ë bOM� Áb¼UA�µ∞Áb?¼U?A� t� vMOýU� 

 b¹«ÅÁœd�≤∞ð œ—«Ë éÇ XLÝ “« U¼ÅÊ¬ ÈUð I ‰UL²Š« sOL6ð ¨b�uý lÞU

  

20

50
=0/ 40ÆœuÐ b¼«uš 

ôuLF� ‰UL²Š« sOL6ðÎv<œUBð g¹U�“¬ p¹ sJL� Z¹U²� ÈÅtŽuL−� “« t−O²� bMÇ U¹ p¹ È«dÐ 

bM¼œÅv� qOJAð «— v<œUBð g¹U�“¬ È«Åt�uL� ÈUC< “« È«ÅtŽuL−� d¹“ ̈ ’Uš Z¹U²� s¹« ÆœË—Åv� —U�ÅtÐ

 «— Ê¬ t�b�UAOÄ ÕöDE« ÊuM�Uð ÆrO�U�Åv� b�UAOÄUHð« ÈUMF� tÐ «— �r¹«ÅÁœdÐ —U�ÅtÐ vFO³Þ Ë Ád�“Ë—  U

 fÄ s¹« “« vWËdOš«ÅÈUMF� b�UAOÄ  ‰UL²Š« sOL6ðÆXÝ« dE�œ—u� Ê¬ EÅ±

d?� UÐ Ê«uðÅv� «— 

                            —œ t� Ábý Áb¼UA� Z¹U²� œ«bFð          EbM²?¼ 

P(E) =
                                                                     

Å
≤

g¹U�“¬ —œ  «b¼UA� q� œ«bFð                                           

 «— tJÝ p¹ dÖ« s¹«dÐUMÐ ÆXÝ« v³?� v�«Ë«d< ÊUL¼ t�œd� n¹dFðµ∞ Ë r?OM� »UðdÄ —UÐ ±∂åË—ò —UÐ 

 ¨b¹UOÐE Ë åÊb�¬ Ë—ò b�UAOÄ “« XÝ«  —U³Ž 

  

P(E) = 16

50
=0/ 32Æ

±‡‡ Event ≤‡‡ Probability

 XO4UF�µ ‡‡ ≤

ÐU?D�oŽ t?×?HE p¹ ¨qJý I? X?A¼ tÐ «— tÐd�ð ÈËU???� XL?I?Ž ÈU?łÅt?Ð ¨bOM� rO?I?ÈÅtÐd

Ž t×HE e�d� —œ «— Ê¬ „u� t� Èœ«b� ‰uŠ «— Ê¬ Ë b¹—«œdÐ cžU� ÈÅÁdOÖ p¹ bO�«uðÅv� ÊUšdÇItÐd



±±π

�Æb?O�UšdâÐ ¨b¹«ÅÁœ«œ —«d� @?�— t?Ý U?Ð «— U¼ÅÊ¬ Ë bOM� È—«cÖÅÁ—ULý «— U¼ÅXL?
e�d¨œ—“  Ë ¨vÐ¬

Ž ÆbOM� @�—I «— tÐd≥∞Ž „u� t� «— v~�— —UÐ d¼ Ë bO�UšdâÐ —UÐ IX?ý«œœU¹ b²?¹«Åv� Ê¬ ÈË— tÐd

Ž dÖ« ÆbOM�I “« vJ¹ ÈË— Uð bO�UšdâÐ «— Ê¬ Á—UÐËœ ̈ œU²?¹« jš p¹ ÈË— tÐd� U¼ÅXL?�‰UŠÆœdOÖ —«d

∫bO¼œ aÝUÄ d¹“  ô«RÝ tÐ b¹«ÅÁœ—Ë¬ XÝœ tÐ t� v¹U¼ÅÁœ«œ pL� tÐ

± s¹« —œ ‡‡≥∞ @�— ÈË— ÊœU²?¹« U¹¬ —UÐ 
e�d U¹ XÝ« d²KL²×� œ—“ø«dÇ ø

≤ s¹« —œ ‡‡≥∞ @�— ÈË— ÊœU²?¹« U¹¬ —UÐ vÐ¬ U¹ XÝ« d²KL²×� 
e�dø«dÇ ø

≥Ž d~¹œ ÈÅtF<œ p¹ dÖ« ‡‡IŽ „u� ÊœU²?¹« ‰UL²Š« ¨bO�UšdâÐ «— tÐdI @�— ÈË— tÐdœ—“«— 

ªbO�eÐ sOL6ð

¥Ž d~¹œ ÈÅtF<œ p¹ dÖ« ‡‡IŽ „u� ÊœU²?¹« ‰UL²Š« ¨bO�UšdâÐ «— tÐdI @�— ÈË— tÐd vÐ¬«—

ªbO�eÐ sOL6ð

µŽ s¹« dÖ« ‡‡ I «— tÐdπ∞Ž ÊœU²?¹« “« ULý —UE²�« ̈ bO�UšdâÐ d~¹œ —UÐ I @�— ÈË— tÐdvÐ¬tÇ 

øXÝ« ÈœbŽ

∂� b�«ÅÁœ—Ë¬ XÝœ tÐ ”ö� Ê«“u�¬Åg�«œ d~¹œ tâ�¬ UÐ b¹«ÅÁœ—Ë¬ XÝœÅtÐ t� «— Èœ«bŽ« ‡‡ÅIt?¹U

 ÈU?¼Å@?�— q� œ«bFð Ë bOM�
e?�d ¨vÐ¬ Ë œ—“Ë b?O?M?� X?ý«œœU¹ «— ”ö� q� jÝuð Ábý Áb¼UA� 

«œb−�Î  ô«RÝ tÐ ± Uð µÆbO¼œ aÝUÄ 

1

7 4

5

3

82

6

vÐ¬
e�d


œ—“

vÐ¬

œ—“

vÐ¬

e�d


e�d




±≤∞

 XO4UF�µ ‡‡ ≥

 p¹”U?ð
±

 «— ∂∞d?¹“ ‰Ëb?ł —œ «— Z?¹U?²?� Æœu?ýÅv� d¼Uþ ÈœbŽ tÇ bOMO³Ð Ë bOM� »UðdÄ —UÐ 

 b?M?�U?� ÆbOM� Xý«œœU¹�� q³I?ÊU?A?�ÅÅj?š d?D?Ý —œ jš p¹ ¨Êbý d¼Uþ —UÐ d¼ È«“« tÐ œbŽ d¼ qÐU

ÆbOAJÐ

 œ«bFð∂ œ«bFðµ œ«bFð¥œ«bFð≥œ«bFð≤ œ«bFð±

ÊUA� jš

q"

® ‰Ëbł≤©

∫bO¼œ aÝUÄ d¹“  ô«RÝ tÐ b¹«ÅÁœ—Ë¬ XÝœÅtÐ t� v¹U¼ÅÁœ«œ pL� tÐ ‰UŠ

± —œ b?O?²?ý«œ —UE²�« U¹¬  øb¹«ÅÁœd� Áb¼UA� «— œbŽ gý ÈÅtL¼ ¨U¼Å»UðdÄ  s¹« —œ U¹¬ ‡‡∂∞—UÐ 

«ô œ«bŽ« “« p¹ d¼ ¨»UðdÄ�ªbO¼œ `O{uð øœuý d¼Uþ —UÐ p¹ q

≤ œbŽ Êbý d¼Uþ ‰UL²Š« ‡‡µªbO�eÐ sOL6ð «— 

≥ œbŽ Êbý d¼Uþ ‰UL²Š« ‡‡¥ªbO�eÐ sOL6ð «— 

¥ ÈU¼Å‰«RÝ aÝUÄ ‡‡≤ Ë ≥� «—IªbOM� t?¹U

µ ‰«RÝ aÝUÄ UÐ «— aÝUÄ s¹« ÆbO�eÐ sOL6ð «— ÃË“ œbŽ Êbý d¼Uþ ‰UL²Š« ‡‡ ≥� IªbOM� t?¹U

∂ “« d²Ö—eÐ œbŽ Êbý d¼Uþ ‰UL²Š« ‡‡Å¥ªbO�eÐ sOL6ð «— 

∑ «— ”Uð dÖ« ‡‡±∞∞ œbŽ Êbýd¼Uþ —UÐ bMÇ ¨bOM� »UðdÄ d~¹œ —UÐ µøbOA�Åv� —UE²�« «— 

∏ t� «— v−¹U²� ‡‡ ±∞ÐUD� vWËbł —œ b�«ÅÁœ—Ë¬ XÝœÅtÐ ”ö� Ê«“u�¬Åg�«œ “« dH� o® ‰Ëbł ≥©

ÆbOM� È—Ë¬œdÖ

± œ«bŽ« Ê¬ ÁułË ÈË— t� XÝ« v³FJ� ”Uð ‡‡± Uð ∂ÆXÝ« Ábý t²ýu� 
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π s¹« jÝuð Áb�¬ XÝœÅtÐ ÈU¼ÅÁœ«œ “« ÁœUH²Ý« UÐ ‡‡±∞ªdH� 
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 XO5UF�µ ‡‡ ¥

“« v?J?¹ @?�—œ v?Ð °b?¹«ÅÁœU?�¬ Æb?¹u?ý œb?Ž p¹ Êœd� Xý«œœU¹ ÈÅÁœU�¬ Ë b¹—«œdÐ «— ÊUðœ«b�

 sOÐ œ«bŽ«± Uð ¥vJ¹ t� «— œuš ”ö� Ê«“u�¬Åg�«œ œ«bFð d¹“ ‰Ëbł —œ fáÝ ÆbOM� Xý«œœU¹ «— 

 œ«bŽ« “«± Uð ¥ÆbO?¹uMÐ b�«ÅÁœd� »U6²�« «— 

¥≥≤±
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±øXÝ« Ábý »U6²�« —UÐ bMÇ œbŽ d¼ ‡‡

≤øXÝ« dðÅ¯—eÐ œ«bŽ« s¹« “« pO�«b� v³?� v�«Ë«d< ‡‡

≥ œ«b?Ž« sOÐ “« dÖ« ‡‡± ¨Å≤ ¨Å≥ Ë ¥ œb?Ž »U6²�« v�«Ë«d< ¨≥Ð “« d?²AOÐ It?Ðd?−ð dÐUMÐ ¨býUÐ tO

 œbŽ ULý ”ö� “« Ã—Uš vB6ý t� s¹« ‰UL²Š«≥ v³?� v�«Ë«d< dÐ«dÐ bM¹eÖdÐ «— ≥pL� tÐ ÆXÝ« 

u< ‰Ëbł‚ œ«bŽ« ÈÅtL¼ È«dÐ «— ‰UL²Š« s¹« ± ¨Å≤ ¨Å≥ Ë ¥ÆbO�eÐ sOL6ð 

¥ “« vJ¹ œ«bŽ« Ê«“u�¬Åg�«œ tJM¹« ‰UL²Š« ‡‡± ¨Å≤ Ë ¥ÆbOM� «bOÄ bMýUÐ Áœd� »U6²�« «— 

 s¹dLð±∫bOM� »U6²�« «— œuš dNý ÈU¼ULMOÝ “« Uð Ëœ ¨œułË  —uE —œ 
±

©nW«® «— vJ¹ Æ

bOÝdáÐ œuš ÈÅtÝ—b� Ê«“u�¬Åg�«œ “« Èœ«bFð “« ‰UŠ Æ©»® «— Èd~¹œ Ë bO�UMÐ

 «— Ê«“u?�¬Åg?�«œ s?¹« t?� b?OM� tłuð Æb�«Åt²<— U¼ULMOÝ s¹« “« p¹ÅÂ«b� tÐ t�t?Ð

·œUBðd?¼ t?Ð t� «— v¹U¼ÅÊ¬ œ«bFð ÆbOM� »U6²�« tÝ—b� Ê«“u�¬Åg�«œ ÊUO� “« 

∫bOM� X³Ł d¹“ ‰Ëbł —œ b�«Åt²<d� U¹ b�«Åt²<— U¼ULMOÝ s¹« “« Â«b�

® ‰Ëbłµ©

q" œ«bFðXÝ« t²�d� ©»® tÐXÝ« t²�— ©»® tÐ

XÝ« t²�— ©n4«® tÐ

XÝ« t²�d� ©n4«® tÐ

q" œ«bFð

±ÆbOM� »U6²�« «— v�u¹e¹uKð ÈÅtJ³ý Ëœ bO�«uðÅv� ¨œ—«b� œułË ULMOÝ ULý dNý —œ dÖ« ‡‡

t� v¹U¼ÅÁœ«œ ”UÝ«dÐ Æb¹«ÅÁbOÝdá� Ë« “« t� bOM� »U6²�« «— È“u�¬Åg�«œ ÊuM�«

∫b¹«ÅÁœ—Ë¬ XÝœÅtÐ ‰«RÝ œ—u� Ê«“u�¬Åg�«œ  “«

ªbO�eÐ sOL6ð «— býUÐ t²<— ©nW«® ÈULMOÝ tÐ Ë« t�Ås¹« ‰UL²Š« ©nW«

ªbO�eÐ sOL6ð «— býUÐ t²<— ©»® ÈULMOÝ tÐ Ë« t�Ås¹« ‰UL²Š« ©Å»

ö?E« Ë« t�Ås¹« ‰UL²Š« ©ÛÎs?O?L6ð «— býUÐ t²<d� ULMOÝ Ëœ s¹« “« Â«b� êO¼ tÐ 

ªbO�eÐ

 d?Ö« © ±∞∞U?¼ÅÊ¬ “« t?� b?M?ýU?Ð t?²?ý«œ œu?łË U?L?ý ÈÅt?Ý—b?� —œ “u?�¬Åg�«œ 

øbMýUÐ t²<— ULMOÝ Ëœ d¼ tÐ U¼ÅÊ¬ “« dH� bMÇ b¹—«œ —UE²�« ¨b¹«ÅÁbOÝdá�
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È«Åt?�u?L?� ÈU?C?< “« È«ÅtŽuL−� d¹“  —uEÅtÐ «— XÝ« Ábý t²Ý«uš Ê¬ ‰UL²Š« t� Èb�UAOÄ fáÝ
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® ÈÅtDÐ«— “« ÈdE� ‰UL²Š« ̈ bM²?¼ f�Uý r¼ U¼b�¬dÐ t� v²WUŠ±sJL� t� bOM� tłuð Æb¹¬Åv� XÝœÅtÐ ©

ÆbMýU³� f�Uý r¼ v<œUBð g¹U�“¬ p¹ ÈU¼b�¬dÐ XÝ«
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Ê«“u�¬Åg�«œ t� v¹U¼œbŽ Ë býÅv� 

œU?¹“  U?F?<œ t?Ð v?<œU?Bð ÈU¼Åg¹U�“¬ dÖ« Æœd�ÅvL� r¼ UÐ v�«bMÇ  ËUHð ¨b�œ—Ë¬Åv� XÝœÅtÐ nK²6�

“« ÁœUH²Ý« UÐ ÆœuýÅv� dðÅp¹œe� Ë p¹œe� ÈdE� ‰UL²Š« tÐ Áb�¬ XÝœÅtÐ vÐd−ð ‰UL²Š« ¨b�uý —«dJð

Ë ‰UL²Š« Ê«uðÅv� ¨ÈdE� ‰UL²Š«� —œ b�UAOÄ Ÿub� “«—œÒ ¹dÞ Ëœ tÐ «— o∫œ“ ”bŠ 

±O?F?� «— b?�U?A?OÄ p¹ ÈdE� ‰UL²Š« rO�«u²Ð dÖ« ‡‡ÅÒÈd?O?ÖÅÁ“«b?�« È«dÐ Ê¬ “« rO�«uðÅv� ¨rOM� s

ªrOM� ÁœUH²Ý« U¼b�UAOÄ ‰UL²Š«

≤OF� «— b�UAOÄ p¹ ÈdE� ‰UL²Š« rO�«u²� dÖ« ‡‡ÅÒsOOFð UÐ Ë rO¼œ ÂU−�« «— g¹U�“¬ b¹UÐ ¨rOM� s

Ë v³?� v�«Ë«d<�Ë ‰UL²Š« ¨b�UAOÄ Ê¬ Ÿu� «—ÅÊ¬ ŸusOL@ðÆrO�eÐ 

 XO4UF�µ ‡‡ µ

 XOWUF<—œµ‡‡ ≤Ž t?×HE  ÊuÇ ¨Ið dÐ«dÐ ÈÅtOŠU� XA¼ tÐ «— tÐdIŽ ÊœU?²?¹« ¨r¹œd� rO?ItÐd

∫ÈdE� ‰UL²Š« n¹dFð “« ÁœUH²Ý« UÐ ÆXÝ« f�Uý r¼ nK²6� ÈU¼ÅtOŠU� ÈË—

±Ž tJM¹« ‰UL²Š« ‡‡I ÈÅÁ—ULý ÈÅtOŠU� —œ tÐd≥ªbOÐUOÐ «— b²?¹UÐ 

≤Ž tJM¹« ‰UL²Š« ‡‡IªbOÐUOÐ «— b²?¹UÐ ÃË“ ÈÅÁ—ULý UÐ È«ÅtOŠU� —œ tÐd

≥Ž tJM¹« ‰UL²Š« ‡‡I ÈÅtOŠU� ÈË— tÐdvÐ¬Ç b²?¹UÐ @�— IøXÝ« —b

¥Ž ‡‡ÅÅI «— tÐd¥∞∫bOM� X³Ł d¹“ ‰Ëbł —œ «— U¼b�¬dÐ v�«Ë«d< Ë bO�UšdâÐ —UÐ 
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µŽ t� vðUF<œ v³?� v�«Ë«d< ‡‡ I —œ tÐd¥∞ ÈÅÁ—ULý ÈÅtOŠU� —œ gšdÇ —UÐ ≥Ç b²?¹«Åv� I—b

øXÝ«

∂Ž t� vðUF<œ v³?� v�«Ë«d< ‡‡ÅI —œ tÐd¥∞Ç b²?¹«Åv� ÃË“ ÈÅtOŠU� —œ ̈ gšdÇ —UÐ IøXÝ« —b

 ‰«RÝ aÝUÄ UÐ «— t−O²�≤� IÆbOM� t?¹U

∑ v³?� v�«Ë«d< ‡‡ÅvÐ¬ s¹« —œ Ábý Áb¼UA� ÈU¼Å¥∞Ç gšdÇ —UÐ IaÝUÄ UÐ «— t−O²� øXÝ« —b

 ‰«RÝ≥� IªbOM� t?¹U

∏ ÈU¼Å‰«RÝ ‡‡ µ ̈ Å∂ Ë ∑ ÈUł tÐ dÖ«ÆbM¼œÅv� XÝœÅtÐ «— ‰UL²Š« ÈU¼ÅsOL6ð ¥∞¨gšdÇ —UÐ 

ŽI? «— t?Ðd¥∞∞∞ ÈU?¼Å‰«R?Ý —œ «— Èd?E?� ÈU?¼Å‰U?L?²?Š«  —u?E Ê¬ —œ ¨r?O?�U?šdâÐ —UÐ ± \≤ Ë ≥ U?Ð

 vÐd−ð ÈU¼Å‰UL²Š«�IÆbOM� t?¹U

 XO4UF�µ ‡‡ ∂

±—« “« Â«b� d¼ ‡‡Å� ÂU?∞ Uð π ÈË— «— ±∞p?¹ —œ «— U¼Å —U� ÁU~�¬ ÆbO?¹uMÐ t�UÖ«bł  —U� 

 t³Fł�t³Fł qš«œ «— œuš XÝœ ̈ bOM� ÁU~� «— t³Fł qš«œ tJ�¬ ÊËbÐ fáÝ Æb¹e¹dÐ r¼—œ Ë bO¼œ —«d

 —U� ÈË— œbŽ tJM¹« ‰UL²Š« Æb¹—ËUOÐ ÊËdOÐ «—  —U� p¹ Ë b¹d³Ð

 ©nW«±Ç býUÐ IøXÝ« —b

Ç býUÐ ÃË“ ©»I©b¹dO~Ð ÃË“ œbŽ «— dHE® øXÝ« —b

 “« d²Ö—eÐ ©Û∑Ç býUÐ IøXÝ« —b

 dÐ © ≥ dÐ r¼ dHE® øX?OÇ býUÐ d¹cÄÅg6Ð ≥©ÆXÝ« d¹cÄÅg6Ð 

≤t?³?F?ł q?š«œ t?Ð «— Ê¬ b?ýU?³?� d?H?E b?¹«ÅÁb?O?A?� ÊËd?O?Ð t³Fł “« t� vð—U� ÈË— œbŽ dÖ« ‡‡Å

«œb−� Ë bO�«œdÖdÐÎ�¬ Æb¹—Ë¬ ÊËdOÐ «— vð—U� IÁb�¬ ÊËdOÐ  —U� ÈË— œbŽ Uð bOM� —«dJð «— —U� s¹« —b

t³Fł Ë bO�«œdÖdÐ t³Fł qš«œ tÐ «—  —U� ‰UŠ ÆbOM� Xý«œœU¹ «—  —U� s¹« ÈË— œbŽ ÆbýU³� dHE

 œb?Ž XÝ«— XLÝ «— Ê¬ ÈË— œbŽ Ë bOAJÐ ÊËdOÐ «— Èd~¹œ  —U� ÆbO¼œ ÊUJð «—�Uð bO?¹uMÐ vK³

— Ëœ œbŽ p¹�œbŽ s¹« tJM¹« ‰UL²Š« Æb¹¬Å XÝœÅtÐ vL

 tÐ ©nW«≥Ç œuý r²š IøXÝ« —b

Ç býUÐ ÃË“ ©»IøXÝ« —b
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 ¨b?�œd?ÖÅv� »U6²�«  —uE s¹« tÐ t� v¹U¼œbŽv?�œUBð ÈU¼œbŽ»U?6?²�« f�Uý Ë b�—«œ ÂU� 

  »U6²�« —œ VKž« v<œUBð ÈU¼œbŽ ÆXÝ« dÐ«dÐ d~¹bJ¹ UÐ ̈ U¼œbŽ s¹« Êbýv�œUBð ÈU¼Åt�uL�œ—u� 

 ÁœUH²Ý«�ö?¦?� Æb�dOÖÅv� —«dÎ bOM� ÷d< ±∞t?Ð «— U?¼ÅÊ¬ “« v?J¹ bO¼«ušÅv� Ë b¹—«œ vLOLE XÝËœ 

 ÈU¼ÅÁ—ULý UÐ «— U¼ÅÊ¬ bO�«uðÅv� ÆbOM�  uŽœ ‰U³²J?Ð È“UÐ∞ Uð π«— œbŽ p¹ Ë bOM� È—«cÖÅÁ—ULý 

 s?OÐ “« ·œUBð tÐ∞ Uð πÈ«d?Ð b?¹«ÅÁœ«œ Ë« t?Ð «— Á—ULý ÊUL¼ t� œuš XÝËœ Ê¬ ÁU~�¬ ¨Áœd� »U6²�« 

ÆbOM¹eÖdÐ È“UÐ tÐ  uŽœ

 s¹dLð≤∫OWUF< ÈU¼Åg¹U�“¬ —«dJð “« qEUŠ ÈU¼œbŽ dÖ« Ò Xµ‡‡ ∂p¹ ¨rO?¹uMÐ r¼ ‰U³�œ tÐ «— 

 tWU³�œ≤µ∞— � È«“« tÐ vL≤µ∞∫b¹¬Åv� XÝœ tÐ œbŽ »U6²�« —UÐ 

ì∞≥≤≤≤≥ππµ±±≤∑≥∏µ∞≥∞≥≤µ∞±∑∏∑∞∞≤

d¹“ —œ «— ‰Ëbł s¹« “« ÈÅt�uL� ÆrOM�Åv� Vðd� d¹“  —uE tÐ vWËbł —œ «— v<œUBð œ«bŽ« s¹« 

 q�Uý t� ÆbOMOÐÅv�≤µ∞— � tÐ Ê¬ œ«bŽ« Ë XÝ« rµð Êu²Ý IÆœuý dðÅXŠ«— U¼ÅÊ¬ vÝ—dÐ Uð b�«ÅÁbý rO?

® ‰Ëbł∑©
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∏∞¥±±∏±≤π∑¥∏∑≥≥∞∞∏≤¥≥≥∏µµ

±π∂∂∏π±µ±∑∞∏∏∑±π±π≥∑µ∞∏π∑

≤≥πµ∞∂≤µµ∂πµ∂¥π≥π¥µ±≤±µ≥∂

b¹—«œ —UE²�« Ÿu� s¹« “« vWËbł —œ

± Uð bMÇ ‡‡±øbOMO³Ð 

≤— bMÇ ‡‡�øbOMO³Ð ÃË“ r

≥— bMÇ ‡‡� “« d²Ö—eÐ r∑øbOMO³Ð 

¥— bMÇ ‡‡� dÐ d¹cÄÅg6Ð r≥øbOMO³Ð 
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µ œ«bFð ‡‡ÅÅÅ±— œ«bFð ¨U¼�— œ«bFð ¨ÃË“ ÈU¼År� “« d²Ö—eÐ ÈU¼År∑— œ«bFð Ë �dÐ d¹cÄÅg6Ð ÈU¼År

≥u< ‰Ëbł —œ «— ‚øbM²?¼ p¹œe� b¹—«œ —UE²�« t� Èœ«bŽ« tÐ U¼Åv�«Ë«d< U¹¬ Æb¹—ULAÐ 

 s¹dLð≥ ∫ð p¹ “« «— s¹œ—Ëd< ÁU� tÐ ◊uÐd� ÈÅt×HE I ÈU¼œbŽ Ë bOM� «bł È—«u¹œ r¹u±Uð 

≥±œ Ë b¹d³Ð «— Ê¬ ÈU¼“Ë— tÐ ◊uÐd� �ÆbMýUÐ Á“«b�«År¼ ULý ÈU¼Å‘dÐ t� bOM� X

ö�U� Ë b¹e¹dÐ t³Fł p¹ ÊË—œ «— U¼ÅÊ¬ÎÆbO¼œ ÊUJð �«— s¹« ‰UL²Š« ¨»U6²�« “« q³

∫œbŽ Ê¬ t� bOÐUOÐ

 ©nW«               ±∑ªbýUÐ 

ªbýUÐ œd< œbŽ p¹ ©»               

— p¹ ©ÛÅÅÅÅ              �ÆbýUÐ vL

 s?¹dLð¥ ∫Æb?O?M?� X?ý«œœU?¹ «— Ê¬ ÈË— œb?Ž Ë bOAJÐ ÊËdOÐ t³Fł ÊË—œ “« «— vð—U� ÊuM�«

«œb−� «— t³Fł Ë bO�«œdÖdÐ t³Fł qš«œ tÐ «— Ê¬ fáÝÎÃ—Uš «— vð—U� Ë bO¼œ ÊUJð 

 «— g¹U�“¬ s¹« ÆbOM�≤∞ÆbOM� —«dJð —UÐ 

 s¹« sOÐ ©Å ÅÅÅÅÅÅÅ    ≤∞Ë bOÐUOÐ «— œ«bŽ« q� tÐ œd< œ«bŽ« X³?� ¨Ábý »U6²�« œbŽ 

� ©»® ‰«RÝ aÝUÄ UÐ «— t−O²�ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅIªbOM� t?¹U

 s¹« sOÐ ©ÅÀÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ≤∞— p¹ œ«bŽ« X³?� ¨Ábý »U6²�« œbŽ �t−O²� Ë bOÐUOÐ «— vL

� ©Û® ‰«RÝ  aÝUÄ UÐ «—     ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅIªbOM� t?¹U

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅË« ÁU?� g?ý “« vJ¹ —œ dÖ« © ÃÅÅÅÅÅÅÅÒv?J?¹ t?�Ås?¹« ‰U?L²Š« ¨bOýUÐ Áb�¬ UO�œ tÐ ‰UÝ ‰

Ç býUÐ ULý bWuð “Ë— ÊUL¼ ̈ t³Fł ÊË—œ “« Ábý »U6²�« œ«bŽ« “«       ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅIøXÝ« —b

ð ÈU¼œbŽ Êb¹dÐ Á“«b�«År¼ XOL¼« ©ıÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅIøX?OÇ —œ r¹u

µ‡‡ÅÅÅÅ≥ÈdE� ‰UL²Š« Ë È«Åt�uL� ÈUC� sOÐ ◊U³ð—« ‡‡

< tJÝ »UðdÄ g¹U�“¬ —œIÈUC< qOWœ sOL¼ tÐ ¨œ—«œ œułË åXAÄò Ë åË—ò vMF¹ t−O²� Ëœ j

ôu?L?F?� «— È«Åt?�u?L?� ÈUC< ÆXÝ« t²<U¹ qOJAð dBMŽ Ëœ “« UNMð ¨Ê¬ È«Åt�uL�Î X?�öŽ UÐ 
±SÊU?A�

tJÝ »UðdÄ g¹U�“¬ —œ s¹«dÐUMÐ ÆbM¼œÅv�

}Û,—S = {

±‡‡ Sample space



±≤∏

 ÈU?¼ÅÁ—U?L?ý t?Ð tJÝ Ëœ ¨tJÝ p¹ ÈUłÅtÐ bOM� ÷d� ‰UŠ± Ë ≤p?¹ e?O" s¹« ÆrOM� »UðdÄ r¼ UÐ «— 

 »U?ðd?Ä g¹U+“¬ UÐ g¹U+“¬ s¹« È«Åt"uL" ÈUC� ÆXÝ« v�œUBð g¹U+“¬p¹d?¼ ÆXÝ«  ËUH²+ tJÝ 

U?¹ åË—ò r?¹«ÅÁœd?� È—«c?ÖÅÁ—U?L?ý «— U?¼ t?JÝ ÊuÇ Æb¹UOÐ åXAÄò U¹ åË—ò U¹ b"«uðÅv+ tJÝ Ëœ “« Â«b�

œułË b+¬dÐ —UNÇ ̈ s¹«dÐUMÐ Æœ—«œ  ËUHð ÂËœ ÈÅtJÝ Êb+¬ åXAÄò U¹ åË—ò UÐ ‰Ë« ÈÅtJÝ Êb+¬ åXAÄò

åÅË—Åò ‰Ë« ÈÅtJÝ ̈ bM¹UOÐ åXAÄÅò Ëœ d¼ ÂËœ Ë ‰Ë« ÈÅtJÝ ̈ bM¹UOÐ åÅË—Åò Ëœ d¼ ÂËœ Ë ‰Ë« ÈÅtJÝ ∫œ—«œ

ÈU?C?� ¨V?O?ðd?ð s?¹« t?Ð Æb¹UOÐ åÅË—Åò ÂËœ ÈÅtJÝ Ë åÅXAÄÅò ‰Ë« ÈÅtJÝ ¨b¹UOÐ åÅXAÄÅò ÂËœ ÈÅtJÝ Ë

 ÊU+eL¼ »UðdÄ g¹U+“¬ È«Åt"uL"Ëœvð—U�œ »d{ÅqCUŠ ÊUL¼ tJÝ 
±

»UðdÄ g¹U+“¬ È«Åt"uL" ÈUC� 

∫œuýÅv+ ‘œuš —œ tJÝ p¹

}Å®Å©Û¨ÛÅÅ,Å®ÅÅ—,Û©Å, ®ÅÅÅÅÛ,—Å,©Å—®Å,—©ÅS = {

»U?I?Š «— n?K?²?L?+ ÈU?¼b?+U?AOÄ ÈdE" ÈU¼Å‰UL²Š« rO"«uðÅv+ ¨È«Åt"uL" ÈUC� “« ÁœUH²Ý« UÐ

 q+Uý È«Åt"uL" ÈUC� ÊuÇ ¨t"uL" È«dÐ ÆrOM�¥—® Êb+¬ ‰UL²Š« ¨XÝ« dBMŽ ,—© dÐ«dÐ 

  

1

4
∫XÝ« 

  

) =
1

4
—,—ÅP(

b+UAOÄ ‰UL²Š« vMF¹ ¨XAÄ p¹ Ë Ë— p¹ Êb+¬ ‰UL²Š« U¹

 }Å®—,Û,© Û®,—©ÅÅÅE = {

 UÐ dÐ«dÐ

  

2

4
=

1

2
ÆXÝ« 

“« XÝ«  —U³Ž ”Uð »UðdÄ g¹U+“¬ È«Åt"uL" ÈUC�

S = 1,2, 3,4,5,6. .
 “« d²Ö—eÐ œbŽ Êbý d¼Uþ b+UAOÄ ¨È«Åt"uL" ÈUC� s¹« “« ÁœUH²Ý« UÐ¥“« XÝ«  —U³Ž 

  
E = 5,6. .

 Ê¬ ÈdE" ‰UL²Š« t�

  

2

6
=

1

3
ÆXÝ« 

 @?"— t?Ð vJ¹ s~L¼ ”Uð Ëœ¨—UÐÅs¹«e³Ý @?"— tÐ Èd~¹œ Ë 	e
dÆr?OM�Åv+ »UðdÄ ÊU+eL¼ «— 

 œ«bŽ« Êbý d¼Uþ ÊUL¼ t� œ—«œ t−O²" gý ¨U¼Å”Uð “« p¹ d¼ »UðdÄ± ¨Å≤ ¨Å≥ ¨Å¥ ¨Åµ Ë ∂fÄ ÆXÝ« 

 ¨”U?ð Ëœ »UðdÄ≥∂v?ð—U?�œ »d?{Åq?CUŠ ¨g¹U+“¬ s¹« È«Åt"uL" ÈUC� vMF¹ ÆXý«œ b¼«uš b+¬dÐ 

± ÈÅtŽuL−+ Ëœ vð—U�œ »d{ qCUŠ ‡‡AË B ÈU¼ÅVðd+ ÈU¼ÅÃË“ ÈÅtL¼ ÈÅtŽuL−+ “« XÝ«  —U³Ž (x,y) t� x —œ A

 Ëy —œ BÆvMF¹ XÝ« 

A × B = {(x,y):x . A,y . B}



±≤π

 ”U?ð È«Åt?"uL" ÈUC� —œ e³Ý ”Uð È«Åt"uL" ÈUC�^® ‰Ëb?ł —œ ÆXÝ« e+d∏s?¹« ÈU¼b+¬dÐ ÈÅtL¼ ©

∫r¹«ÅÁœd� XÝdN� «— v�œUBð g¹U+“¬

e³Ý ”Uð                    ∂          µ          ¥         ≥          ≤          ±

®± , ∂©®± , µ©®± , ¥©®± , ≥©®± , ≤©®± , ±©±

®≤ , ∂©®≤ , µ©®≤ , ¥©®≤ , ≥©®≤ , ≤©®≤ , ±©≤

®≥ , ∂©®≥ , µ©®≥ , ¥©®≥ , ≥©®≥ , ≤©®≥ , ±©≥

®¥ , ∂©®¥ , µ©®¥ , ¥©®¥ , ≥©®¥ , ≤©®¥ , ±©¥

®µ , ∂©®µ , µ©®µ , ¥©®µ , ≥©®µ , ≤©®µ , ±©µ

®∂ , ∂©®∂ , µ©®∂ , ¥©®∂ , ≥©®∂ , ≤©®∂ , ±©∂

e
d	 ”Uð                  

® ‰Ëbł∏©

 —uCÅtÐ Ê«uðÅv+ «— ”Uð Ëœ »UðdÄ g¹U+“¬ È«Åt"uL" ÈUC�

  
  
y =1,2, 3,4,5,6. Ë 

  
S = (x,y. ) x =1,2, 3,4,5,6

ÈdE" ‰UL²Š« ¨s¹«dÐUMÐ ÆbM²I¼ f"Uý r¼ g¹U+“¬ s¹« ÈU¼b+¬dÐ ¨ U¼Å”Uð vM~L¼ qO_œ tÐ Æœ«œ g¹UL"

 b+¬dÐ d¼

  

1

36
ö¦+ ÆrOM� »UIŠ «— nK²L+ ÈU¼b+UAOÄ ÈU¼Å‰UL²Š« rO"«uðÅv+  UŽöÞ« s¹« UÐ ÆXÝ« Î

b+UAOÄ ‰UL²Š« vMF¹ ¨bMýUÐ ÊUIJ¹ ”Uð Ëœ ÈË— Ábý d¼Uþ œ«bŽ« t�Ås¹« ‰UL²Š«

  
E = (1,1),(2,2),(3, 3),(4,4),(5,5),(6,6). .

 UÐ dÐ«dÐ

  

6

36
=

1

6
ÆXÝ« 

 s¹dLðµ∫—« ÊUO+ “« œbŽ »UL²"« ^ ÂU∞ Uð π XO_UF� —œ «— ©v�œUBð ÈU¼œbŽ® ∂Æb¹—ËUOÐ œU¹ tÐ 

—« ÊU?O?+ “« ·œU?B?ð t?Ð œb?Ž Ëœ ¨œbŽ p¹ ÈUłÅtÐ bOM� ÷d� —UÐ s¹«^ ÂU∞ Uð π

ÆbOM� sOF+ «— Ê¬ dCUMŽ œ«bFð Ë g¹U+“¬ s¹« È«Åt"uL" ÈUC� ÆbýUÐ Ábý »UL²"«



±≥∞

µÅ‡‡ ¥qLJ� ÈU¼b�UAOÄ ‡‡

 XO4UF�µ ‡‡ ∑

± ̈ ULý bOK� t²Ýœ bOM� ÷d< ‡‡ ∏—œ ’uB6� U¼ÅÊ¬ “« vJ¹ t� œ—«œ bOK� vJ¹ Ë ‰eM� vKE« 

KF²� d~¹œo—œ tÐ Uð« ‚·œUBð tÐ «— U¼bOK� “« vJ¹ ¨—œ Êœd� “UÐ È«dÐ Ë bOÝ—Åv� ‰eM� tÐ Vý ÆXÝ« 

ÆbOM�Åv� »U6²�«

Ç bOM�“UÐ «— ‰eM� —œ vÐU6²�« bOK� UÐ bO�«u²Ð tJM¹« ‰UL²Š« ©nW«IøXÝ« —b

—œ Ê¬ UÐ bO�«u²� tJM¹« ‰UL²Š« ©»ÅÅtÇ bOM� “UÐ «— ‰eM� �øXÝ« —b

≤—œ bOK� “« d²JÇu� vKOš U¼ÅÊ¬ “« vJ¹ t� b¹uý tłu²� ¨U¼bOK� Êœd� fLW UÐ dÖ« ‡‡Ë vKE« 

Uð«‚U?Ð ÈU?¼bOK� “« vJ¹ UÐ Ë b¹—«cÖÅv� —UM� «— Ê¬ Ë—Ås¹« “« ¨XÝ« �—œ Áb?�ULOË bOM�Åv� “UÐ «— ‰eM� 

—œ Êœd� “UÐ È«dÐ fáÝ Æb¹uýÅv� œ—«ËUð« ‚ÆbOM¹eÖÅv�dÐ ·œUBð tÐ «— U¼ÅÊ¬ “« vJ¹ ¨

—œ bOK� s¹« tJM¹« ‰UL²Š« ©nW«Uð« ‚Ç bM� “UÐ «— IøXÝ« —b

—œ bOK� s¹« tJM¹« ‰UL²Š« ©»Uð« ‚Ç bMJ� “UÐ «— IøXÝ« —b

≥� “«  ‡‡I aÝUÄ ÈÅt?¹U� ÈU¼Å‰«RÝ » Ë nW« ÈU¼ÅXL?± Ë ≤øb¹—Ë¬Åv� XÝœÅtÐ È«Åt−O²� tÇ 

dE� œ—u� eO� b�UAOÄ Êœ«b� Œ— ‰UL²Š« ¨U¼ÅÊ¬ ÈU¼Å‰UL²Š« Ë U¼b�UAOÄ vÝ—dÐ ÂU~M¼ —œ ¨v¼UÖ

 d?Ö« ÆXÝ«E Êœ«b?� Œ— b?�U?A?O?Ä ¨b?ýU?Ð b?�UAOÄ p¹ E UÐ «— &E «— Ê¬ Ë r?O?¼œÅv?� ÊUA� q?L?J� E

 ÆrO�U�Åv�&E qLJ� E È«Åt�uL� ÈUC< tÐ X³?� SvMF¹ ¨XÝ« 

&E = S − E

 X?OWUF< ÂU−�« UÐ b¹Uýµ‡?‡ ∑œu?łË Ê¬ q?L?J� Ë b�UAOÄ p¹ ÈU¼Å‰UL²Š« sOÐ t� È«ÅtDÐ«— tÐ ¨

—U?Ð ¨b?¹«ÅÁœ«œ ÂU?−?�« t?²ýcÖ ÈU¼ÅXOWUF< —œ t� v¹U¼Åg¹U�“¬ Z¹U²� vÝ—dÐ UÐ ‰UŠ ÆbOýUÐ ÁœdÐ vÄ œ—«œ

ÆbOM� vÝ—dÐ «— tDÐ«— s¹« d~¹œ

P( &E )&EP(E)Eg¹U�“¬

  

1

2
b¹UO� Ë—  

  

1

2
b¹UOÐ Ë—tJÝ »UðdÄ

  

5

8
b²?¹U� vÐ¬ ÈË—

  

3

8
b²?¹UÐ vÐ¬ ÈË—tÐdIŽ t×HE

  

5

6
b¹UO� —UNÇ

  

1

6
b¹UOÐ —UNÇ”Uð »UðdÄ

  

4

6
 ÈËU?�ÅÅÅU¹ÅÅd²JÇu�  4

  

2

6
 “« d²Ö—eÐ  4”Uð »UðdÄ

® ‰Ëbłπ©



±≥±

 ¨d¹“ ÈU¼b�UAOÄ “« p¹ d¼ —œE ‰UL²Š« Ë bO¹UL� tEŠö� «— ¨EvMF¹ Ê¬ qLJ� ‰UL²Š« UÐ «— 

&E� ¨It� bOMOÐÅv� ÆbOM� t?¹U

  

1

2
+ 1

2
=1 ¨

  

3

8
+ 5

8
=1 ¨

  

1

6
+ 5

6
=1 Ë 

  

2

6
+ 4

6
=1

 dÐ«dÐ Á—«uL¼ ‰UL²Š« Ëœ s¹« ŸuL−� vMF¹ ± b�UAOÄ È«dÐ ¨s¹«dÐUMÐ ÆXÝ« E Ê¬ qLJ� Ë &EtAOL¼ 

  P(E) + P( &E ) =1

 ‰U¦�≤∫  —œ t?� b?¼œÅv� ÊUA� vÝUMý«u¼ ÁU~²?¹« p¹ ÈU¼Å‘—«eÖ t� bOM� ÷d< ±≤∞¨“Ë— 

∏πXÝ—œ ÁU~²?¹« s¹« ÈbFÐ vMOÐÅgOÄ t�Ås¹« ‰UL²Š« ÆXÝ« ÁœuÐ XÝ—œ «u¼ l{Ë ÈU¼ÅvMOÐÅgOÄ —UÐ 

Ç ¨býU³�IøXÝ« —b

∫qŠ UÐ «— býUÐ XÝ—œ vMOÐÅgOÄ t�Ås¹« b�UAOÄ dÖ« CbýU³� XÝ—œ vMOÐÅgOÄ t�Ås¹« b�UAOÄ  Ë 

 UÐ «—&C ¨rO¼œ ÊUA�

ÐU????D????� ÁU????~???�¬o??? ¨Áb????�¬ X????ÝœÅt????Ð ÈU???¼ÅÁœ«œ P(C) = 89

120

 Êu????Ç Æ
  P(C) + P( &C ) =1f???Ä ¨

89

120
+ P( &C ) =1t−O²� —œ Ë ¨

 P( &C ) =1− 89

120
= 120− 89

120
= 31

120

Ãd6� dÐ«dÐ U¼ÅÊ¬ ÈU¼Å —uE lLł Ë XÝ« dÐ«dÐ U¼ÅÊ¬ Ãd6� t� œ—«œ œułË d?� Ëœ ¨œ—u� Ëœ d¼ —œ

∫œuýÅv�

  1+1= 2            Ë         

  

1

2
+ 1

2
=1

  3 + 5 = 8           Ë         

  

3

8
+ 5

8
=1

  89 + 31=120      Ë         

89

120
+ 31

120
=1

 s?¹dLð∂ ∫Ž t?×?HE g¹U�“¬ —œ I?Ž ÊœU?²???¹« ‰UL²Š« ¨tÐdI? @?�— œ—“ ÈÅt?OŠU� ÈË— tÐd

  

2

8

Ž t�Ås¹« ‰UL²Š« ÆXÝ«IÇ b²?¹U� @�— œ—“ ÈÅtOŠU� ÈË— tÐdIøXÝ« —b



±≥≤

 qŠ ¨qLJ� b�UAOÄ ‰UL²Š« VWUł ÈU¼œdÐ—U� “« vJ¹b?4uð “Ë— ÈÅt4Q?�—œ f� d¼ ÆXÝ« 

 “« v?J¹≥∂µ t?� «— t???O?³� ÈU¼Å‰UÝ® ‰UÝ “Ë— ≥∂∂Æb?¹¬Åv?� U?O?�œ t?Ð ©r?¹dOÖÅvL� dE� —œ b�—«œ “Ë— 

 ÊU?O� “« t� s¹« ‰UL²Š« rO¼«ušÅv�µ«ô dH� �Ær?O?ÐUOÐ «— bMýUÐ Ábý bWu²� ‰UÝ “Ë— p¹ —œ dH� Ëœ q

 ¨s¹«dÐUMÐErO²?¼ Ê¬ ‰UL²Š« Èu−²?ł —œ t� XÝ« Èb�UAOÄ 

«ô� “« dH� Ëœ qµ ∫bM¹UOÐ UO�œ tÐ ‰UÝ “Ë— p¹ —œ dH� E

 ÈÅt³ÝU×� ÈUłÅtÐP(E) ¨P( &E ) “« Ê¬ Êœd?� r� UÐ ÁU~�¬ Ë rOM�Åv� t³ÝU×� «— ± ¨P(E)XÝœÅtÐ «— 

∫r¹—Ë¬Åv�

∫býUÐ  ËUH²� r¼ UÐ dH� ZMÄ d¼ bWuð ÈU¼“Ë—&E

 s¹« “« Â«b� d¼ ÊuÇµ “« p¹ d¼ —œ bM�«uðÅv� dH� ≥∂µÈ«Åt�uL� ÈUC< ¨bMýUÐ Áb�¬ UO�œ tÐ ‰UÝ “Ë— 

Wuð tÐ ◊uÐd�Ò ¨dH� d¼ b≥∂µ³Þ t−O²� —œ Æœ—«œ uCŽ oÈUC< ¨©»d{ÅqE«® ‘—ULý vÝUÝ« qE« 

 t?Ð ◊u?Ðd� È«Åt�uL�µ¨d?H�   365 × 365 × 365 × 365 × 365 t?Eö?š —uÞ tÐ U¹ Ë   365
5

u?CŽ  

Åd?EUMŽ œ«bFð Êœd� «bOÄ È«dÐ Æœ—«œ&E “« p?¹ d¼ —œ ‰Ë« dH� t� rO�«œÅv� ¨≥∂µb?�«uðÅv� ‰UÝ “Ë— 

 —œ ÂËœ dH� ¨býUÐ  ËUH²� ‰Ë« dH� UÐ ÂËœ dH� bWuð “Ë— b¹UÐ ÊuÇ ÆbýUÐ Ábý bWu²�≥∂¥UÐ “Ë— �Áb�ULO

 dH� Ëœ bWuð ÈU¼“Ë— UÐ  ËUH²� b¹UÐ ÂuÝ dH� bWuð “Ë— ÊuÇ Æb¹¬Åv� UO�œ tÐ� —œ ÂuÝ dH� ̈ býUÐ vK³≥∂≥

UÐ “Ë—� —œ Â—UNÇ dH� VOðdð sOL¼ tÐ Æb�¬ b¼«uš UO�œ tÐ Áb�ULO≥∂≤ —œ dš¬ dH� Ë d~¹œ “Ë— ≥∂±“Ë— 

³Þ ÆÈbFÐo‘—ULý vÝUÝ« qE« 

  = 365 × 364× 363 × 362× 361 ÈUCŽ« œ«bFð &E

Ë

  

P( &E ) =
365 × 364× 363 × 362× 361

(365)5

t−O²� —œ

P(E) =1− P( &E ) =1−
365 × 364× 363 × 362× 361

(365)5

 s¹dLð∑∫öŽ œ—u� ‘“—Ë ÈÅÁ—UÐ—œ œuš ÊU²ÝËœ “« vKŽ �bE—œ  Ë œd� v¼«ušdE� ÊU�¬ ÈÅt

ö?Ž v?M?O?F?� ‘“—Ë t?Ð t?� «— g?�U²ÝËœ œ«bFð� —u?EÅt?Ð v?WËb?ł —œ b?�œu?Ð bM�Åt

∫œd� Xý«œœU¹ bFÐÅÈÅt×HE

¨bÝdáÐ Ë« “« «— ‰«RÝ sOL¼ Ë bM� œ—ušdÐ g�U²ÝËœ “« d~¹œ vJ¹ UÐ vKŽ dÖ«

öŽ œ—u� ‘“—Ë t�Ås¹« ‰UL²Š« �Ë« ÈÅt



±≥≥

±ÅtÇ býUÐ ‰U³²J?Ð ‡‡ �øXÝ« —b

≤ ‰U³ðu< ‡‡ býU³�ÅtÇ �øXÝ« —b

≥ÅtÇ býUÐ fOMð ‡‡ �øXÝ« —b

¥ fOMð ‡‡ býU³�ÅtÇ �øXÝ« —b

µ ‡‡ µV"d� ÈU¼b�UAOÄ ‡‡ 

g¹U�“¬ —œ b�¬dÐ d¼ ¨‰U¦� È«dÐ ÆœuýÅv� qOJAð ÁœUÝ b�UAOÄ bMÇ U¹ Ëœ “« b�UAOÄ p¹ v¼UÖ

nK²6� ÈÅtJÝ Ëœ ÈU¼b�¬dÐ “« t� vð—uE—œ ¨rO²<dÖ dE�—œ b�UAOÄ p¹ Ê«uMŽ tÐ «— tJÝ Ëœ »UðdÄ

 ¨U¼b�UAOÄ t�uÖÅs¹« ÆœuÐ t²<U¹ qOJAðV"d� ÈU¼b�UAOÄÆb�uýÅv� ÁbO�U� 

¨býUÐ Ábý qOJAð nK²6� g¹U�“¬ bMÇ U¹ Ëœ ÈU¼b�¬dÐ “« t% Èb�UAOÄV�d
 b
UAOÄ 

ÆœuýÅv� ÁbO�U�

‘“—Ëb-—œ

‰U³ðu<≥∂
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